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1 -REM X
r4
2
z IDENTIFICATION
7
g PRODUCT CODE: AC-8218B-M(C
}? PRODUCT NAME: (VKAJBO DIS DECMAL INSTR TST
}% PRODUCT DATE: JANUARY 1982
}g MAINTAINER: DJAGNOSTIC ENGINESRING
16
17
18
19
20
21
22
%
25 COPYRIGHT (C) 1977, 1982 BY
26 DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS
gg ALL RIGHTS RESERVED
29 THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY
30 8E USED AND COPIED ONLY IN ACCORDANCE WITH THE TERMS
31 OF SUCH LICENSE AND WITH THE INCLUSION OF THE ABOVE
32 COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER COPIES
33 THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAIL-
34 ABLE TO ANY OTHER PERSON. NO TITLE TO AND OWNERSHIP
gg OF THE SOFTWARE 1S HEREBY TRANSFERRED.
37 THE INFORMATION IN TMIS SOFTWARE IS SUBJECT TO CHANGE
38 WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED AS A COM-
28 MITTMENT BY DIGITAL EQUIPMENT CORPORATION.
41 DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR
42 RELIABILITY OF ITS SOFTWARE ON EQUIPMENT THAT IS
23 NOT SUPPLIED BY DIGITAL.
'A
22 THE FOLLOWING ARE TRADEMARKS OF DIGITAL EQUIPMENT CORPORATION:
47 DEC PDP UNIBUS MASSBUS
23 DECUS DECTAPE VAX
50
51 LN SRS SN ANRE ARDE SNEE SRS
52 tp!r1t!'e!I!'T ALY
53 S S S S SN S
54 - pae
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3t
gg 1.0 GENERAL INFORMATION
60
61
g% 1.1 ABSTRACT
64 THIS DIAGNOSTIC VERIFIES THE OPERATION OF THE DIBOL DECIMAL
65 INSTRUCTIONS OF THE LSI-11 [ADDN,SUBN, CMPN,CVTNL].
66 THE PROGRAM CHECKS THAT EACH INSTRUCTION IS INTERRUPTABLE
67 USING THE CONSOLE SLU INTERFACE(SEE PARA 2.3.4) AND RUNS ALTERNATE
- 68 PASSES WITH THE TRACE TRAP_ENABLED, UNLESS INHIBITED
69 BY THE SWITCH REGISTER (2.3.1).
70 THE PROGRAM IS DESIGNED TS RUN ON AN LSI=11 WITH 4K OF MEMORY AND
n THE DIS MICROMS. IT CAN BE RUN UNDER XXDP+¢, APT, AND ACT MONITORS.
;% THE SOFTWARE SWITCH REGISTER IS AT LOCATION 176.
74 TO FULLY TEST THE LSI-11 DIBOL INSTRUCTION SET MICROMS, THE
;2 FOLLOWING DIAGNOSTICS MUST BE RUN:
77 CVKAI* DIS MOVE & STRING INSTRUCTION TEST
78 CVKAJ* [THIS DJAGNOSTIC)
gg CVKAB* LSI-11 EIS INSTRUCTION TEST
g} WHERE '‘'¢'* IS THE LASTED REVISION
83
84
gg 1.2 SYSTEM REQUIREMENTS
87
88
38 1.2.1  EQUIPMENT
9N LSI=11(kD11=-P) WITH A SERIAL LINE INTERFACE AND
92 4K OF MEMORY
93
9
gg 1.2.2  STORAGE
gg THE PROGRAM USES MEMORY FROM 0000C0 TO 017104.

1.2.3  PRELIMINARY PROGRAMS

LSI-11 BASIC CPU TEST CVKAA®
LSI-11 TRAPS TEST CVKAD+

WHERE ''+'' IS THE LASTED REVISION

b b cud cnd b cnd b ) b
RIXSRIN28Y
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2

2.0 OPERATING INSTRUCTIONS

2.1 LOADING PROCEDURES

CAN BE LOADED UNDER XXDP+ OR
USE STANDARD PROCEDURE FOR PDP=11 ABSOLUTE BINARY FORMATTED TAPES

2.2 STARTING PROCEDURE

[OAD THE SWITCH REGISTER WITH THE DESIRED SETTING
(SOFTWARE SWITCH REGISTER LOCATION = 176)

THE PROGRAM SHOULD ALWAYS BE STARTED AT 200.

STARTING AT 200, THE PROGRAM CLEARS ALL PROGRAM PARAMETERS AND
THEN PRINTS ITS MAINDFC IDENTIFICATION, ‘END PASS'' IS PRINTED
AT THE END OF EACH FULL PASS OF THE DIAGNOSTIC.

WAL LA NI D NI RO PO PONINI A b e cand ed b cmd o ocd b b
WA = O O 00 ~NOMN NN =2 OO 00 NN NS AN = O

2.3 OPERATING PROCEDURES

—d amd and b cnd ad e amd e b b and bl b el el ) e b D wd b i = o

2.3.1 OPERATICNAL SWITCH REGISTER

3%

137 LOCATION 176 1S USED FOR THE SOFTWARE SWITCH REGISTER AND
138 THE FOLLOWING OPTIONS MAY BE SELECTED BY INSERTING A 1 IN THEIR
13 RESPECTIVE BIT POSITIONS.

141 BIT1S - HALT ON ERROR

142 BIT14 _ SCOPE LOOP

143 BIT13 S INHIBIT ERROR TYPEOUT

144 BIT12 - INHIBIT TRACE TRAP

145 BITH - UNUSED

146 BIT10 ~ UNUSED

147 BIT09 - LOOP ON ERROR

148 BITO8 - LOOP ON TEST IN SWR<05:00>

149 BIT07 - INHIBIT INTERRUPTABILITY TESTS

151

152

153

NOTE: Q%EHTYPEOUTS CAN BE SUPPRESSED BY MAKING B.T5 OF BYTE SENVM
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2.3.2

2.3.3

2.3.4

RUNNING UNDER APT

;HE APT MAILBOX-ETABLE IS LOCATED AT LOCATION 566.

USING THE CONSOLE INTERFACE AS THE INTERRUPTING DEVICE,

THE INTERRUPTABILTIY TESTS WILL BE RUN ON ONLY THE FIRST PASS TO

AVOID INTERFERENCE WITH THE APT INTERFACE. IF INTERRUPTABILITY

TESTS ARE DESIRED ON ALL PASSES, ANOTHER SLU MUST BE SUPPLIED

AND ITS RECEIVER STATUS REGISTER ADDRESS & ITS INTERRUPT VECTOR MUST

BE PLACED IN THE APT E-TABLE AT LOCATIONS '‘$BASE'' € 'SVECTT'* RESPECTIVELY.

RUN WITH ALTERNATE CONSOLE ADDPESS

TO USE A CONSOLE ADDRESS OTHER THAN 177560, THE OPERATOR
MUST SUPPLY THE PROGRAM WITH THE CORRECT ADDRESSES BY INSERTING THEM
AT THE LOCATIONS LABELED:

$TKS:  RCSR ADDRESS
$TKB:  RBUF ADDRESS
$TPS:  TCSR ADDRESS
$TPB:  TBUF ADDRESS

RUN INTERRUPT TESTS WITH ALTERNATE SLU

TO USE A SERIAL LINE INTERFACE ADDRESS OTHER THAN THE STANDARD
CONSOLE ADDRESS (177560), THE OPERATOR MUST SUPPLY THE CORRECT ADDRESS
AND INTERRUPT VECTOR BY INSERTING THEM IN THE LOCATIONS LABELED:

$BASE: *RCSR ADDRESS*
$VECT1: «RECEIVER INTERRUPT VECTOR®

SEQ 0004
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188
189
}3? 2.4 EXECUTION TIMES
192 THE GIVEN EXECUTION TIMES TAKE INTO ACCOUNT THE RANDOM CHARACTERISTIC
193 OF THE INTERRUPT TESTS. THE EXECUTION TIME OF THE FIRST PASS IS APPROXIMATELY
194 10 SECONDS; BUT SgBSEOUENT PASSES WITH INTERRUPT TESTS ENABLED COULD
195 TAKE AS LONG AS 32 SECONDS. THEREFORE THE 32 SECOND EXECUTION TIME IS USED.
}g? THE PASS TIME WITHOUT INTERRUPTS 1S APPROXIMATELY 2 SECONDS.
198
199
200
%8} 3.0 ERROR REPORTING
203 1F A ROUTINE FAILS AND THE INMIBIT ERROR TYPEOUT (BIT13) OF THE SWR
204 1S NOT SET, THE PC OF THE ERROR IS PRINTED. THE OPERATOR CAN FIND
205 THE ERROR REPORT IN THE COMMENT FIELD OF THAT PC LOCATION IN
206 THE PROGRAM LISTING. IF HALT ON ERROR (BIT15) OF THE SWR IS SET
207 : THE PROGRAM WILL HALT AFTER PRINTING THE ERROR PC AND ENTER THE
%83 MACHINE ODT.
210 E.G. XXXXXX <=-=PC OF THE ERROR
XXXXXX <=-=P(+2 OF THE HALT ON ERKOR LOCATION
) <~=0DT ENTERED

WHERE "“XXXXXX'® IS AN OCTAL VALUE

ASIAST N1 ST ST, G, N 1,8
= b e b md e =D b
NN SN —
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219
220
%%5 4.0 SUB{OUTINE ABSTRACTS
223
224
225
%39 6.1 TRAPCATCHER
228 A "'.+2 = HALT'® SEQUENCE IS REPEATED FROM 0-776 TO CATCH ALL UNEXPECTED
229 TRAPS. THUS ALL UNEXPECTED TRAPS OR INTERRUPTS WILL HALT
230 AT THE VECTOR+2, EXCEPT TRAPS TO LOCATION 0,4, & 10 WHICH GO TO
231 THEIR RESPECTIVE REPORTING ROUTINES ‘‘TZERO''.'TIMTRP'’, & 'ILLTRP'.
232 THE OTHER EXCEPTION IS LOCATION 100 (RTC INTERRUPT VECTOR)
532 WHICH CONTAINS A ‘‘.+2 = RTI*' SEQUENCE (RETURNS FROM THE INTERRUPT).
235
%gg 6.2 SCOPE
238 THIS ROUTINE CALL 1S PLACED BETWEEN EACH SUBTEST. IT RECORDS THE
239 STARTING ADDRESS OF EACH SUBTEST AS IT IS BEING ENTERED £ UPDATES
240 THE TEST NUMBER. IF A SCOPE LOOP IS REQUESTED IT WILL JuMP
525 TO THE START OF THE SUBTEST AT WHICH THE SCOPE LOOP I35 REQUESTED.
243
ggg 4.3 ERROR
eio THIS ROUTINE CALL IS PLACED WHEREEVER AN ERROR REPORT IS DESIRED. THE
247 LOWER BYTE OF THIS CALL IS USED AS THE ERROR NUMBER. THIS ROUTINE
248 REPORTS ERRORS TO APT USING ‘SAPTYPE'', TYPES ERRORS TO THE CONSOLE USING THE
%gg "STYPE'' & "'$TYPOCT'' ROUTINES, AND HANDLES ERROR RESPONSES VIA SWR SETTINGS.
251
Sgg 4.4 $POWER
254 THIS ROUTINE SAVES ALL GENERAL REGISTERS DURING POWER=DOWN AND
255 RESTORES THEM AT POWER-UP. 1 A POWER FAILURE OCCURS ‘POMER'' IS
256 PRINTED AT THE CONSOLE AFTER FUWER IS RESTORED AND THE PROGRAM
ggg 1S RESTARTED AT TEST# 1.
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4.5

4.6

4.7

4.5

THIS ROUTINE IS USED TO STORE A COPY OF THE INSTRUCTION TEST
ARGUMENTS TO BE STORED IN RO==>R5.

GENR

THIS ROUTINE IS USED TO TRANSFER INSTRUCTION TEST ARGUMENTS

TO THE GENERAL REGISTERS AND TO COPY THE STACK POINTER BEFORE THE
TEST INSTRUCTION EXECUTION.

XPSW
THIS ROUTINE IS USED TO STORED THE EXPECTED PSW OF THE INSTRUCTION
¥527732257?Ri§r THE T-BIT IN THE EXPECTED PSW ON PASSES USING

INTR

THIS ROUTINE IS USED TO DETECT WHEN THE TEST INSTRUCTION HAS
BEEN INTERRUPTED AND TO CONTINUE THE INTERRUPT STREAM UNTIL THE
INSTRUCTION 1S INTERRUPTED.

SE@ 0007




LMAIN. MACY11_30(1046)
22-JAN-82

CVKAJB.P11

3

W NN
b b b b b b b
0O ~NONN S WY

319

22-JAN-82 08:50 PAGE
08:49

5.0

5.1

5.2

503

5.4

5.5

X

+ENABLE
LIST
«NLIST

9

MISCELLANEOUS

STACK POINTER

STACK POINTER 1S INITTALLY SET TO 500 (OCTAL).

PASS COUNT

A 16 BIT LOCATION ‘‘SPASS'' IS USED TO KEEP THE PASS COUNT. IT IS
CLEARED BY STARTING AT 200.

TEST NUMBER
A 16 BIT LOCATION '‘STSTNM'' IS USED TO KEEP TSACK OF THE SUBTEST

NUMBER. THIS NUMBER IS ALSO PLACED IN THE APT E~TABLE AT “'STESTN'
WHEN UNDER APT.

POWER FAIL

THE DIAGNOSTIC CAN BE POWER FAILED WITH NO ERRORS. AFTER POWERING
DOWN AND THEN UP AGAIN, THE PROGRAM WILL RESTAR FROM TEST# 1

(1.E., RESTARTS THE PASS THAT WAS INTERRUPTED) AFTER TYPING °'POWER''
70 THE CONSOLE. HOWEVER IF THE PROGRAM IS STORED IN MOS MEMORY
THAT CAN NOT HOLD DATA WITH POWER DOWN, THEN THE PROGRAM WILL NOT
RECOVER FROM A POWER FAIL.

EVENT INTERRUPTS

THIS DIAGNOSTIC CAN BE RUN WITH THE REAL TIME CLOCK ACTIVE
(INTERRUPT = 100). LOCATION 100 POINTS TO LOCATION 102

WHICH CONTAINS AN ‘RTI'* INSTRUCTION. THUS ON CLOCK INTERRUPTS,
AN RT] IS EXECUTED TO HANDLED IT.

ABS
ME
MC.MD,CND

~ -
N
.

SEQ 0008
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344
345
346
347
348
349
350
351
352
353
354
355
356
357
358
359
360
361
362
363
364
365
366
ggg .SBTTL BASIC DEFINITIONS
369 :*INITIAL ADDRESS OF THE STACK POINTER #xx 1100 nx«
370 001100 STACK= 1100
3" .EQUIV EMT,ERROR s;BASIC DEFINITION OF ERROR CALL
g;% .EQUIV 10T,SCOPC ::BASIC DEFINITION OF SCOPE CALL
374 ;*MISCELLANEOUS DEFINITIONS
375 000011 HT= 1 ::CODE FOR HORIZONTAL TA8B
376 000012 LF= 12 2:CODE FOR LINE FEED
377 000015 CR= 15 :;CODE FOR CARRIAGE RETURN
378 009200 CRLF= 200 :;CODE _FOR CARRIAGE RETURN-LINE FEED
379 177776 PS= 177776 ; sPROCESSOR STATUS WORD
380 LEQUIV PS, PSW
381 177774 STKLMT= 177774 ssSTACK LIMIT REGISTER
382 177772 PIRQ= 177772 + :PROGRAM INTERRUPT REQUEST REGISTER
383 177570 DSWR= 177570 s sHARDWARE SWITCH REGISTER
ggg 177570 DDISP= 177570 : sHARDWARE DISPLAY REGISTER
386 : *GENERAL PURPOSE REGISTER DEFINITIONS
387 000000 RO= 20 s ;GENERAL REGISTER
388 000001 R1= X1 s ;GENERAL REGISTER
389 000002 R2= 44 s ;GENERAL REGISTER
390 000003 R3= 13 s ;GENERAL REGISTER
39 000004 Ré4= 4 s sGENERAL REGISTER
392 000005 R5= 25 s sGENERAL REGISTER
393 000006 R6= 26 s ;GENERAL REGISTER
394 000007 R7= X7 : SGENERAL REGISTER
395 000006 SP= 26 ;s STACK POINTER
ggg 000007 PC= X7 : ;PROGRAM COUNTER
398 ;*PRIORITY LEVEL DEFINITIONS
399 000000 PRO= 0 ::PRIORITY LEVEL 0
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BASIC DEFINITIONS
PR1= 40 :sPRIORITY LEVEL
PR2= 100 s:PRIORITY LEVEL
PR3= 140 :sPRIORITY LEVEL
PR4= 200 :;PRIORITY LEVEL
PRS= 240 ::PRIORITY LEVEL
PR6= 300 ::PRIORITY LEVEL
PR7= 340 :sPRIORITY LEVEL
s*''SWITCH REGISTER'' SWITCH DEFINITIONS
Swi5= 100000
SWi4= 40000

i swi3= 20000

swi12= 10000
sWil= 4000
SWw10= 2000
sw09= 1000
swo8= 400
swo7= 200
SWwoé= 100
SWwo5= 40
SWo4= 20
sSwo3= 10
SWo2= 4
SWo1= 2
SWoo= 1
.EQUIV SW09,SW9
.EQUIV SW08,Sw8
.EQUIV SW07,SW
.EQUIV SW06,SW6
.EQUIV SWO5,SWS
LEQUIV SW04,SWé
.EQUIV SW03,SW3
.EQUIV SW02,SW2
.EQUIV SWO1,Swi
.EQUIV  SW00,SW0
:*DATA BIT DEFINITIONS (BITOO TO BIT15)
8IT15= 100000
BIT14= 40000
8IT13= 20000
BIT12: 10000
BIT11= 4000
6IT10= 2000
81709= 1000
BIT08= 400
B1707= 200
BIT06= 100
BIT05= 40
BITO4= 20
BITO3= 10
BIT02= 4
BIT01= 2
8I1100= 1
.EQUIV BI709.,8I1T9
.EQUIV BIT08,8IT8
.EQUIV BITO7,BIT7

NOVASANN) —

SEQ 0010
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000014

000000
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000000

000000
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000000
000000
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08:49 BASIC DEFINITIONS

.EQUIV BIT06,BIT6
.EQUIV BIT05,BITS5
.EQUIV BIT04.BITé
.EQuUlv BIT03,BIT3
.EQUIV BIT02,BIT2
.EQUIvV BIT01.8IT1
.EQUIV BIT00,BITO

;*BASIC ''CPU'’ TRAP VECTOR ADDRESSES

ERRVEC= &

tunnnen

TPVEC= 64

APTSPOOL=

APTCSUP=

$SWR= 171400
$SWRMK= 300
18IT= 20
$TN= 1

N= 1

X= $TN-=-1
NXM= 127777
ABASE= 177560
AVSCT1= 60

.SBTTL TRAP CATCHER
.=0

::TIME OUT AND OTHER ERRORS
::ﬂ%ﬁfgggb AND ILLEGAL INSTRUCTIONS
;s TRACE TRAP

: :BREAKPOINT TRAP (BPT)

: s INPUT/0UTPUT TRAP (I0T) =«SCOPE«w
;:POWER FAIL

: sEMULATOR TRAP (EMT) ==ERROR%*
::'TRAP'® TRAP

::TTY KEYBOARD VECTOR

::TTY PRINTER VECTOR

ébSROGRA" INTERRUPT REQUEST VECTOR

100
040

;*ALL UNUSED LOCATIONS FROM 4 = 776 CONTAIN A ‘''.+2 HALT"'
s*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
:*LOCATION,Q‘CGNTAINS 0 TO CATCH IMPROPERLY LOADcD VECTORS

DISPREG:  .WORL 0
SWREG:  .WORD 0

.=o

. TZERO
340
TIMTRP
340
ILLTRP

::SOFTWARE DISPLAY REGISTER
;s SOFTWARE SWITCH REGISTER

;SET LOCATIONS 0,4,6 TO ERROR REPORTS

SEQ 0011
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000340

000100
000102
000002

000200
00r 167

000400

000400
000046
014604
000052
000000
000400

000400
000024
000200
000044
000400
000400

000000
000566
000030
000040
000000
000027
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TRAP CATCHER SEQ 0012
- 340
.=100
'WORD 102 ;HANDLE EVENT LINE INTERRUPTS
WORD 2
=200
000512 JWP START ;STARTING LOCATION FOR PROGRAM
.=400
.SBTTL ACT11 HOOKS
iittttﬁtttt*t*ttt'**t*'tt*ttittt.ttitttﬁtttht*t**tltitttttt'ttt
:HOOKS REQUIRED BY ACT11
$SVPC=. :SAVE PC
iEgng ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
WORD 0 ;:2)SET LOC.52 TO ZERO
.=$SVPC s RESTORE PC
.SBTTL APT PARAMETER BLOCK
ttii*ﬁ.i'*tt.t*t*ﬁt.ﬁ*fi***.'i*tﬁ*t'ﬁt*'ﬁtttﬁii*t**ﬁiﬁttiitttiﬁ
ser LOCATIONS 24 AND 44 AS REQUIRED FOR APT
tttt*itttﬁttﬁtiit.t'i*t..*"ﬁ‘tﬁ'tﬁtt**tﬁ***ﬁi*ttﬁt'*i*tttt**t*
.$X=.  ;:SAVE CURRENT LOCATION
2224~ ::SET POWER FAIL TO POINT TO START OF PROGRAM
200 ..roq AFT_START UP
.=44 _ ::POINT TO APT INDIRECT ADDRESS PNTR.
SAPTHDR ::POINT TO APT HEADER BLOCK
.=.8X  ::RESET LOCATION COUNTER
;;ttttttttttﬁttﬁliﬁtﬁﬁ"f*"ﬁl**ii.tilﬁ.l**fiiittiti*titttitﬂttii
:SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
S INTERFACE SPEC.
$SAPTHD:
SHIBTS: .WORD 0 ;:TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
SMBADR: .WORD $MAIL  ::ADDRESS OF APT MAILBOX (BITS 0-15)
S$TSTM: .WORD 30 ;3RUN TIM OF LONGEST TEST
SPASTM: .WORD 40 *'RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
SUNITM: .WORD “ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UMIT
.WORD ssrsuo-sﬁAIL/z ;;LENGTH MAIL.S0X~E TABLE (WORDS)
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?2? .SBTTL COMMON TAGS
562 tttittt'ti"tt't.Q'ti"'it'ﬁ'tﬁi'ttti.ttt*i*.*tti*'tﬁtlittttiil
563 “%THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
§2§ t«USED IN THE PROGRAM.
566 000500 .=500
567 000500 SCMTAG: ;:START OF COMMON TAGS
568 000500 000000 WORD O
569 000502 000 $TSTNM: .BYTE 0 :sCONTAINS THE TEST NUMBER
570 000503 000 SERFLG: .BYTE 0 S 3(ONTAINS ZRROR FLAG
571 000504 00000 $ICNT: .WORD O ' SCONTAINS SUBTEST ITERATION COUNT
§72 000506 000020 SLPADR: .WORD 0 *SCONTAINS SCOPE LOOP ADDRESS
573 000510 000000 SLPERR: .WORD 0 “:CONTAINS SCOPE RETURN FOR ERRORS
574 000512 000000 SERTTL: .WORD O *:CONTAINS TOTAL ERROR3 DETECTED
575 000514 000 SITEMB: .BYTE 0 *:CONTAINS ITEM CONTROL BYTE
576 000515 001 SERMAX: .BYTE 1 :3CONTAINS MAX. ERRORS PER TEST
57¢ 000516 000000 SERRPC: .WORD 0 P CONTAINS PC OF LAST ERROR INSTRUCTION
578 000520 000000 $SGDADR: .WORD O *SCONTAINS ADDRESS OF ‘GOOD® DATA
570 000522 000000 $BDADR: .WCRD 0 *3CONTAINS ADDRESS OF °'BAD' DATA
s8¢ 000526 000000 SGDDAT: .WORD O ::CONTAINS 'GOOD® DATA
581 000526 C00000 $8DDAT: .WORD O SLONTAINS °BAD' DATA
582 000530 000 "WORD 0 * i RESERVED- -M0" TO BE USED
583 000532 000000 WORD O
587 0005 000 $SAUTC8: .BYTE 0 ;AUTOMATIC MODE INDICATIR
585 000535 000 SINTAG: .BYTE 0 " “INTERRUPT MODE INDICA ‘OR
586 000536 000000 WORD O
587 000540 177570 SWR:  .WORD DSWR :;ADORESS OF SITCH REGJSTER
588 000542 177570 DISPLAY: .WORD DDISP :ADDRESS OF DISPLAY RECISTER
589 000544 177560 $TKS: 177560 :3TTY KBD STATUS
590 000546 177562 $TKB: 177562 STTY KBD BUF~ SR
591 000550 177564 $TPS: 177564 S:TTY PRINTER STATUS REG. ADDRESS
592 000552 177566 $TPB: 177566 S:TTY PRINTER BUFFER REG. ADDRESS
593 000554 000 $SNULL: .BYTE O :CONTAINS NULL CHARACTER FOR FILLS
594 000555 002 $SFILLS: .BYTE 2 ::CONTAINS # OF FILLER CHARACTERS REQUIRED
595 000556 012 SFILLC: .BYTE 12 ::INSERT FILL CHARS. AFTER A 'LINE FEED"
596 000557 000 $STPFLG: .BYTE 0 'TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)
597 000560 000000 $ESCAPE: 0 ..ESCAPE ON ERROR ADDRESS
598 00056 077 $QUES: .ASCII /2%/ SQUESTION MARK
599 00056 015 $CRLF: .ASCII <i5> S S CARRIAGE RETURN
600 000564 000012 SLF: ~ .ASCIZ <12 **LINE FEED
601 tl‘t.iIttitt.*ttt.ttt'tit't't't.".t'ﬁtl'ﬁﬁ.'ﬁﬁtttittlttt'ﬁ*"ﬁt
gg% "SBTTL APT MAILBOX~ETABLE
601. X 233223222022 823223 222223223738 323833338833 338 23333333038 3220402343413)
605  EVEN
606 000566 $MAIL : sAPT MA!LBOX
607 000566 000000 SMSGTY: .WORD  AMSGTY ..nessase TYPE CGOE
€08 006570 000000 SFATAL: .WORD AFATAL ::FATAL ERROR NUMBER
609 000572 888880 $TESTN: .WORD  ATESTN ::TEST MUMBER
610 888574 b $PASS: .WORD APASS  ::PASS COUNT
611 57 00 $DEVCT: .WORD ADEVCT ;:DEVICE COUNT
61; SUNIT: .WORD AUNIT ::1/0 UNIT NUMBER
613 00060 SMSGAD: .WORD AMSGAD ::MESSAGE ADDRESS
614 000604 $MSGLG: .WORD AMSILG ;;MESSAGE LENGTH
615 000606 SETABLE: 3 APT ENVIRONMENT TABLE
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616 000606 000 $SENV: .BYTE AENV  ;:ENVIRONMENT BYTE
617 000607 000 SENVM: .BYTE AENVM  ::ENVIRONMENT MODE BITS
618 000610 000000 $SWREG: .WORD ASWREG ::APT SWITCH REGISTER
619 000612 000000 SUSWR: .WORD AUSWR  ::USER SWITCHES
620 000614 000000 $CPUOP: .WORD ACPUOP ::CPU TYPE,OPTIONS
621 it BiTS 15-11=CPU TYPE
622 e 11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
623 e 11/70=06.Pb0=07,0=10
624 i BIT 10=REAL TIME CLOCK
625 e BIT 9=FLOATING POINT PROCESSOR
626 T BIT 8=MEMORY MANAGEMENT
627 000616 000 $MAMS1: .BYTE AMAMS1 ;:HIGH ADDRESS,M.S. BYTE
628 000617 000 SMTYP1: .BYTE AMTYP1 ::MEM. TYPE,BLKA
629 ¥ MEM.TYPE BYTE == (MIGH BYTE)
630 ;W 900 NSEC CORE=001
631 e 300 NSEC BIPOGLAR=002
632 " 500 NSEC M0S=003
633 000620 000000 $MADR1: .WORD AMADR1 ::HIGH ADDRESS,BLKA1 N
634 s MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF '‘TYPE'* ABOVE
635 000622 000 $MAMS2: .BYTE  AMAMS2 ;;HIGH ADDRESS.M.S. BYTF
636 000623 000 SMTYP2: .BYTE AMTYP2 ::MEM.TYPE,BLKA2
637 000624 000000 SMADRZ: .WORD AMADR2 :;MEM.LAST ADDRESS,BLKA2
638 000626 000 SMAMS3: .BYTE AMAMSS ::HIGH ADDRESS,M.S.BYTE
639 000627 000 SMTYP3: .BYTE AMTYP3 ::MEM.TYPE,BLKA3
640 000630 000000 SMADR3: .WORD AMADR3 ::MEM.LAST ADDRESS,BLKAS
641 000632 000 SMAMSL: .BYTE AMAMSL ;:HIGH ADDRESS,M.S.BYTE
642 000633 000 SMTYP4: .BYTE AMTYPL - :MEM.TYPE,BLKAG
643 000634 000000 SMADRS: .WORD  AMADRG ::MEM.LAST ADDRESS,BLK#%
644 000636 000060 SVECT1: .WORD AVECT1 :INTERRUPT VECTORAH1.BUS PRIORITYA1
645 000640 00000 SVECT2: .WORD AVECT2 ::INTERRUPT VECTOR#28US PRIORITYA2
229 883222 177560 gg?gss "WORD ABASE  ::BASE ADDRESS OF EQUIPMENT UNDER TEST

648 JMEXIT
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000000
000000
000000
000000

00

017C44

382

NN NO=2OWNN
~ ~
SIS

QOO0DO ©
—d b b b

177646
177640
177640

000500
000540
000500
000340

015546
000340

000020
000022
002230
000032

c 2

ERROR POINTER TABLE SEQ 0015
.SBTTL ERROR POINTER TABLE
s*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR T.AT CAN OCCUR.

:*THE INFORMATION 1S OBTAINED BY USING THE INDEX NUMBER FOUND IN
;*LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.

IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).
EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:

:;POINTS TO THE ERROR MESSAGE
:;POINTS TO THE DATA HEADER
:sPOINTS TO THE DATA

:sPOINTS TO THE DATA FORMAT

:SOURCE1 LENGTH
:SOURCE] ADDRESS
0 :SOURDE2 LENGTH
0 :SOURCE2 ADDRESS
sDESTINATION LENGTH
BUF sDESTINATION ADDRESS
sFILL CHARACTER
¢ TRANSLATION TABLE ADDRESS
sTCSR ADDRESS OF SLU USED FOR INTERRUPTS
:TBUF ADDRESS
sTRANSMIT INTERRUPT VECTOR
s __AND PSW LOCATION
sADDRESS OF TEST INSTRUCTION TO INTERRUPT
;CONDITION CODSS AFTER EXECUTION OF TEST INSTRUCTION
sEXPECTED PSW
sSTACK POINTER VALUE BEFORE TEST INSTRUCTION EXECUTION
sBAD STACK POINTER VALUE
sADDRESS WHERE UNEXPECTED TRAP OR INTERRUPT OCCURRED

SFATAL sCLEAR ERROR NO.
SMSGTYP sCLEAR MESSAGE TYPE
STESTN ;CLEAR TEST NO.

INITIALIZE THE COMMON TAGS

s*NOTE1:
;*NOTEZ2:
o EM
% DH
o DT
o DF
$ERRTB:
SILN: .WORD
S1ADR: .WORD
S2LN: .WORD
SZ2ADR: .WORD
DSTLN: .WORD
DSTAD: .WORD
FILL: .WORD
TABLE: .WORD
TCSR: 177564
TBUF : 177566
TVECT: 64
TPSW: 66
PCI: 0
CCODES: O
EXPPSW: 0
SAVR6: 0
BADRG6: O
oLbPC: O
TEMP: O
TEMP1: 0
TEMP2: O
START: CLR
CLR
CLR
SBTTL
MOV
(LR
CMP
BNE
MOV
MOV
MOV
Mov
MOV

;CLEAR THE COMMON TAGS (SCMTAG) AREA

#$CMTAG,R6 sFIRST LOCATION TO BE CLEARED
(R6) + cCLEAR MEMORY LOCATION
#SWR,R6 ;DONE?

.=6 :LOOP BACK IF NO

#500,5P sSETUP THE STACK POINTER

SINITIALIZE A FEW VECTORS
#$SCOPE ,a#IOTVEC ; IOT VECTOR FOR SCOPE ROUTINE
#340,a#10TVEC+? ;LEVEL
#SERROR, S#EMTVEC ;EMT VECTOR FOR ERROR ROUTINE
#3640, I4EMTVEC+2 ;LEVEL 7
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001300

001130
001120
000006
000010

001154

000176
000174

177372
000200

000610
013360
017032
000642

000004
000664

000666
000636
000004
000670
000672

000200

22-JAN=-82 08:5
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000034
000036
0000.,4
000026
013500

177443
000014
000016
013554

177606
000010

013522

000010

177332
177326
177350
177344

177377
177320
007542

1$:

2$:
3s:

4S:

BEGIN:

seTEST 1

0 PAGE 17
INITIALIZE THE COMMON TAGY SEQ 0016

Mov
MOV
MoV
MOV
MOV
CLR
MOVB

MOV
MOV
MOV
MoV
MOV
CLR
MOV
RTT
MOV
B8R

ADD
MOV
CLR

MTPS

ASTRAP ,a# TRAPVEC ;TRAP VECTOR FOR TRAP CALLS
#340,a#THAPVEC+2: LEVEL 7
#SPWRDN , 3#PWRVE :POgER7FAILURE VECTOR

4340, 3 WRVEC+2 :LEVEL

$ENDCT,SFOPCT  :SETUP END=OF=PROGRAM COUNTER
SESCAPE ‘CLEAR THE ESCAPE ON ERROR APDRESS
#1, SERMAX :ALLOW ONE ERROR PER TEST

SINITIALIZE THE "T-BIT™ TRAP VECTOR. THEN LOAD LOCATION
__iTHE "END-OF-PASS'* (SEOP) RCuTINE. WITH A “RTI'"OR "RTT"'
#SRTRN,#TBYiVEC ;SET "'T'* BIT VECTOR TO SRTRN
#340,@4TBLTVEC+ :LEVEL 7
NRTI,SRTRN ;SET SRTRN TO A RTI
QSRESVEC,TEWP  :SAVE ILLEGAL INSTRUCTION TRAP VECTOR
#2S ,QMRESVEC  :TRY TO DO A RTT

-(SP) ‘DUMMY PS
#18,-(SP) SAND PC

‘TRY THE RTT
ggrr.saran “RTT IS LEGAL-~SET SRTRN TO A RTT
#10,SP :RTT ILLEGAL~=CLEAN OFF THE STACK
TEMP, @#RESVEC  :RESTORE JLLEGAL INSTRUCTION TRAP VECTOR
sTBI1T SCLEAR ''T'* BIT SWITCH
#.,SLPADR *INITIALIZE THE LOOP ADDRESS FOR SCOPE
2. SLPERR ‘SETUP THE ERROR LOOP ADDRESS

SSETUP FOR A SOFTWARE SWITCH REGISTER.
#SWREG, SWR ‘POINT TO SOF TWARE SWR
#DISPREG,DISPLAY

$PASS sCLEAR PASS COUNT

#FAPTSIZE ,SENVM TEST USER SIZE UNDER APT
4$ :YES,USE NON-APT SWITCH
#$SWREG, SUR sNO,USE APT SWITCH REGISTER

SENDAD , 3442 JUNDER ACT11?

ﬁiﬁé" *BR, IF YES (SKIP PROGRAM ID TYPEOUT WHEN UNDER AACT)
:SET UP ADDRESSES OF SLU TO USE FOR INTERRUPTABILITY TES

NSBASE ,RO *GET ADDRESS OF THE SLU

24 ,RO SADJUST TO TCSR ADDRESS

RO ANTCSR SSTORE TLSR ADDRESS

(RO)+ *ADJUST TO TBUF ADDRESS

RO, a#TBUF *STORE TBUF ADDRESS

ar$VECT1,RO *GET SLU INTERRUPT VECTOR

#4,R0 *ADJUST TO TRANSMIT INTERRUPT VECTOR
RO MTVECT *STORE TRANSMIT INTERRUPT VECTOR

(RO)+ SADJUST TO TRANSMIT INTERRUPT PSW

RO, 3NTPSY *STORE TRANSMIT INTERRUPT PSW LOCATION
#200 ;SET PRIORITY T0 7

':tt*tttit'ﬁitttttttttttttt'ttttttttttt't..ttltttttitt".ttttttit

TEST ''ADDN'’ WITH SOURCE1 LENGTH =0 & SOURCE2 STRING VALID

::it.titlttttﬁtttit'tti'i.'.ittttitittttt.t'tlﬁtitt.!i.'ttttil'ti
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CVKAJB.P11 22-JAN-82 08:4 TEST ‘‘ADDN'' WITH SOURCE1 LENGTH =0 & SOURCE2 STRING VALID SEQ 0017

761 001304 000004 TST1:  SCOPE

76 0013 004567 013420 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

763 00131 000000 0 SOURCE1 LENGTH

764 001314 (001550 SITM SOLRCE1 ADDRESS

765 001316 000001 1 SOURCE LENGTH

766 001320 001551 Y44 SOURCE ADDRESS

767 001322 000000 0 DESTINATION LENGTH

768 001324 004767 013474 JSR PC,CLBUF ;CLEAR BUFFER AREA

769 001330 013767 000010 177354 MOV axio TEMP1 SAVE TIMEOUT TRAP VECTOR (ONTENTS

770 001336 013767 000012 177350 MOV a#12 TEMP?2

771 001344 012737 0014C2 000010 MOV UT1CONT ar10 :POINT TIMEOUT VECTOR TO TEST CONTINUATION

772 001352 012737 000340 000012 MOV #340,anf2

773 001360 004567 013460 JSR RS, XPSW :STORE EXPECTED PSW VALUE

774 001364 000217 LWORD 217

775 001366 004767 013366 JSR PC.GENR ;SET UP GENERAL REGISTERS

;;? 001372 000277 SCC

;;g 001374 076050 T1: ADDN :EXECUTE °‘‘ADDN'' INSTRUCTION

780 001376 104001 ERROR 1 sxnnnaannneatteadJEST 1 « ERROR 1trassasannnceee

781 DECIHAL INSTRUCTION DID NOT TRAP ON

782 A ZERO SOURCE1 LENGTH

;gz 001400 000464 BR ENDT1

785 001402 T1CONT:

786 001402 020067 177236 CMP RO,STLN sCHECK RO UNCHANGED

787 001406 001401 BEQ 64$

788 001410 104002 ERROR 2 caanennnnncnsaaTEST 1 - ERROR pal211 3231221111

789 RO CHRANGED

790 RO SHOULD STILL EQUAL CONTENTS OF ‘SILN

791 001412 020167 177230 64$: CMP R1,S1ADR :CHECK R1 UNCHANGED

792 001416 001401 BEQ 65$

793 001420 104003 ERROR 3 savnnannnananatsTEST 1 - ERROR Jennnnennanevany

794 R1 CHANGED

795 R1 SHOULD STILL EQUAL CONTENTS OF °‘‘S1ADR'

796 0014622 020267 177222 65$: MP RZ,SCLN :CHECK R2 UNCHANGED

797 001426 091401 BEQ 6C$

;38 001430 104004 ERROR 4 sanananannataantTEST 1 = ERROR 4eeennannsnnnense
RZ CHANGED

800 RZ SHOULD STILL EQUAL THE CONTENTS OF °'S2LN’

801 001432 020367 177214 6(S$: (o, ' R3,S2ADR :CHECK R3 UNCHANGED

802 001436 001401 BEQ 67%

803 001440 104005 ERROR 5 sennnnnnnnnaneeasTEST 1 - ERROR Sennnnanennnnans

804 R3 CHANGED

805 R3 SHOULD STILL EQUAL THE CONTENTS OF °‘'S2ADR'

806 001442 020467 177212 67$: CMP R4 FILL :CHECK R& UNCHANGED

807 001446 001401 BEQ 68$

808 001450 104006 ERROR 6 sennnnenaneaneeTEST | = ERRCR Grennnssanenenes

809 R4 CHANGED

810 R4 SHOULD STILL EQUAL YHE CONTENTS OF °FILL"

811 001452 020567 177200 6b$: CMP RS ,DSTAD CHECK RS UNCHANGED

812 001456 001401 BEQ 69$

813 001460 104007 ERROR 7 t;tttttttttttttTESf 1 « ERROR 7rsesasanant et

814 :R ED

815 RS SHO(M D STILL EQUAL THE CONTENTS OF ‘DSTAD'

816 001462 69%:
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CVKAJB.P11 22-JAN-82 08:49 T TEST "ADDN'' WITH SOURCE1 LENGTH =0 & SOURCE2 STRING VALID SEQ 0018
817 001462 016600 000002 MOV 2(SP) R :CHECK PSW AT TIME OF TRAP
818 001466 042700 177400 BIC 1177460 RO
819 001472 020067 177202 cMP RO, EXPPSW
820 001476 001401 BEQ 1$ )
821 001500 104010 ERROR 10 suannnanasenneraTEST 1 = ERROR 10vesnenennnennen
822 *PSW ER]ROR . .
823 *EXPECTED PSW 1S STORED AT 'EXPPSW'
824 *RESULTANT PSW IS IN RO
825 001502 021627 001376 1$: cMp (SP) ,AT142 *CHECK ADDRESS OF TRAP
826 001506 001403 BEQ 2$
827 001510 011637 000522 MOV (SP) ,a#$BDADR  ;STORE BAD ADDRESS
828 001514 104013 ERROR 11 tantannnenenswedTEST 1 = ERROR 11nannavananannes
829 STRAP ADDRESS ERROR ,
830 SEXPECTED ADDRESS IS 'T1¢2' . N
831 *RESULTANT ADDRESS 1S STORED AT °'SBDADR
832 001516 010500 2s: MOV SP,RO *CHECK SP RESTORATION
833 001520 062700 000004 ADD #4,R0
834 001524 020037 000702 CMP RO, @¥SAVR6
835 001530 001401 BEQ 3
836 001532 104012 ERROR 12 sannnanaanacaeeeJTEST 1 = ERROR 12¢nananannsndans
837 *STACK POINTER WAS NOT RESTORED .,
838 ;EXPECTED SP VALUE IS STORED AT ''SAVR6
839 SERRONEOUS SO VALUE IS AT "BADRS'
840 001534 012716 001552 3s: MOV #ENDT1, (SP) *RESTORE SP & PSW
84,1 001540 013766 000700 000002 MoV SNEXPPSW, 2 (SP)
gzg 001546 000002 RTI
844 001550 S1T1: :SOURCE1 STRING
845 001550 060 .BYTE 60 *MOST SIGNIFICANT DIGIT
846 001551 $2T1: :SOURCE2 STRING
847 001551 060 .BYTE 60 *MOST SIGNIFICANT DIGIT
gzg .EVEN
850 001552 016737 177134 000010 ENDT1: MOV TEMP1, 010 ;RESTORE TIMEOUT VECTOR CONTENTS
gg; 001560 016737 177130 000012 MOV TEMP2.aN12
853
85(. ttttttttttttﬁtttttttttittttttttttttttttttttttttttttttttﬁﬁtttttt
855 'rssr 2 TEST “‘ADDN'* WITH A POSITIVE LEADING SIGN SCURCE1, & VALID SOURCE2
856 I 3 2 2 3 2 2R 1123322 234333328330 ¢433 433234303243
857 001566 t872:  SCOPE
858 001570 004567 013136 JSR RS,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
859 001574 1 *SOURCET LENGTH
860 001576 002032 s172 *SOURCE1 ADDRESS
861 001600 000001 1 *SOURCE2 LENGTH
862 001602 002033 S2T12 :SOURCE2 ADDRESS
863 (01604 000000 0 *DESTINATION LENGTH
866 001606 004767 013212 JSR PC,CLBUF *CLEAR BUFFER AREA
865 001612 013767 000010 177072 MOV ario, TEMPI *SAVE TIMEOUT TRAP VECTOR CONTENTS
866 001620 013767 000012 177066 MoV ar12. TEMP2
867 001626 012737 001664 000010 MoV #T2CONT.3#10  :POINT TIMEOUT VECTOR TO TEST CONTINUATION
868 001634 012737 000340 000012 MOV #3640, ani2
869 001642 004567 013176 JSR RS, XPSW :STORE EXPECTED PSW VALUE
870 001646 000217 LWORD 217
871 001650 004767 013104 JSR PC.GENR :SET UP GENERAL REGISTERS
872 0016564 000277 SCC
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CVKAJB.P11 22~JAN=-82 08:49 T2 TEST *‘ADDN'* WITH A POSITIVE LEADING SIGN SOURCE1, & VALID SOURCEZ2 SEQ 0019
873
332 001656 076050 T2: ADDN :EXECUTE °'ADDN'' INSTRUCTION
P76 001660 104001 ERROR 1 sanannnnnsennttsJEST 2 = ERROR 1eaveenteesannee
7 DECIHAL INSTRUCTION DID NOT TRAP ON
878 A POSITIVE LEADING SIGN SOURCE1
ggg 001662 000464 BR ENDTZ2
881 001664 T2CONT:
882 001664 020067 176754 CMP RO, SILN :CHECK RO UNCHANGED
883 001670 001401 BEQ 64$
884 001672 104002 ERROR 2 sannsennnnenanedTEST 2 = ERROR 2ttevtanwnasnndn
585 RO CHANGED e s
886 RO SHOULD STILL EQUAL CONTENTS OF ’'‘S1LN
887 001674 020167 176746 648: cMP R1,S1ADR :CHECK R1 UNCHANGED
888 001700 001401 BEQ 65$
889 001702 104003 ERROR 3 sannnnnnneenennaTEST 2 = ERROR 3ntnstnntsnnsnnn
890 R1 CHANGED ,
891 R1 SHOULD STILL EQUAL CONTENTS OF ‘‘S1ADR’’
892 001704 020267 176740 65$: CMP R2,S2LN CHECK R2 UNCHANGED
893 001710 001401 BEQ 668
896 001712 104004 ERROR 4 sennkannnnennnssTEST 2 = ERROR 4rasenananannans
895 R’ CHANGED
896 RZ SHOULD STILL EQUAL THE CONTENTS OF ‘''S2LN’’
897 0017146 020367 176732 66$: CMP R3,S2ADR :CHECK R3 UNCHANGED
898 001720 001401 BEQ 67%
899 001722 104005 ERROR 5 cannnnannnananssTEST 2 = ERROR Stoanennannatnnne
900 R3 CHANGED
901 R3 SHOULD STILL EQUAL THE CONTENTS OF '‘S2ADR‘’
902 001724 020467 176730 67$: CMP R4, FILL :CHECK R4 UNCHANGED
903 001730 001401 BEQ 68$
904 001732 104006 ERROR 6 sannensnnnnanensTEST 2 = ERROR Gerrnasasasesany
905 R4 CHANGED
906 R4_SHOULD STILL EQUAL THE CONTENTS OF 'FILL''
907 001734 020567 176716 68$: CMP RS ,DSTAD :CF "2K RS UNCHANGED
908 001740 001401 BEQ 69%
909 001742 104007 ERROR 7 t;ttttttttttataTEST 2 = ERROR 7stssstssnsatate
910 ;RS CHANGED
911 RS SHOULD STILL EQUAL THE CONTENTS OF °‘DSTAD'’
912 001744 69%:
913 001744 016600 000002 MOV 2(SP) ,RO ;CHECK PSW AT TIME OF TRAP
914 001750 042700 177400 8IC #177400,R0
915 001754 020067 176720 CMP RO, EXPPSW
916 001760 001401 8EQ 18
917 001762 104010 ERROR 10 sannnnnnanananeaTEST 2 = ERROR 10nesanncansetnee
918 PSU ERROR
919 EXPECTED PSW IS STORED AT "EXPPSW'’
920 RESULTMT PSW IS IN RO
921 001764 021627 001660 18: CMP (SP) , #1242 SCHECK ADDRESS OF TRAP
922 001770 001403 BEQ 2%
923 001772 011637 000522 MOV (SP) ,a#$BDADR  ;STORE BAD ADDRESS
924 001776 104011 ERROR 11 casnnwnnansnaasaTEST 2 = ERROR 11tnsesnssnneneesn
925 :TRAP ADDRESS ERROR
9¢6 EXPECTED ADDRESS IS '‘T2+2'
927 RESULTANT ADDRESS IS STORED AT ‘‘$S8DADR*’

928 002000 010600 2$: MOV SP,RO sCHECK SP RESTORATION
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929 002002 062700 000004 ADD #4 RO
930 002006 020037 000702 CMP RO ¥SAVR6
931 002012 001601 BEQ 3s
932 002014 104012 ERROR 12 sanannnannnnnatdTEST 2 = ERROR 12¢wensnnvraannees
933 STACK POINTER WAS NOT RESTORED .
934 EXPECTED SP VALUE IS STORED AT 'SAVR6
935 ERRONEOUS SO VALUE IS AT 'BADRG'’
936 002016 012716 002034 3s: MOV #ENDT2, (SP) RESTORE SP ¢ PSVW
937 002022 013766 000700 0000C?2 MOV awsxppsu 2(SP)
3%3 002030 000002 RTI
9%0 002032 S1T2: :SOURCE1 STRING
941 002032 055 .BYTE 55 HOST SIGNIFICANT DIGIT
942 002033 §2Te: SOURCEZ STRING
943 002033 060 .BYTE 60 HOST SIGNIFICANT DIGIT
gzg .EVEN
946 002034 016737 176652 000010 ENDT2: MOV TEMPY ,a#10 :RESTORE TIMEOUT VECTOR CONTENTS
gtg 002042 016737 176646 000012 MoV TEMP2.a#12
949
950 tltttttltttttttttttttttttttttttttttttttttttttttttttttttttttttit
951 tTEST 3 TEST “‘ADDN'* WITH A NEGATIVE LEADING SIGN SOURCE1, & VALID SOURCE2
952 tutttttntttnu"ttt"nutttuun"tntttuttntntttnnn
953 002050 000004 TST3 SCOPE
954 002052 004567 012654 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
955 002056 000001 1 SOURCEI LENGTH
956 002060 002314 S113 *SOURCE1 ADDRESS
957 002062 000001 1 *SOURCE2 LENGTH
9S8 002064 002315 5273 *SOURCE2 ADDRESS
959 002066 000000 SDESTINATION LENGTH
960 002070 004767 012730 JSR Pc CLBUF ;CLEAR BUFFER AREA
961 0020764 013767 000010 176610 MOV a#io TEMPA SAVE TIMEOUT TRAP VECTOR CONTENTS
962 002102 013767 000012 176604 MOV ar12.TEMP2
963 002110 012737 002146 000010 MoV JTSCONT a0 :POINT TIMEOUT VECTOR TO TEST CONTINUATION
964 002116 012737 000340 000012 MOV #3460, ani2
965 0021246 004567 012714 JSR RS XPSH :STORE EXPECTED PSW VALUE
966 002130 000217 WORD 217
967 002132 004767 012622 JSR PC,GENR :SET UP GENERAL REGISTERS
323 002136 000277 SCC
3;? 002140 076050 13: ADDN :EXECUTE *'ADDN'® INSTRUCTION
972 002142 104001 ERROR 1 snannnnnannetaasTEST 3 « ERROR 1ntasnavasentene
973 DECIHAL INSTRUCTION DID NOT TRAP ON
974 A NEGATIVE LEADING SIGN SOURCE?
g;g 002144 000464 BR ENDT3
977 002146 T3CONT:
9/8 002146 020067 176472 (], RO, S1LN sCHECK RO UNCHANGED
979 002152 001401 BEQ 6 +$
980 002154 104002 ERROR tatttttttttttttTEST 3 ~ ERROR 2vttausssunntunts
981 RO CHANG:D
982 RO SHOULD STILL EQUAL CONTENTS OF °*‘STLN'
983 002156 020167 176464 648: CMP R1,S1ADR ;CHECK R1 UNCHANGED
984 002162 001401 BEQ 65§

SEQ@ 0020
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002164

104003

020267
001401
106004

020367
001401
104005

020467
001401
104006

020567
001401
104007

016600
042700
020067
001401
154010

021627
001403
011637
104011

010600
062700
020037
001401
104012

012716
013766
002002

053

060

176456
176450
176446

176434

V00002
177400
176436

002142
000522

000004
000702

002316
000700 000002

22-JAN=-82 08:50_ PAGE
22-JAN-82 08:49 T3

65$%:

66$:

67$:

68S$:

69%:

18:

2$:

3s:

S1T73:
$2T13:

22

I 2

TEST "'ADDN'* WITH A NEGATIVE LEADING SIGN SOURCE1, & VALID SOURCE2

ERROR

CMP
BEQ
ERROR

CMP
BEQ
ERROR

e
8EQ
ERROR

CMP
BEQ
ERROR

MOV
81¢C
CMP
BEQ
ERROR

CMP
BEQ
MOV
ERROR

MOV
ADD

BEQ
ERROR

MoV
MOV
RTI

-BYTE

.BYTE
.EVEN

3

R2,S2LN
26§

R3,S2ADR
7

67%
5

R4 FILL
gsi

RS ,DSTAD
995

2(SP) RO
#177400,R0
qg.EXPPsu

10

égP).lTS+2
%?P).ilSBDADR

SP,RO

#4 RO
RO,3#SAVR6
12

#ENDT3S, (SP)
SNEXPPSY,2(SP)

53
60

snnnnnwnnnaattdtTEST 3 = ERROR Jrenveeneneeenne
¢R1 CHANGED

sR1_SHOULD STILL EQUAL CONTENTS OF '‘STADR'’

; CHECK R2 UNCHANGED

sennnnvannanttatTEST 3 = ERROR 4renvnnnannnnnes
:R2 CHANGED

;R2 SHOULD STILL EQUAL THE CONTENTS OF °'S2LN"’

¢+ CHECK UNCHANGED

saennnnnenaeaseaTEST 3 « ERROR Steannavatasntane

sR3 CHANGED
:R3 SHOULD STILL EQUAL THE CONTENTS OF °°S2ADR'’
sCHECK R4 UNCHANGED

sannnnnnaetasatsTEST 3 = ERROR Geennneennennnee
;R4 CHANGED

;R4 SHOULD STILL EQUAL THE CONTENTS OF 'FILL"

s CHECK R5 UNCHANGED

suanannnannaanaatTEST 3 = ERROR 7oevanntnnnnnedn
;RS CHANGED
;RS SHOULD STILL EQUAL THE CONTENTS OF °‘DSTAD''

;CHECK PSW AT TIME OF TRAP

sennannannnanstaTEST 3 - ERRCY 10anananwnnnsanen
:PSW_ERROR

;EXPECTED PSW IS STORED AT ‘EXPPSW'’

SRESULTANT PSW IS IN RO

sCHECK ADDRESS OF TRAP

:STORE BAD ADDRESS

;tttttttttttttttTEST 3 =« ERROR 11xsnsnsnsanennny
;TRAP ADDRESS ERROR

;EXPECTED ADDRESS 1S '‘T342

;sRESULTANT ADDRESS 1S STORED AT ‘‘'$SBDADR’’

:CHECK SP RESTORATION

sannnnnnantennt TEST 3 = ERROR 12%” tannanenanees

:STACK_POINTER WAS NOT RESTORED .,
SEXPECTED SP VALUE IS STORED AT ‘'SAVRG
:ERRONEOUS SO VALUE 1S AT "BADR6
sRESTORE SP ¢ PSW

;SOURCE1 STRING
;MOST SIGNIFICANT DIGIT
:SOURCE2 STRING
sMOST SIGNIFICANT DIGIT

SEQ 0021
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CVKAJB.P1? 22-JAN-82 08:49 13 TEST "'ADDN'' WITH A NEGATIVE LEADING SIGN SOURCE1, & VALID SOURCEZ2 SEQ 0022
1041
1042 002316 016737 176370 000010 ENDT3: MOV TEMP1, 8410 :RESTORE TIMEOUT VECTOR CONTENTS
}822 002324 016737 176364 000012 MOV TEMPZ2 3412
1045
1826 IR AN ARSI R T TR R RRANANRARRNARRANENRARARARCANRL RN
1047 J«TEST & TEST *'ADDN’' WITH SOURCE2 LENGTH = 0, & VALID SOURCE1
1048 R et e e e AT L LA L D AL DL Rl d
1049 002332 000004 TST4:  SCOPE X
1050 002334 004567 012372 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
1051 002340 000001 1 :SOURCE1 LENGTH
1052 002342 002576 S1Té :SOURCE1 ADDRESS
1053 002344 000000 0 :SOURCE2 LENGTH
1054 002346 002577 S2T4 :SOURCE2 ADDRESS
1055 002350 000000 0 :DESTINATION LENGTH
1056 002352 004767 012446 JSR PC,CLBUF :CLEAR BUFFER AREA
1057 002356 013767 000010 176326 MOV i#iO.TEHP1 :SAVE TIMEOUT TRAP VECTOR CONTENTS
1058 002364 013767 000012 176322 MOV ar12, TEmP?
1059 002372 012737 002430 000010 MOV #T4CONT a0 :POINT TIMEOUT VECTOR TO TEST CONTINUATION
1060 (02400 012737 000340 000012 MOV 4340, an12
1061 002406 004567 012432 JSR RS  XPSW :STORE EXPECTED PSW VALUE
1062 0026412 000217 .WORD 217
1063 002414 004767 012340 J3! PC.GENR :SET UP GENERAL REGISTERS
}82? 002420 000277 SCC
}829 002422 076050 T4: ADDN sLNECUTE °‘'ADDN’'' INSTRUCTION
1068 002424 104001 ERROR 1 sunnknnnnnenesasTEST 4 -~ FRROR 1rtsntannnnennnn
1069 :DECIMAL INSTRUCTION DID NOT TRAP ON
1070 :A IERO SOURCEZ2 LENGTH
}8;5 002426 000464 BR ENDT4
1073 002430 T4CONT:
1074 002430 020067 176210 (MP RO, SILN :CHECK RO UNCHANGED
1075 002434 001401 BEQ 64$
1076 002436 104002 ERROR P cunannanneneannaTEST & = ERROR 2rsxassnnsnannne
1077 ;RO CHANGED
1078 ;RO SHOULD STILL EQUAL CONTENTS OF °‘‘SILN'’
1079 002440 020167 176202 648: CMP R1,S1ADR :CHECK R1 UNCHANGED
1080 002444 001401 BEQ 658
1081 002446 104003 ERROR 3 seennnnannennsasTEST 4 ~ ERROR LS T II I Y o
1082 :R1 CHANGED
1083 :R1 SHOULD STILL EQUAL CONTENTS OF ‘‘S1ADR'
1084 002450 020267 176174 65%: CMP R2,S52LN :CHECK RZ2 UNCHANGED
1085 002456 001401 BEQ 66$
1086 002456 104004 ERROR 4 cunnnnnnananstaaTEST 4 = ERROR 4esnnnnnnnsnnany
1087 :R2 CHANGED
1088 - :R2 SHOULD STILL EQUAL THE CONTENTS OF °‘S2LN'’
1089 002460 020367 176166 66$: CMP R3,S2ADR s CHECK UNCHANGED
1090 002464 001401 BEQ 678
1091 002466 104005 ERROR 5 seannnnnnnnnnsnsTEST 4 - ERROR Stanesavavahadat
1092 :R3 CHANGED
1093 :R3 SHOULD STILL EQUAL THE CONTENTS OF °‘S2ADR’’
1094 002470 020467 176164 67%: CMP R4 FILL sCHECK R4 UNCHANGED
1095 002474 001401 BEQ 68$
1096 002476 104006 ERROR 6 santnansananeaxeTEST 4 = ERROR Groavnnnntrananee

|
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CVKAJB.P11 22=JAN-82 0 TEST ""ADDN'' WITH SOURCE2 LENGTH = 0, & VALID SOURCE1 SEQ 0023
1097 :R4 CHANGED , .
1098 sRG SHOULD STILL EQUAL THE CONTENTS OF 'FILL
1099 002500 020567 176152 68$: CMP RS,DSTAD sCHECK RS UNCHANGED
1100 002504 001401 BEQ 65$
1101 002506 104007 ERROR 7 sennnnnananataaaTEST 4 = ERROR 7tsatnnnatnnenee
1102 :R5 CHANGED , .
1103 :RS SHOULD STILL EQUAL THE CONTENTS OF 'DSTAD
1106 002510 69$:

1105 002510 016600 000002 MOV 2(SP) RO ;CHECK PSW AT TIME OF TRAP

1106 002514 042700 177400 BIC #177400,R0

1107 002520 020067 176154 CMP RO.EXPPSW

1108 002524 001401 BEQ 1%

1109 002526 104010 ERROR 10 sanannannatwnttaTEST 4 = ERROR 10vvnnevennevatnn
17110 :PSW ERROR , .

1111 sEXPECTED PSW IS STORED AT 'EXPPSW

1112 :RESULTANT PSW IS IN RO

1113 002530 021627 002424 1$: CMP (SP) , #1442 sCHECK ADDRESS OF TRAP

11146 002534 001403 BEQ 2$

1115 002536 011637 000522 MOV (SP) ,a#$BDADR  ;STORE BAD ADDRESS

1116 002542 104011 ERROR 11 sannnnansdt et st TEST 4 = ERROR 11sevennannnnnane
1117 :TRAP ADDRESS ERROR "

1118 :EXPECTED ADDRESS 1S ''T4+2 .
1119 ;RESULTANT ADDRESS IS STORED AT °‘‘SBDADR’’
1120 002544 010600 2%: MOV SP.RO JCHECK SP RESTORATION

1121 002546 062700 000004 ADD #4 ,R0

1122 002552 020037 000702 CMP RO,a8#SAVR6

1123 002556 001401 B8EQ 33

11246 002560 104012 ERROR 12 sannanananenaansTEST 4 = ERROR 12tenannnnnsnnann
1125 :STACK POINTER WAS NOT RESTORED .,
1126 ;EXPECTED SP VALUE IS STORED AT °'SAVR6
1127 :ERRONEOUS SO VALUE IS AT 'BADR6

1128 002562 012716 002600 3s: MoV #ENDTL, (SP) RESTORE SP ¢ PSW

1129 002566 013766 000700 000002 MOV SAEXPPSW,2(SP)

}}g? 002574 000002 RT!

1132 002576 S1T4: :SOURCET STRING

1133 002576 060 BYTE 60 :MOST SIGNIFICANT DIGIT

1134 002577 S2T4: :SOURCEZ2 STRING

1135 002577 060 BYTE 60 :MOST SIGNIFICANT DIGIT

}{%9 .EVEN

1138 002600 016737 176106 000010 ENDT4: MOV TEMP1,3410 :RESTORE TIMEOUT VECTOR CONTENTS

}}23 002606 016737 176102 000012 MOV TEMPZ2,a#12

1141

1142 JIRNRNRNARAARRREARAANRRERAANAARAAANAAAARAARRAANAAERARARACRARAANAS

1143 S*TEST 5 TEST *'ADDN'' BY ADDING TWO ZEROES WITH ZERO DESTINATION LENGTH
1144 IIANAAAAARARRARAR AN AERARARANRAARAAARRAAARRRA AR RACSAARACAS

1145 002614 000004 TSTS:  SCOPE

1146 002616 004567 012110 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
1147 002622 000001 1 sSOURCET1 LENGTH

1148 002624 002772 S175 sSOURCE1 ADDRESS

1149 002626 000001 1 sSOURCE2 LENGTH

1150 002630 002773 SerTs s SOURCEZ ADDRESS

1151 002632 000000 0 sDESTINATION LENGTH

1152 002634 004767 012164 JSR PC,CLBUF JCLEAR BUFFER AREA
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CVKAJB.P1 22=-JAN-82 08:4 TS5 TEST ''ADDN'' BY ADDING TWO 2EROES WITH ZERO DESTINATION LENGTH SEQ 0024
1153 002640 004567 012200 JSR RS , XPS«
1154 002644 000204 _WORD 204
1155 002646 004767 012106 JSR PC.GENR :SET UP GENERAL REGISTERS
1156 002652 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
1157 002654 000244 CLZ
}}gg 002656 076050 ADDN
1160 002660 106767 176012 MFPS CCODES :STORc RESULTANT PSW
1161 002664 042767 177400 176004 BIC #177400,CCODES CLEAR UNUSED BITS
1162 002672 023767 000700 175776 CMP SNEXPPSW,CCODES CHECK PSW AGAINST EXPECTED VALUE
1163 002700 00140 8EQ 648 :BR, IF EQUAL
}}gg 002702 104001 ERROR 1 ;;;t;;;t*ttttttTEST S = ERROR 1neaxnnsnnnannnns
1166 :EXPECTED PSW IS STORED AT °'SAVR6''
1167 ERRONEOUS SP VALUE IS AT 'BADR6
1168 002704 64S$:
1169 002704 005700 TST RO sCHECK RO=0
1170 002706 001401 BEQ 653
1171 002710 104002 ERROR P4 sennknesnavsansaTEST S = FRROR 2twansantantatnt
1172 ;RO SHOULD BE ZERO
1173 002712 005701 65%: TST R1 sCHECK R1=0
1176 002714 001401 BEQ 663
1175 002716 104003 ERROR 3 sannnnanansanada vt TEST 5 « ERROR Jrvvanvnnnenanes
1176 R1 SHOULD BE ZERO
1177 002720 005702 668: TST R2 +CHECK R2=0
1178 002722 0014601 BEQ 67%
1179 002724 104004 ERROR 4 shenensnnnsnanaseTEST S = ERROR 4rvaxnansnnansnn
1180 R2 SHOULD BE ZERO
1181 002726 005703 678: TST R3 sCHECK R3=0
1182 002730 001401 B8fQ 683
1183 002732 104005 ERROR § sannnnnnnseasettTEST 5 « ERROR Strvtnsnansnnnnse
1184 R3 SHOULD BE ZERO
1185 002734 020467 175714 68s$: CMpP R4 ,DSTLN CHECK R4= DESTINATION LENGTH
1186 002720 001401 BEQ 69%
1187 002742 104006 ERROR () tttttttttttttttTEST § « ERRIR Gtrrsennnnnntnnt
1188 R4 SHOULD STILL BE DESTINAT,ON LENGTH
18y 002744 020567 175706 698 : (0 R5,DSTAD CHECK RS = DESTINATION ADDRESS
1190 002750 001401 BEQ 708
1191 002752 104007 ERROR 7 snanannsnneanaanrTEST § = ERROR Txtteranatcaatns
1192 RS SHOULD STILL BE DESTINATION ADDRESS
1193 002754 023706 000702 70%: CMpP S#SAVR6,SP VERIFV STACK POINTER IS RESTORED
1194 002760 001403 B8EQ 718 BR IF 0K
1195 002762 010637 000704 MOV SP,a#BADRG :COPY BAD SP VALUE
1196 002766 104010 ERROR 10 *t*ttttt**tttttTEST S = ERROR 10txvansnnnnnanen
1197 STACK POINTER NO1 RESTORED 8Y INSTRUCTION
1198 EXPECTED SP IS STORED AT .SAVR6'
1199 :ERRONEOUS SP VALUE IS AT °‘BADRS’
1200 002770 718%:
1201 002770 000401 BR TSTé6 :BR TO NEXT TEST
1202 002772 S175: *SOURCEY STRING
1203 002772 060 BYTE 60 HOST SIGNIFICANT DIGIT
1204 002773 $2715: SOURCEZ STRING
}582 002773 060 .BYTE 60 HOST SIGNIFICANT DIGIT
1207 .EVEN
1208
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CVKAJB.P11 22=JAN=-82 08:49 5 TEST "'ADDN'' BY ADDING TWO ZEROES WITH ZERO DESTINATION LENGTH SEQ 0025
i
1211 I ENRRE AR AR RN R AR AARAA RN AR AR R AR EARREEANAR AN NS
1212 s*TEST 6 TEST "'ADDN'' WITH POSITIVE OPERANDS,SRC1 LENGTH .GT. SRC2 LENGTH, DL = NO
1213 R T R e e L D DL R DL A AL AL LR AL el ittt
12146 0027746 000004 TSTé:  SCOPE
1215 002776 004567 011730 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
1216 003002 000004 4 :SOURCE1 LENGTH
1217 003004 003176 S176 sSOURCE1 ADDRESS
1218 003006 000002 2 :SOURCE2 LENGTH
1219 0030i0 003202 $2T76 :SOURCEZ ADDRESS
1220 003012 000002 2 :DESTINATION LENGTH
1221 003014 004767 012004 JSR PC,CLBUF :CLEAR BUFFER AREA
1222 003020 004567 012020 JSR RS XPSW
1223 003024 000200 .WORD 200
1224 003026 004767 011726 JSR PC,GENR :SET UP GENERAL REGISTERS
1225 003032 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC*'S
}gg? 003034 076050 ADDN
1228 003036 106767 175634 MFPS CCODES :STORE RESULTANT PSW
1229 003042 042767 1776400 175626 8IC #1774075,CCODES :CLEAR UNUSED BITS
1230 003050 023767 000700 175620 CMP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
1231 003056 001401 BEQ 643 :BR, IF EQUAL
1232 003060 104001 ERROR 1 sennnnannaaasatsTEST 6 = ERROR 1rnantnnnntannns
1233 :PSW_ERROR .
1234 JEXPECTED PSW 1S STORED AT.'SAVR§'
1235 ;ERRONEOUS SP VALUE IS AT 'BADR6’’
1236 003062 648:
1237 003062 005700 TST RO :CHECK RO=0
1238 003064 001401 BEQ 65%
1239 003066 104002 ERROR 2 sevnnennnseceeanTEST 6 - ERROR CARRARAARRAARNNS
1240 ;RO SHOULD BE ZERO
1261 003070 005701 65$: TST R1 JCHECK R1=0
12642 003072 001401 BEQ 669
1243 003074 104003 ERROR 3 saennneannenntnsTEST 6 - ERROR TaasneansenNnnee
1244 :R1 SHOULD BE ZERO
1245 003076 005702 66$: TST RZ :CHECK R2=0
1246 003100 001401 BEQ 67%
1247 003102 1040064 ERROR 4 sannsananaxaa st aTEST 6 = ERROR Lnnannvavnntnnns
1248 :R2 SHOULD BE ZERO
1249 003104 005703 67%: TST R3 :CHECK R3=0
1250 003106 001401 BEQ 68
1251 003110 104005 ERROR 5 canxnnnsnnineenseTEST 6 ~ ERROR SennseRRaRRRRNRS
1252 :R3 SHOULD 8E ZERO
1253 003112 020467 175536 68%: CMP f4,DSTLN JCHECK R4= DESTINATION LENGTH
1256 003116 001401 BEQ 69§
1255 003120 104006 ERROR 6 sannnnnetaaavdavtTEST 6 = ERROR Grvrananannnnene
1256 - :R4 SHOULD STILL BE DESTINATION LENGTH
1257 003122 020567 175530 69$: CMP RS,.DSTAD :CHECK RS = DESTINATION ADDRESS
1258 003126 001401 BEQ 70%
1259 003130 104007 ERROR 7 sonnnnnenesans s TEST 6 - ERROR A2 17312222
1260 ;RS SHOULD STILL BE DESTINATION ADDRESS
1261 003132 023706 000702 708: CMP a#SAVR6G,SP :VERIFY STACK POINTER IS RESTORED
1262 003136 001403 8EQ 718 :BR IF 0K
1263 003140 010637 000704 MOV SP,a#BADR6 :COPY BAD SP VALUE
1264 003144 104010 ERROR 10 sannnannnsenssatTEST 6 = ERROR 10n¢assannnwnnnwse
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CVKAJB.P11 22~JAN-82 )8:49 6 TEST ''ADDN'' WITH POSITIVE OPERANDS,SRC1 LENGTH .GT. SRC2 LENGTH, DL = NO. SEQ@ 0025
1265 JSTACK POINTER NOT RESTORE? 8Y INSTRUCTION
1266 ;EXPECTED SP IS STORED AT ''SAVR6''

1267 :ERRONEOUS SP VALUE IS AT 'BADRé

1268 003146 718:

1269 JCHETK ANSWER

1270 003146 012700 003204 MOV #ANS6 RO ;POINT RO TO EXPECTED ANSWER

1271 003152 016701 175500 MOV DSTAD ,R1 JPOINY R1 TO RESULTANT ANSWER

1272 003156 016702 175472 MOV DSTLN,R2 ;STORE ANSWEK LENGTH IN R1

1273 003162 122021 72%: CMPB (RO)+,(R1)+ ;COMFARE EACH DIGITY

1274 003164 001401 BEQ 738 :BR IF EQUAL

1275 003166 104011 ERRCR 1 srannnnsanat®taTEST 6 = ERROR T1nntvsnnanaenenen
1276 ;ERRONEOQUS ANSWER

1277 ;RO CONTAINS THE PC+1 OF THE EXPECTED DIGIY
1278 JR1 CONTAINS THE PC+~1 OF THE RESULTANT DIGIT
1279 003170 005302 738: DE( R2 JDECREMENT ANSWER LENGTH

1280 003172 001373 BNE 72% :BR IF NOT FINISHED

1281 003174 000404 d8R TST7 :BR TO NEXT TEST

1282 003176 S1T76: sSOURCE1 STRING

1283 003176 060 .BYTE 60 sMOST SIGNIFICANT DIGIT

1284 003177 060 .BYTE 60

1285 003200 062 BYTE 62

1286 003201 061 BYTE 61

1287 003202 $2T6: sSOURCE2 STRING

1288 003202 067 BYTE 67 :MOST SIGNIFICANT DIGIT

1289 003203 070 BYTE 70

1290 003204 ANS6: :EXPECTED ANSWER

1291 003204 071 BYTE 71

1292 003205 071 BYTE N

1293

1294 .EVEN

15%

1297 JIARRANRRRARARAAERAAARAC AR CAARRRA P AR NAAARERACHRNRNRCRAARRARAE

1298 aTEST 7 TEST ‘'ADDN'' WITH NEGATIVE OPERANDS, S2L .GT. S1L, NO OVERFLOW
1299 SIRRRANRRARAERARR VAR RN R AR NR AN ARRAARRANRER A ARRARNRRRAAARAREY

1300 003206 000004 T1ST7:  SCOPE ) .

1301 003210 004567 011516 JSR R5 .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
1302 003214 000002 2 sSCURCE1 LENGTH

1303 003216 003412 S177 :SOURCE1 ADDRESS

1306 003220 000004 4 sSOURCEZ LENGTH

1305 003222 003414 Ser? :SOURCEZ ADDRESS

1306 003224 4 DESTINATION LENGTH

1307 003226 004767 011572 JSR PC,CLBUF sCLEAR BUFFER AREA

1308 003232 004567 011606 JSR RS  XPSW

1309 003236 000210 .WorD 210

1310 003240 004767 011514 JSR PC.GENR sSET UP GENERAL REGISTERS

1311 002244 000277 ScC :SET UP THE COMPLEMENT OF EXPECTED CC'S
1312 (03246 000250 CLN

}g}z 003250 076050 ADDN

1315 003252 106767 175420 MFPS CCODES sSTORE RESULTANY PSW

1316 003256 04;767 177400 175412 8IC #177600 CCODES ,CLEAR UNUSED BITS

1317 003264 023767 000700 175404 (4, 4 GIEXPPSU.CCODES cCHECK PSW AGAINST EXPECTED VALUE

1318 003272 G01401 BEQ 64 +BR, IF EQUAL

1319 003274 194001 ERROR | cannansennnastetTEST 7 = ERROR 1eeennnansennsnn
1320 ;PSW ERROR
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CVKAJB.P11 22=-JAN-82 0 TEST ''ADDN'' WITH NEGATIVE OPERANDS, S2L .GT. S1L, NO OVERFLOW SEQ 0027
1321 sEXPECTED PSW IS STORED AT '$AVR§“
1322 ;ERRONEOUS SP VALUE IS AT 'BADR6
1323 003276 648:
1326 003276 005700 TST RO :CHECK RO=0
1325 003300 001401 BEQ 65%
1326 003302 104002 ERROR é sennnnannnsaneatTEST 7 = ERROR 2eetenenntdneans
132/ :RO SHOULD BE ZERO
1328 003304 005701 65%: TST R1 . CHECK R1=0
1329 003306 001401 BEQ 66¢
1330 003310 104003 ERROR 3 sanankannnennsaesTEST 7 - ERROR Jeanneenenatateee
1331 ;R1 SHOULD BE ZERO
1332 003312 005702 66%: TST R2 :CHECK R2=0
1333 003314 001401 BEQ 67%
1334 003316 1064004 ERROR 4 sunennneasannnansTEST 7 = ERROR é4rrnsanntnnsnter
1335 ;R2 SHOULD BE ZERO
1536 003320 005703 67%: TST R3 :CHECK R3=0
1337 003322 001401 BEQ 68$
1338 003324 104005 ERROR S sanennnnnnnanatttTEST 7 - ERROR Seananeannetasen
1339 sR3 SHOULD BE ZERO
1340 003326 020467 175322 68S$: CMP R4 ,DSTLN :CHECK R&4= DESTINATION LENGTH
1341 003332 001401 BEQ 69$
1342 003334 104006 ERROR 6 canenannnnaveavsTEST 7 = ERROR Otrtnnnnsastnttnt
1343 ;R4 SHOULD STILL BE DESTINATION LENGTH
1344 003336 020567 175%14 69%: CMP RS,.DSTAD :CHECK RS = DESTINAT:ON AJDRESS
1345 003342 001401 BEQ 708
1346 003344 104007 ERROR 7 sunnga. nnenenanaTEST 7 = ERROR 7strantsnsttttes
1347 ;RS SHOULD STILL BE DESTINATION ADDRESS
1348 003346 023706 000702 708 : CMP 8#SAVR6, SP JVERIFY STACK POINTER IS RESTORED
1349 003352 001403 8EQ 718 ;BR IF 0K
1350 003354 010637 000704 MOV SP,a#BADR6 :COPY BAD SP VALUE
1351 003360 104010 ERROR 10 sannnnnnnnanntaaTEST 7 = ERROR 10¢tnvennnevennee
1352 :STACK POINTER NOT RESTOREP BY IQSTRUCTION
1353 ;EXPECTED SP IS STORED AT ®'SAVR6!
1354 :ERRONEOUS SP VALUE IS AT 'BADR6'’
1355 003362 718:
1356 ;CHECK ANSWER
1357 003362 012700 003420 MOV #ANS?7 R0 :POINT RO TO EXPECTED ANSWER
1358 093 016701 175264 MOV DSTAD ,R1 :POINT R1 TO RESULTANT ANSWER
1359 003372 016702 175256 MOV DSTLN,R2 :STORE ANSWER LENGTH IN R1
1360 003376 122021 72%: CMPB (RO)+,(R1)+ :COMPARE EACH DIGIT
1361 0034 001401 BEQ 738 JBR IF EQUAL
1362 003402 104011 ERROR 11 sananeanneanasaseTEST 7 ~ ERROR 1itesesennnnenner
1363 :ERRONEQUS ANSWFR
1364 :RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
1365 :R1 CONTAJNS THE PC+1 OF THE RESULTANT DIGIY
1366 003404 005302 73$: DEC R2 ;DECREMENT ANSWER LENGTH
1367 003406 001373 BNE 72% :BR IF NOT FINISHED
1368 003410 000405 B8R TST10 :8R TO NEXT TEST
1369 003412 S1T7: :SOURCE1 STRING
1370 003412 063 BYTE 63 :MOST SIGNIFICANT DIGIT
1371 003413 165 BYTE 165
1372 003414 $2T17: :SOURCE2 STRING
1373 003414 060 BYTE 60 :MOST SIGNIFICANT DIGIT
1374 003415 071 BYTE N
1375 003416 066 BYTE 66
1376 003417 165 .BYTE 165
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TEST ''ADDN'' WITH NEGATIVE OPERANDS, S2L .GT. S1L, NO OVERFLOW

.BYTE
.BYTE
.BYTE
.BYTE

.EVEN

—2ONONON
OO —

sEXPECTED ANSWER
;MOST SIGNIFICANT DIGIT

':lt*ttttttittttttttttttttttttttttttit'ltt'.ttt'*ttt'it*tﬁﬁttﬁ*i'

TEST ''ADDN'* WITH NEGATIVE OPERANDS, OVERFLOW

AR RAAANRNNRAR AN RRARANA AR AANAARAALRAAARREARAANRANARAAAAARAACOCY

T*TEST 10
t§110: scoPe
JSR zs.upnep
S1T10
2
32110
JSR PC.CLBUF
JSR RS . XPSW
_WORD 212
JSR PC.GENR
+SEZ'SEC
+CLNICLV
ADDN
MFPS  CCO
BIC
CMP
BEQ 64$
ERROR 1
64$:
ST RO
BEQ 65$
ERROR 2
658:  TST R1
BEQ 66$
ERROR 3
66$: TST R2
BEQ 678
ERROR &
67$: TST R3
BEQ 68$
ERROR §
68$: CMP R4 DSTLN
BEQ 69§
ERROR

DES
#177400,CCODES
S#EXPPSW,CCODES

;PREPARE ARGUMENTS FOR INSTRUCTION TEST
s SOURCET LENGTH

:SOURCE1 ADDRESS

s SOURCE2 LENGTH

:SOURCE2 ADDRESS

;DESTINATION LENGTH

;CLEAR BUFFER AREA

JSET UP GENERAL REGISTERS
sSET UP THE COMPLEMENT OF EXPECTED CC'S

;STORE RESULTANT PSW

sCLEAR UNUSED BITS

:CHECK PSW AGAINST EXPECTED VALUE

:BR, IF EQUAL

sanknnnknnsenewsTEST 10 = ERROR 1ttanrnnnsnannnn
;PSW ERROR

:EXPECTED PSW IS STORED AT, °'SAVRG'

:ERRONEOUS SP VALUE IS AT °‘BADR6

:CHECK RO=0

sonnannnsnansnsaTEST 10 = ERROR 2vrnsnnannnanney

;RO _SHOULD BE ZERO
;CHECK R1=0

sannnnnnnaennasaaTEST 10 = ERROR Jrennnascnsnnene

:R1 SHOULD BE ZERO
:CHECK R2=0

sesnnnnannanatadtTEST 10 = ERROR 4rvnvnnnnnenvnne

:R2 SHOULD BE ZERO
sCHECK R3=0

casansasatnattttTEST 10 = ERROR Sesnsansssasanee

*R3 SHOULD BE ZERO
SCHECK R4= DESTINATION LENGTH

sannannanntwatttJEST 10 = ERROR Htreeettassesnnne

;R4 SHOULD STILL BE DESTINATION LENGTH

SEQ 00-8
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JMAIN  MACY11 30(1046) 22-JAN-82 08:50 PAGE 30
8:49 T10

CVKA.'8.P11 22~JAN-82 0 TEST "ADDN'* WITH NEGATIVE OPERANDS, OVERFLOW SEQ 0029
1433 003554 020567 175076 69$: (4 RS ,DSTAD sCHECK R5 = DESTINATION ADDRESS
1634 003360 031401 BEQ  70%
1435 003562 104007 ERROR 7 sennennnteasdaadaTEST 10 = ERROR 7wessananneeeeee
1436 ;RS SHOULD STILL BE DESTINATION ADDRESS
1437 003564 023706 000702 708: P S#SAVR6E, SP sVERIFY STACK POINTER IS RESTORED
1438 003570 001403 BEQ 718 ;BR_IF 0K
1439 003572 010637 000704 MOV SP, @#BADRG :COPY BAD SP VALUE
16440 003576 104010 ERROR 10 snennannennaanadTEST 10 = ERROR 10tteennacennnane
16461 :STACK POINTER NOT RESTORED 8Y INSTRUCTION
1442 ;EXPECTED SP IS STORED AT ®'SAVRG':
1643 ;ERRONEOUS SP VALUE IS AT °BADR6
1444 003600 7i3
1445 ;CHECK ANSWER
1446 003600 012700 003636 MOV #ANS10,RO ;POINT RO TO EXPECTED ANSWER
16447 003604 016701 175046 MOV DSTAD ,R1 sPOINT R1 TO RESULTANT ANSWER
16448 003610 016702 175040 MOV DSTLN,R2 sSTORE ANSWER LENGTH IN R1
16449 003614 122021 728: CMP8 (RQ)+,(R1)+ :COMPARE EACH DIGIT
1450 003616 001401 BEQ 738 ;BR IF EQUAL
1451 003620 104011 ERROR 11 sennnaaneataanaTEST 10 = ERROR 11nnntnnevcnennne
1452 ;ERRONEOUS ANSWER
1453 ;RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
1454 sR1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
1455 003622 005302 738: DEC R2 :DECREMENT ANSWFR LENGTH
1456 003624 001373 BNE 728 :BR IF NOT FINISHED
1457 003626 0004604 BR ST :BR TO NEXT TEST
1458 003630 S1110: :SOURCE1 STRING
1459 003630 060 .BYTE 60 ;MOST SIGNIFICANT DIGIT
1460 003631 061 BYTE 61
1461 003632 062 BYTE 62
1462 003633 163 BYTE 163
1463 003634 $2T10: ;SOURCE2 STRING
1464 003634 065 .BYTE 65 :MOST SIGNIFJICANT DIGIT
1465 003635 164 BYTE 164
1466 003636 ANS10: sEXPECTED ANSWER
1467 003636 067 .BYTE 67 sMOST SIGNIFICANT DIGIT
1468 003637 167 BYTE 167
1469
1470 .EVEN
e
11.73 ;;tttttttttttttttttttttt'tttttttttttttttttttttttttttttttttttttttt
1474 S*TEST 1 TEST “ADDN'‘ WITH POSITIVE OPERANDS, S2L=S1L,OVERFLOW
14/) ;;tttttttttttttttttttttttt'ttttttttttﬁttttﬁtttttttttttttttttttttt
1476 003640 000004 TST11: SCOPE
1477 003642 004567 011064 JSR RS .NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
1478 003646 000002 2 ;SOURCET LENGTH
1479 003650 004044 s1Ti sSOURCE1 ADDRESS
1480 003652 000002 2 ;SOURCE2 LENGTH
1481 003654 004046 Y4k s SOURCE2 ADDRESS
1482 003656 000002 2 SDESTINATION LENGTH
1483 003660 004767 011140 JSR PC,CLBUF sCLEAR BUFFER AREA
1484 004567 011154 JSR RS, XPSW
1485 003670 000206 .WORD 206
1486 003672 004767 011062 JSR PC.GENR ;SET UP GENERAL REGISTERS
1487 003676 000271 +€7 M SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
1488 003700 000246 +  .CLv
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003702

22-JAN-82 0

076050

106767
042767
023767
001401
104001

020567
001401
104007

023706
001403
010637
104010

174766
1776400 174760
000700 174752

174670
174662

000702
000704

004050
174632
174624

ZZ-JAN-BZ 08: 50 PAGE 31
8:4 TEST "ADDN'’ WITH POSITIVE OPERANDS, S2L=STL,OVERFLOW

64$:

65%:
66$:
678:
68$:
69$:

708 :

718:

728:

73%:

ADDN

MFPS
BIC
CMP
BEQ
ERROR

TST
ERROR

TST
8EQ
ERROR

TST
8EQ
ERROR

TST
BEQ
ERROR

~

BEQ
ERROR

CMP
BEQ
ERNROR

CMP
BEQ
MOV
ERROR

MOV
MoV
MOV

BEQ
ERROR

DEC
B8R

CCODES

#177400,CCODES
22%XPPSU.CCODES

RO
65%

R2

678

4

R3

68$

S

R4, DSTLN
69§
6
RS,DSTAD
70$
14
aNSAVR6, SP
718

SP, a#BADR6
10

#ANS11,RO
DSTAD,A1
DSTLN.R2
(RO)+,(R1)+
738

1

R2
728
TST12

;STORE RESULTANT PSW

CLEAR UNUSED BITS

CHECK PSW AGAINST EXPECTED VALUE

;sBR, IF EQUAL

Juet ‘aantaek st TEST 11 = ERROR 1veavesttenatten
:PSW_ERROR .

EXPECTED PSW IS STORED AT '‘SAVRG

ERRONEOUS SP VALUE IS AT 'BADR6

:CHECK RO=0

suannnennnaanswtaTEST 11 = ERROR 2twenevvnaentete

;RO _SHOULD BE 2ERC
;CHECK R1=0

sannarnnnsaaneneTEST 11 =~ ERROR Jnnnnvnnnnvnnenn

:R1_SHOULD BE ZERO
: CHECK R2=0

sannnnnanneensntTEST 11 = ERROR 4rvwanttanvnnans

:R2 SHOULD BE ZERO
:CHECK R3=0

sennnnwnaanaatsdTEST 11 = ERROR Sevenrnnsnnvannen

:R3 SHOULD BE ZERO
;CHECK R4= DESTINATION LENGTH

sannnnennareansaTEST 11 = ERROR 6rotnnnannnnnees

;R4 SHOULD STILL BE DESTINATION LENGTH
:CHECK RS = DESTINATION ADDRESS

sunnnnnnnnnnanassTEST 11 = ERROR 7ttvtesnnnnvenne

RS SHOULD STILL BE DESTINATION ADDRESS
sVERIFY STACK POINTER IS RESTORED

BR IF 0K

:COPY BAD SP VALUE

tttitttttttﬁtttTEST 11 = ERROR 10ttrsasnnenstnns
STACK POINTER NOTY RESTOﬂEp BY INSTRUCTION
EXPECTED SP IS STORED AT SAVRbn

ERRONEOUS SP VALUE IS AT 'BADRG

;CHECK ANSWER
POINT RO TO EXPECTED ANSWER
POINT R1 TO RESULTANT ANSWER
STORE ANSWER LENGTH IN R1
COHPARE EACH DIGIT
BR IF EQUAL
tttttttttttttltTEST 11 = ERROR 11sraesasannntene
ERRONEOUS ANSUWER
RO CONTAINS THE PC+1 OF THE EXPECTYED DIGIT
R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
DECREHENT ANSWER LENGTH
BR IF NOT FINISHED
BR TO NEXT TEST

SEQ 0030
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CVKAJB.P11 22=JAN=-82 08:49 TEST "'ADDN’' WITH POSITIVE OPERANDS, S2L=S1L,OVERFLOW SEQ 0031
1545 0046044 S1T11: 2SOURCE1 STRING
1546 004044 063 BYTE 63 ;MOST SIGNIFICANT DIGIT
1547 Q04045 062 .BYTE 62
1548 004046 S2eTi: :SOURCE2 STRING
1549 004046 066 .BYTE 66 :MOST SIGNIFICANT DIGIT
1550 004047 070 BYTE 70
1531 004050 ANS11: ;EXPECTED ANSWER
1552 004050 060 BYTE 60
1553 004051 060 .BYTE 60
1554
1555 .EVEN
1287
1558 IIRARARARRRARRR AR RN RN LR RAAAAAAAARRANNRAAANERAAA AR CRANACAAAS
1559 ;*TEST 12 TEST ADDN WITH NEGATIVE OPERANDS, S2L=S1L,OVERFLOW CARRY
1560 MR NARAREA AN AN SRR RN ENCRENERARANARAAANEAARRAANRARARN NS
1561 004052 000004 TST12: SCOPE
1562 004054 004567 010652 JSR R5 ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
1563 004"<0 000002 2 sSOURCET LENGTH
1564 004uvo2 004256 S1T12 :SOURCE1 ADDRESS
1565 004064 (000002 2 :SOURCE2 LENGTM
1566 004066 004260 S2T12 :SOURCE2 ADDRESS
1567 004070 000001 1 JDESTINATION LENGTH
1568 004072 004767 010726 JSR PC,CLBUF ;CLEAR BUFFER AREA
1569 004076 004567 010742 JSR RS XPSW
1570 004102 000212 _WORD 212
1571 004104 004767 010650 JSR PC.GENR ;SET UP GENERAL REGISTERS
1572 004110 000265 +SEZ!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
1573 004112 000252 : +CLN!CLYV
}g;g J04114 076050 ADDN
1576 004116 106767 174554 MFPS CCODES :STORE RESULTANT PSW
1577 004122 042767 177400 174546 BIC #M177400,CCODES ;CLEAR UNUSED BITS
1578 004130 023767 000700 174540 WP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
1579 004136 001401 BEQ 643 ;BR, IF EQUAL
1580 004140 104001 ERROR 1 cantnnannneansesTEST 12 = ERROR 1xsnssransnnnnnn
1581 :PSW ERROR
1582 SEXPECTED PSW IS STORED AJ.'SAVRg"
1583 :ERRONEOUS SP VALUE IS AT ‘BADR6’’
1584 004142 64$:
1585 004142 005700 TST RO :CHECK RO=0
1586 004144 001401 BEQ 65%
1587 004146 104002 ERROR P4 sannnnnannaneannaTEST 12 = ERROR 2ttttnasaasatats
1588 ;R0 SHOULD BE ZERO
1589 004150 005701 65%: TST R1 sCHECK R1=0
1590 004152 001401 BEQ 66$
1591 004154 104003 ERROR 3 sennnneannnensaeTEST 12 - ERROR L3232 TI T2 Y
1592 sR1 SHOULD BE ZERO
1593 004156 005702 66S$: TST R2 :CHECK R2=0
1564 004160 001401 BEQ 67%
1595 006162 104004 ERROR 4 sennnnnnnenntatsTEST 12 = ERROR 4rtennnnnntanees
1596 .R2 SHOULD BE Z2ERO
1597 004164 005703 67%: TST R3 s CHECK R3=0
1598 004166 001401 BEQ 68$%
1599 004170 104005 ERROR 5 sanxeanansnnnnesTEST 12 = ERROR Statrsesnanennen
1600 :R3 SHOULD BE ZERO
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08:49 T12

CVKAJB.P11 22=-JAN-82 TEST ADDN WITH MEGATIVE OPERANDS, S2L=S1L,OVERFLOW CARRY SEQ 0032
1601 004172 020467 174456 68$: CMpP R4 ,DSTLN :CHECK Ré4= DESTINATION LENGTH
1602 004176 001401 BEQ 69$
1603 0064200 104006 ERROR é :tttttttttttltttTEST 12 = ERROR freasnenaneantttsd
1604 R4 SHOULD STILL BE DESTINATION LENGTH
1605 004202 020567 174450 69%: CMP RS,DSTAD :CHECK RS = DESTINATION ADDRESS
1606 004206 001401 BEQ 708
1607 004210 104007 ERROR 7 suvannnnnaannensTEST 12 = ERROR 7evnnennnennanen
1608 . :RS SHOULD STILL BE DESTINATION ADDRESS
1609 004212 023706 000702 708 : (], @#SAVR6,SP :VERIFY STACK POINTER IS RESTORED
1610 004216 001403 BEQ 718 :BR IF 0K
1611 004220 010637 000704 MOV SP,a#BADRG :COPY BAD SP VALUE
1612 004224 104010 ERROR 10 sunnannannantnanaTEST 12 = ERROR 10vnenntanenanene
1613 :STACK POINTER NOT RESTOREP 8Y INSTRUCTION
1614 SEXPECTED SP IS STORED AT '‘SAVRG'®
1615 :ERRONEOUS SP VALUE IS AT 'BADR6
1616 004226 718:
1617 JCHECK ANSWER
1618 004226 012700 004262 MOV #ANS12 RO :POINT RO TO EXPECTED ANSWER
1619 004232 016701 174420 MOy DSTAD ,R1 ;POINT R1 TO RESULTANT ANSWER
1620 004236 016702 174412 MOV DSTLN.RZ2 ;STORE ANSWER LENGTH IN R1
1621 004242 122021 72%: CMP8 (RO)+,(R1)+ :COMPARE EACH DIGIT
1622 004244 001401 BEQ 738 ;BR [F EQUAL
1623 004246 1046011 ERROR 11 JannneanaaanntdaTEST 12 = ERROR 11xnnnarsnnneaneen
1624 :ERRONEOUS ANSWER
1625 RO CONTAINS THE PC+1 OF THE EAPECTED DIGIT
1626 :R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
1627 004250 005302 73%: DEC R2 ;DECREMENT ANSWER LENGTH
1628 004252 001373 BNE 72% :BR IF NOT FINISHED
1629 004254 000403 B8R TST13 :BR TO NEXT TEST
1630 004256 S1T12: ;SOURCET STRING
1631 004256 066 BYTE 66 :MOST SIGNIFICANT DIGIT
1632 004257 161 .BYTE 161
1633 004260 seT12: :SOURCEZ2 STRING
1634 004260 064 BYTE 64 :MOST SIGNIFICANT DIGIT
1635 004261 165 .BYTE LA
1636 004262 ANS12: :EXPECTED ANSWER
}2;; 004262 166 BYTE 166
1639 004264 .EVEN
160
1642 N ' 2233333232223 23223323732332323233 2313223333238 3231342323233 233433483232313]
1643 :«TEST 13 TEST "'ADDN'' WITH +SRC1 & -SRC2, ZERO RESULTY
1644 Rt Lt L et e e e L e e O e A e L L
1645 0046264 fsr13:  score
1646 004266 004567 010440 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
1647 004272 000001 1 :SOURCE1 LENGTH
1648 004274 004442 S1T13 :SOURCE1 ADDRESS
1649 004276 000001 1 :SOURCE2 LENGTH
1650 004300 004443 S2T13 ;SOURCEZ2 ADDRESS
1651 004302 000000 0 :DESTINATION LENGTH
1652 0046304 004767 010514 JSR PC,CLBUF :CLEAR BUFFER AREA
1653 004310 004567 010530 JSR RS  XPSW
1654 004314 000204 LWORD 204
1655 004316 004767 010436 JSR PC,.GENR ;SET UP GENERAL REGISTERS
1656 004322 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
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000244
076050

020467
001401
104006

020567

104010

000401
063
163

176342
177400 174334
000700 174326

174244
174236

000702
000704

ZZ-JAN-BZ 08: 5013PAGE 34

648:

658%:

66S$:

67%:

68$:

69%:

708:

718:

S1713:
S2T13:

H 3

TEST "'ADDN'* WITH +SRC1 & -GRC2, ZERO RESULT

CLZ
ADDN

MFPS
8IC
CMP

BEQ
ERROR

TST
ERROR
TST
BEQ
ERROR
TST
ERROR
TST
BEQ
ERKOR
CMP
BEQ
ERROR
CMP
BEQ
ERRNR

CMP
BEQ

ERROR

BR

.BYTE
.BYTE
.EVEN

-dth‘rhfﬁ
SH{p—ar
osmVyo
MK NOD
oasm
e l=]17]
wno
-

O —> wVio
» L ]

~NN

SO0 WO MNOD
(]

wVo D
ool
(")

R4 ,DSTLN
g9i

RS,DSTAD
708
7
aNSAVRG, SP
718
SP,a#BADR6
10

TST14
63
163

CCODES
.CCODES ;

:STORE RESULTANT PSW

CLEAR UNUSED BITS

*CHECK PSW AGAINST EXPECTED VALUE

BR IF EQUAL

tttttttt'ttttttTEST 13 = ERROR 1ttnsneerasatnee
PSH ERROR

EXPECIED PSW 1S STORED AT '%AVRp“

ERRONEOUS SP VALUE IS AT 'BADRG'’

:CHECK RO=0

sennnentnneasaeaTEST 13 = ERROR 2entnenennneenne

;RO _SHOULL BE ZERO
;CHECK R1=0

sannnannenneneaeTEST 13 = ERROR 3nennnevananstnnn
;R1_SHOULD SE ZERO
sCHECK R2=0

cannnnnnnntt st sTEST 13 ~ ERROR 4rvennnnnennnene

:R2 SHOULD BE ZERO
:CHECK R3=0

sunnnnnnnantaatsTEST 13 = ERROR Sevannvnnevvanes

:R3 SHOULD BE ZERO
sCHECK Ré4= DESTINATION LENGTH

sunnnnnenanantttTEST 13 = ERROR Grannsnnsnnnenee

:R& SHOULD STILL BE DESTINATION LENGTH
sCHECK R5 = DESTINATION ADDRESS

sannnnnanenaneesTEST 13 - ERROR 1422312321121 112

;RS SHOULD STILL BE DESTINATION ADDRESS
VERIFYOETACK POINTER IS RESTORED

;:BR IF

;COPY BAD SP VALUE

tttttttttttttttTEST 13 = ERROR 10teasasnsasanens
STACK POINTER NOT RESTORED BY INSTRUCTION
:EXPECTED SP IS STORED AT 'SAVR6':

ERRONEOUS SP VALUE IS AT 'BADRG

s8R TO NEXT TEST
:SOURCET STRING

;MOST SIGNIFICANT DIGIT
:SOURCE2 STRING

;MOST SIGNIFICANT DIGIT

AN RARNRNRNEANE AN AR EAC A AR ER AR R AANAARRRARACANNRRARARAANNARERARANN

tTEST 14

TEST *ADDN'' WITH =SRC1 & +SRC2, StL .LT. S2L, /S2/ .GT. /81/

t*ttt..ttt'ttttttttﬁttt'ﬁtttttﬁﬁttttttt'ttIttttt...t.t'.i".t"

SEQ 0033
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CVKAJB.P11 22=JAN-82 08:49 T14 TEST "ADDN'’ WITH =SRC1 & ¢SRC2, SIL .LT. S2L, /S2/ .GT. /S1/ SEQ 0034
1713 004444 000004 TST14: SCOPE
1714 004446 004567 010260 JSR RS _NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
17215 004452 000003 3 :SOURCE1 LENGTH
1716 004454 004650 S1T14 :SOURCE1 ADDRESS
1717 004456 000004 4 sSOURCEZ LENGTH
1718 004460 004653 $2T14 sSOURCEZ2 ADDRESS
1719 004462 00000% 2 SDESTINATION LENGTH
1720 004464 004767 010334 JSR PC,CLBUF :CLEAR BUFFER AREA
1721 004470 004567 010350 JSR RS XPSW
1722 004474 ooo;w JWORD 210
1723 004476 004767 010256 JSR PC,GENR :SET UP GENERAL REGISTERS
1724 004502 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
1725 004564 000250 CLN
};gg 004506 076050 ADDN
1728 004510 106767 174162 MF°S CCODES :STORE RESULTANT PSW
1729 0045146 042767 177400 174154 BIC #177400,CCODES ;CLEAR UNUSED BITS
1730 004522 023767 000700 174146 CMpP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
1731 004530 001401 B8FQ 648 ;BR, IF EQUAL
1732 004532 104001 E "ROR 1 cunnnnnnnanansanTEST 16 = ERROR 1tarasnsesannnnt
1733 ;PSW ERROR
1734 JEXPECTED PSW IS STORED AT ''SAVRG''
1735 :ERRONEOUS SP VALUE IS AT ‘BADRG'’
1736 004534 64S$:
1737 004536 005700 TST RO :CHECK RO=0
1738 004536 001401 BEQ 65%
1739 004540 104002 ERROR b sananhannansaeatTEST 14 = ERROR 2%tntssnsnnnnnse
1740 ;RO SHOULD BE ZERO
1741 004542 005701 65$: TST R1 :CHECK R1=0
1742 004544 001401 BEQ 663
1743 0045646 104003 ERROR 3 sansnenannnnanesTEST 14 = ERROR Jttnanenantensnse
1744 :R1 SHOULD BE ZERO
1745 004550 005702 66$: TST R2 :CHECK R2=0
1746 004552 001401 8EQ 67%
17647 004554 104004 ERROR 4 sannnenkonenneneTEST 14 = ERROR 4anrssnnantnnnee
1748 :R2 SHOULD BE ZERO
1749 004556 05703 67%: TST R3 :CHECK R3=0
1750 004560 001401 BEQ 68$
1751 004562 10005 ERROR 5 sennansnnnnanssnTEST 14 = ERROR Setnssantannnvnn
1752 :R3 SHOULD BE ZERO
1753 004564 020467 174064 68$: (o R4 DSTLN sCHCCK R&4= DESTINATION LENGTH
1754 004570 001401 BEQ 69%
1755 004572 104006 ERROR é shennannnnaantansTEST 14 = ERROR 6reannsnnannsnns
1756 :Ré SHOULD STILL BE DESTINATION LENGTH
1757 004574 020567 174056 69$: CMP R5,DSTAD sCHECK RS = DESTINATION ADDRESS
1758 004600 00,401 BEQ 708
1759 0064602 104C07 ERROR 7 snnnaanneanasasTEST 14 ~ ERROR 1422231 23222221L]
1760 RS SHOULD STILL BE DESTINATION ADDRESS
1761 004604 023706 000702 708: (0, ' @#SAVRG, SP :VERIFY STACK POINTER 1S RESTORED
1762 004616 001403 B8EQ 718 ;BR IF OK
1763 004612 010637 000704 MoV SP,348ADRG :COPY BAD SP VALUE
1764 004616 104010 ERROR 10 sunnnnsnnnansessJEST 14 -~ ERROR 10tnannnnnnannver
1765 - STACK _POINTER NOT RESTORED BY INSTRUCTION
1766 JEXPECTED SP IS STOREL AY .SAVij
1767 :ERRONECUS SP VALUE IS AT '3ADRG™’
1768 004620 718:
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72$:

73%:

S1T14:

S2T14:

ANS14:

36
TEST "'AD

MOV
MOV
MOV
CMPB
BEQ
ERROR

DEC
BNE
8R

.BYTE
.BYTE
.BYTE

.BYTE
.BYTE
.BYTE
.BYTE

.BYTE
.BYTE

.EVEN

J 3

DN'' WITH =SRC1 & +SRC2, S1L .LY. Ss2L, /S2/ .GT. /S8V/ SEQ 0035
JCHECK ANSWER

#ANS14 RO :POINT RO TO EXPECTED ANSWER

DSTAD ,R1 :POINT R1 TO RESULTANT ANSWER

DSTLN,R2 ;STORE ANSWER LENGTH IN R1

(RO)+,(R1)+ :COMPARE EACH DIGIT

73% :BR IF EQUAL

1" sennnennnannaaasTESY 14 = ERROR 11tsasanenseeenne

;ERRONEOUS ANSWER
;RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
sR1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT

R2 sDECREMENT ANSWER LENGTH
723 ;BR IF NOT FINJISHED
TST15 ;BR TO NEXT TEST
:SOURCE1 STRING
gz ;MOST SIGNIFICANT DIGIT
64
;SOURCE2 STRING
98 sMOST SIGNIFICANT DIGIT
63
17
sEXPECTED ANSWER
?ZS ;MOST SIGNIFICANT DIGIT

s e ARARANEARNARARAARARAINA AR RARNNRANARNNCAAARAANAIRAAOEARARARARN

T2TEST 15

::ttitttttitttttttttttt'ittt'tﬁtltlQ.tttttttttttttttit'tttttttttt

TST1S:

173736
173730

648

SCOPE
JSR

JSR

JSR

. WORD
JSR
+SEN!SEC
+CLZICLV
ADDN

MFPS

TEST *ADDN'' WITH +SRC1 & -SRC2, S1L .GT. S2L, /S2 .GT. /S1/, OVERFLOW

R5 ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
* ;SOURCE1 LENGTH

1715 sSOURCE1 ADDRESS

3 sSOURCEZ LENGTH

<2115 sSOURCE2 ADDRESS

2 sDESTINATION LENGTH

PC,CLBUF sCLEAR BUFFER AREA

ggGXPSH

PC,GENR sSET UP GENERAL REGISTERS

;SET UP THE COMPLEMENT OF EXPECTED CC'S

C sSTORE RESULTANT PSW

CODES
BIC #177400,CCODES ;CLEAR UNUSED BITS

CMP
BEQ
ERROR

SWEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

64% :BR, IF EQUAL
1 sannennnsnsaxattTEST 15 « ERROR Teanenanennennnan
:PSW _ERROR

;EXPECTED PSW IS STORED AT ‘‘SAVR6'’
;ERRONEOUS SP VALUE IS AT ‘BADRG"
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CVKAJB.P11 22=-JAN-82 08:49 TEST "ADDN'’ WITH +SRC1 & =SRC2, S1L .GT. S2L, /S2 .GT. /S1/, OVERFLOW SEQ 0036
1825 004752 005700 TST RO :CHECK RO=0
1826 004754 001401 BEQ 658
1827 004756 104002 ERROR 2 sennnnannanatadaTEST 15 = ERROR 2eeentnnnenaeeny
1828 ;RO SHOULD BE ZERO
1829 004760 005701 65$%: TST R1 :CHECK R1=0
1830 004762 001401 BEQ 663
1831 004764 104003 ERROR 3 sevananansnennssTEST 15 = ERROR 3nesnasnsvanenne
1832 sR1 SHOULD BE ZERO
1833 004766 005702 66$: TST R2 sCHECK R2=0
1834 004770 001401 BEQ 67%
1835 004772 104004 ERROR 4 ;u"nnntnul’EST 15 = ERROR 4rasansnnannanee
1836 :R2 SHOULD BE ZERO
1837 004774 005703 67$: TST R3 sCHECK R3=0
1838 004776 001401 BEQ 68%
1839 005000 104005 r2R0R 5 shknanknnanesnaeTEST 15 = ERROR Stantnananansnte
1840 :R3 SHOULD BE ZERO
1841 005002 020467 173646 68S$: CMP R4 ,DSTLN :CHECK R&= DESTINATION LENGTH
1842 005006 001401 BEQ 69%
1843 005010 104006 ERROR é ;uuttununﬂfsr 15 = ERROR Grasasaasnrtaenn
1844 :R& SHOULD STILL BE DESTINATION LENGTH
1845 005012 020567 173640 69%: CMP RS5,DSTAD :CHECK RS = DESTINATION ADDRESS
1846 005016 001401 BEQ 708
1847 005020 1046007 ERROR 7 sannnansenanacasTEST 15 = ERROR 7tttastnnatnttns
1848 RS SHOULD STILL BE DESTINATION ADDRESS
1849 005022 023706 000702 70$: CMP @#SAVRG, SP :VERIFY STACK POINTER IS RESTORED
1850 005026 001403 BEQ 718 sBR IF 0K
1851 005030 010637 000704 MOV SP,a#BADR6 ;COPY BAD SP VALUE
1852 005034 104010 ERROR 10 sannnnnnansnataadTEST 15 = ERROR 10tvesnannnnateny
1853 sSTACK POINTER NOT RESTORED 8Y IN§TRUCTION
1854 :EXPECTED SP IS STORED AT °'‘SAVR6
1855 :ERRONEOUS SP VALUE IS AT 'BADRG'’
1856 005036 718:
1857 sCHECK ANSWER
1858 005036 012700 005075 MOV #ANS15 ,RO :POINT RO TO EXPECTED ANSWER
1859 005042 016701 173610 MOV DSTAD ,R1 sPOINT R1 TO RESULTANT ANSWER
1860 005046 016702 173602 MOV DSTLN,R2 :STORE ANSWER LENGTH IN R1
1861 005052 122021 72%: (MPB (RO)+,(R1)+ :COMPARE EACH DIGIT
1862 005054 001401 BEQ 73% :BR IF EQUAL
1863 005056 104011 ERROR 11 sanxnansaaas ket TEST 15 = ERROR 11anteanensannnnane
1864 :ERRONEOUS ANSWER
1865 :RO CONTAINS THE PC+1 OF THE EXPECTED DIGITY
1866 :R1 CONTAINS THE PC+1 OF THE RESULTANT DIGITY
1867 005060 005302 73%: DEC R2 :DECREMENT ANSWER LENGTH
1868 005062 001373 BNE 72$ :BR IF NOT FINISHED
1869 005064 000405 BR TIST16 :BR TO NEXT TEST
187¢ 005066 S1T15: :SOURCE1 STRING
1371 005066 060 BYTE 60 :MOST SIGNIFICANT DIGIT
1872 005067 060 BYTE 60
1873 005070 067 BYTE 67
1874 005071 163 .BYTE 163
1875 005072 S2T1S: :SOURCE2 STRING
1876 005072 061 BYTE 61 ;MOST SIGNIFICANT DIGIT
1877 005073 067 BYTE 67
1878 005074 063 BYTE 63
1879 005075 ANS15: JEXPECTED ANSWER
1880 005075 060 .BYTE 60 :MOST SIGNIFICANT DIGIT
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CVKAJB.P11 22=JAN~-82 08:49 TEST "ADDN'' WITH +SRC1 & =-SRC2, S1L .GT. S2L, /82 .GT. /$1/.J?VERFLOU SEQ 0037
1881 005076 060 .BYTE 60 ;\
1882
1883 005100 .EVEN
1884
i
1887 IIAARREARRARRAA AR R RN RN ARAEAAAANRAARRARANARRRRRACAERAARARAAN NSNS
1888 ;*TEST 16 TEST ADDN WITH =SRC1 & +SRC2,S1L .LT. S2L, /S1/ .G'. /S2/,OVERFLOW
1889 NN AAARERAA AN ECR RN AR NANRRAANCAAANINARATARAAAREARERRARS
1890 005100 000004 TST16: -COPE
1891 005102 004567 007624 JSR RS ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
1892 005106 000003 3 sSOURCE1 LENGTH
1893 005110 005304 S1T16 :SOURCE1 ADDRESS
1894 005112 000004 4 :SOURCE2 LENGTH
1895 0">+i4 005307 $2T16 :SOURCE2 ADDRESS
1896 005116 000002 2 :DESTINATION LENGTH
1897 005120 004767 007700 JSR PC,CLBUF :CLEAR BUFFER AREA
1898 005124 004567 007714 JSR RS ,XPSW
1899 005130 000206 .WORD 206
1900 005132 004767 007622 JSR PC,CENP :SET UP GENERAL REGISTERS
1901 005136 000271 +SEN!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
1902 005140 000246 +CLZ!CLV
}382 005142 076050 ADDN
1905 005144 106767 173526 MFPS CCODES :STORE RESULTANT PSW
1906 005150 042767 177400 173520 BI( #177400,CCODES ;CLEAR UNUSED BITS
1907 005156 023767 000700 173512 CMP SFEXPPSW,CCODES ;CHECK PSw AGAINST EXPECTED VALUE
1908 005164 001401 BEQ 6648 ;BR, IF EQUAL
1909 005166 104001 ERROR 1 senanannnsnrtaeaTEST 16 = ERROR 1varensasennnenny
1910 JPSW ERROR ,
1911 :EXPECTED PSW IS STORED AT ''SAVRG''
1912 ;ERRONEOUS SP VALUE IS AT 'BADR6’’
1913 005170 64$:
1914 005170 005700 TST RO ;CHECK RO=0
1915 005172 001401 BEQ 65%
1916 005174 104002 ERROR P4 suknnnanknaensntTEST 16 = ERROR Z2rtrassnasnanney
1917 ¢ ;RO SHOULD BE ZERY
1918 005176 005701 65$: TST R1 sCHECK R1=0
1919 005200 001401 BEQ 66$
1920 005202 104003 ERROR 3 sanannnnannansaxaTEST 16 -~ ERROR Irasanatanaseted
1921 :R1 SHOULD BE ZERC
1922 005204 005702 66$: TST R2 :CHECK R2=0
1923 005206 001401 BEQ 67%
1924 005210 104004 ERROR & sannnstnseanttstTEST 16 = ERROR 4rennanannntnnne
1925 :RZ2 SHOULD BE ZERO
1926 005212 005703 67$: IST R3 sCHECK R3=0
1927 005214 0061401 BEQ 683
1928 005216 104005 ERROR 5 sunnnnnsnsnnenstxTEST 16 - ERROR Srtaanatanntanee
1929 :R3 SHOULM BE Z2ERO
1030 005220 020467 173430 68$: (MP R4, DSTLN :CHECK Ré&= DESTINATION LENGTH
1931 005224 001401 8EQ 69%
1932 005226 104006 ERROR 6 sennnnnnnnnnannnnJEST 16 = ERROR Gtrearsanantasens
1933 R4 SHOULD STILL BE DESTINATION LENGTH
1934 005230 020567 173422 698: CKP RS ,DSTAD ;CHECK RS = DESTINATION ADDRESS
1935 005234 001401 BEQ 708
1936 005236 104007 ERROR 7 senanxeansnnnansTEST 16 -~ ERROR 123222221222 2822
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CVKAJB.P11 22~JAN-082 149 TEST ADDN WITH =-SRZ1 & +SRC2,S1L .LT. SeL, /81/ .GT. /S2/,0VERFLOW SEQ 0038
1637 :RS SHOULD STILL BE DESTINATION ADDRESS
1938 005240 023706 000702 70$: CMP @#SAVR6,SP *VERIFY STACK POINTER IS RESTORED
1939 005246 001403 BEQ 718 B8R IF 0K
1940 005246 010637 000704 MOV SP,3#BADR6 ;COPY BAD SP VALUE
1941 005252 104010 ERROR 10 sunannennnannaseTEST 16 = ERROR 10veennnaennennen
1942 :STACK POINTER NOT RESTOREP BY lﬂﬁTRUCTION
1943 ;EXPECTED SP IS STORED AT ''SAVRG''

1944 :ERRONEOUS SP VALUE IS AT 'BADRé6

1945 005254 718:

1966 ;CHECK ANSWER

1947 005256 012700 005313 MOV #ANS16,RO :POINT RO TO EXPECTED ANSWER

1948 005260 016701 173372 MOV DSTAD,R1 :POINT R1 TO RESULTANT ANSWER

1949 005261 016702 173364 MOV DSTLN,.R2 :STORE ANSWER LENGTH IN R1

1950 005270 122021 728: CMP8 (RO)+,(R1)M+ :COMPARE EACH DIGIT

1951 (005272 001401 BEQ 73% :BR ]F EQUAL

1652 005274 104011 ERROR N cannnansannaneasTEST 16 = ERROR 11vensanentenanee
1953 JERRONEQUS ANSWLER

1954 :RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
1955 :R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
1956 005276 005302 73%: DEC R2 :DECREMENT ANSWER LENGTH

1957 005300 001373 B8NE 72$ :BR IF NOT FINISHED

1958 005302 000405 B8R TST17 :BR TO NEXT TEST

1959 005304 S1T16: +SOURCE1 STRING

1960 005304 061 BYTE 61 :MOST SIGNIFICANT DIGIT

1961 005305 067 BYTE 67

1962 005306 162 BYTE 162

1963 005307 S2T716: :SOURCE2 STRING

1964 005307 060 .BYTE 60 ;MOST SIGNIFICANT DIGIT

1965 005310 060 BYTE 60

1966 005311 067 BYTE 67

1967 005312 062 BYTE 62

1968 005313 ANS16: :EXPECTED ANSWER

1969 005313 060 BYTE 60 :MOST SIGNIFICANT DIGIT

}3;? 005314 060 BYTE 60

1972 005316 .EVEN

14

1975 INRNRRARRRAANEEAANRANEERAANRAAANNARACAARRAAARARRRACAARRCAAREANRR

1976 :«TEST 17 TEST ADDN WITH +SRC1 & =SRC2., S1L=S2L, /S81/ .GT./S2/,0VERFLOW
1977 JIRRRRAAAAAAARARARAANRA NI ARANAAARARRRRAAAAANARAARAAAARNAARRARARSY

1978 (005316 000004 TST17: CCOPE

1979 005320 004567 007406 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
1980 005324 000003 3 :SOURCE1 LENGTH

1981 005326 005522 S1T17 :SOURCEY ADDRESS

71982 005330 0C2003 3 sSOURCE2 LENGTH

1983 005332 005525 SeT17 sSOURCEZ ADDRESS

1984 005334 000002 2 sDESTINATION LENGTH

1985 005336 0047€7 007462 JSR PC.CLBUF sCLEAR BUFFER AREA

1986 005342 004567 007476 JSR RS  XPSW

1987 005346 000202 LWORD 202

1988 005350 004767 007404 JSR PC,GFNR :SET UP GENERAL REGISTERS

1989 005354 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
1990 005356 000242 CLv

}83} 005360 076050 ADDN
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106767
042767
023747
001401
104001

005406
00540¢.
005410
2004 005412

005700
001401
104002

005701
001401
104003

005702
001401
104004

005703
001491
104005

020467
001401
104006

020567
001401
106007

023706
001403
010637
104010

00530
00137
000404

063

173
000

173212

173204

000702
N00704

-— s O
NNO
b et \ Sy
£
oSO

310
1776400 17
700 1

302
274

64S$:

65$:

66$:

67%:

68S%:

698 :

708:

718:

72$:

73$:

Sinz:

N 3
TEST ADDN WITH +SRC1 & -SRC2, S1L=S2L, /S1/ .GT./S2/,0VERFLOW

MFPS CCODES :STORE RESULTANT PSW

8IC #177400,CCODES ;CLEAR UNUSED BITS
CMP FYEXPPSW, CCODES ; CHECK PSW AGAINST EXPECTED VALUE
gta 648 :BR, IF EQUAL
ERROR 1 cananerennanswatTEST 17 = ERROR 1eeenaasessnnene
PSH ERROR
:EXPECTED PSW IS STORED AT ‘'SAVR6'
ERRONEOUS SP VALUE IS AT ‘BADRG’’
TST RO s CHECK RO=0
BEQ 65%
ERROR e sevannnnknnattsdTEST 17 = ERROR 2tettennnevttent
;RO SHOULD BE ZERO
TST R1 s CHECK R1=0
BEQ 663
ERROR 3 sannnnnnsnntet? aEST 17 = ERROR Jrannnnennntnten
¢R1 SHOULD BE 2ERO
TST R2 +CHECK R2=0
B8EQ h7%
ERROR 4 sannnnennnnnanssTEST 17 = ERROR 4rnenananannasns
:R2 SHOULD BE “ERC
TST i3 :CHECK R3=0
8EQ 68$
ERROR 5 snnknknnntnstnd aTEST 17 = ERROR Stttvnvaneneanee
:R3 SHOULD BE ZERO
ggg §é§DSTLN ;CHECK Ré= DESTINATION LENGTH
ERROR () snsnnnannnsasrtTEST 17 = ERROR Gevanecanennsenn
R4 SHOULD STILL BE DESTINATION LENGTH
ggg §g£DSTAD JCHECK R5 = DESTINATION ADDRESS
ERROR 7 sannnmr aet e dtdaTEST 17 = ERROR 7tttstnentsannns
RS SHOULD STILL BE DESTINATION ADDRESS
cmp @#SAVRG, SP sVERIFY STACK POINTER IS RESTORED
BEQ 718 :BR IF OK
MOV SP,a#BADR6 :COPY BAD SP VALUE
ERROR 10 tttttttttttttttTEST 17 = ERROR 10rsrannennenanen
:STACK POINTER NOT RFSTORED BY INSTRUCTION
SEXPECTED SP IS STORED AT ‘‘SAVRG'®
ERRONEOUS SP VALUE IS AT 'BADRéG'’
s CHECK ANSWER
MOV #ANS17 RO POINT RO TO EXPECTED ANSWER
MOV DSTAD,R1 :POINT R1 TO RESULTANT ANSWER
MOV DSTLN.R? sSTORE ANSWER LENGTH IN R1
CMPB (RO‘* (R1)+ COHPARE EACH DIGIT
BEQ 738 :BR IF EQUAL
ERROR 1 JansnanannneaantTEST 17 = ERROR 11vennsnenanneney
ERRONEOUS ANSVER
$RO CONTAINS TAE PC+1 <F THE EXPECTED DIGIT
:R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIV
DEC Rg : DECREMENT ANSHER LENGTH
BNE 72% :BR IF NOT FINISHEC
B8R TST20 :BR TO NEXT TEST
.SOURCEI STRING

.BYTE 63 sMOST SIGNIFICANT DIGIT

SEQ 0039
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CVKAJB.P1i 22=-JAN=-82 08:49 TEST ADDN WITH +SRC1 € =SRC2, S1L=S2L, /S1/ .GY./S2/,0VERFLOW SEQ 0040
2049 005523 065 BYTE 65
2050 005524 067 BYTE 67
2051 005525 S2T17: :SOURCEZ2 STRING
2052 005525 060 BYTE 60 HOST SIGNIFICANT DIGIT
2053 005526 063 BYTE 63
2054 005527 165 .BYTE 165
2055 005530 ANS17: JEXPECTED ANSWER
2056 005530 062 .BYTE 62 *MOST SIGNIFICANT DIGIT
2057 005531 062 .BYTE 62
2058
2059 .EVEN
2061
2062 SRRARRNRANARARAREAAAAA AR RRANAANRANRRARRANRARAANRARAARRAAEA AN
2063 tTEST 20 TEST ADDN WITH POSITIVE OPERANDS, OVERFLOW, NO CARRY OUT OF OVERFLOW
2064 CANANRNNNRARNRRRAANAA IR AAAARNRARARARAARAARNENARRRNARNRRANRRRNE
2065 005532 000004 TST20 SCOPE
2066 005534 004567 007172 JSR RS .NPREP :PREPARE ARGUMENTS FUn INSTRUCTION TEST
2067 005540 000003 3 *SOURCET LENGTH
2068 005542 005736 S1T20 SOURCET ADDRESS
2069 005544 000003 3 SOURCEZ LENGTH
2070 005546 005741 $2720 SOURCEZ ADDRESS
2071 005550 000002 2 DESTINATION LENGTH
2072 005552 004767 007246 JSR PC,CLBUF CLEAR BUFFER AREA
2073 005556 004567 007262 JSR RS XPSW
207& 005562 000202 LWORD 202
2075 005564 004767 007170 JSR PC,GENR :SET UP GENERAL REGISTERS
2076 005570 000277 SCC ;SET UP THE COMPLEMENT OF EXPECTED CC°'S
2077 005572 000242 CLV
gg;g 005574 076050 ADDN
2080 J05576 106767 173074 MFPS CCODES :STORE RESULTANT PSW
2081 005602 042767 177400 173066 BIC #177400,CCODES CLEAR UNUSED BITS
2082 005610 023767 000700 173060 CMP SNEXPPSHW,CCODES ; :CHECK PSW AGAINST EXPECTED VALUE
2083 005616 001401 BEQ 64$ BR. IF EQUA
2084 005620 104001 ERROR 1 tttttttttttttttTEST 20 = ERROR Tanasasananneeny
2085 PSU ERROR
2086 EXPECTED PSW IS STORED AT SAVRQ"
2087 ERRONEOUS SP VALUE IS AT 'BADRG'’
2088 005622 648:
2089 005622 005700 TST RO :CHECK RO=0
2090 005624 001401 BEQ 658
2091 005626 104002 ERROR l sansnnnnnnennnanTEST 20 = ERROR 2trtnannnnntttns
2092 RO SHOULD BE ZERO
2093 005630 00701 65%: TST R1 ;CHECK R1=0
2094 005632 001401 BEQ 66$
2095 005634 104003 ERROR 3 JannnnndnnnnnaseTEST 20 = ERROR 3Jtrsrasannannansee
2096 RT SHOULD BE ZERO
2097 005636 005702 668%: TST R2 :CHECK R2=0
2098 005640 001401 BEQ 67%
2099 005642 104004 ERROR 4 sannxnnnnnnneaneTEST 20 = ERROR 4rverensannnannte
2100 R2 SHOULD BE ZERO
2101 005644 005703 67%: TSY R3 .C ECK R3=0
2102 005646 001401 BEQ 68$
2103 005650 104005 ERROR 5§ sanannnnnaseasxsaTEST 20 = ERROR Sternanansnnnnes
2104 :R3 SHOULD BE ZERO
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42
TEST ADDN WITH POSITIVE OPERANDS, OVERFLOW, NO CARRY OUT OF OVERFLOW SEQ 0041
68S%: ggg 23‘DSTLN :CHECK R&4= DESTINATION LENGTH
ERROR 6 ;tttttttttitl'ttTEST 20 = ERROR ftrtresasannttnn
;R4 SHOULD STILL BE DESTINATION LENGTH
69$: gg: §3£DSTAD ;CHECK RS = DESTINATION ADDRESS
ERROR 7 sannnnnsnnnentxTEST 20 - ERROR AT RTTIIILILL S
RS SHOULD STILL BE DESTINATION ADDRESS
708: CMP @#SAVRG, SP :VERIFY STACK POINTER IS RESTORED
BEQ 718 JBR IF 0K
MOV SP,8#BADRS :COPY BAD SP VALUE
ERROR 10 senseansannnneanTEST 20 - ERROR 102 sanasannattteey
;STACK POINTER NOT RESTOREP BY INSTRUCTION
:EXPECTED SP IS STORED AT ''SAVR6''
218 ;ERRONEOUS SP VALUE IS AT °‘BADR6S
;CHECK ANSWER
MOV #ANS20,R0O :POINT RO TO EXPECTED ANSWER
MOV DSTAD ,R1 :POINT R1 TO RESULTANT ANSWER
MOV DSTLN.R2 :STORE ANSWER LENGTH IN R1
72%: CMPB (RO)+,(R1)+ ;COMPARE EACH DIGIT
BEQ 73$ ;BR IF EQUAL
ERROR 1 sennasnkanessen YEST 20 = ERROR 11nsssnnnnanatnne
;ERRONEQUS ANSWER
:RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
:R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
738: DEC R2 :DECREMENT ANSWER LENGTH
BNE 72% :BR IF NOT FINISHED
BR TST21 :BR TO NEXT TEST
S1720: :SOURCE1 STRING
BYTE 70 :MOST SIGNIFICANT DIGIT
BYTE 62
BYTE 64
$2720: :SOURCE2 STRING
BYTE 61 :MOST SIGNIFICANT DIGIT
BYTE 70
BYTE 65
ANS20: :EXPECTED ANSWER
BYTE 60 :MOST SIGNIFICANT DIGIT
BYTE N
.EVEN
PIRRARARAAAAAARAAAARNNRNEE RN ARAARANRRAAANRAAAANSAARANARARAARCAAES
s*TEST 21 TEST INTERRUPTABILITY OF "‘ADDN'’
JINRRARRARAAARARAARARAALEARARRARNARAARARRAAANARAAERAAARARARASERRD
TST21: SCOPE
T1S18 aSWR :TEST BIT 7 OF SWR
8MI 1ST22 ;SKIP TO NEXT TEST IF SET
CMP $TPS,TCSR ;IS SLU ULSED FOR INTERRUPTS THE CONSOLE?
BNE T21CONT :BR, IF NOT & PERFORM INTERRUPTABILITY TEST
BIT #8ITO,SENV sIF YES., 1S PROGRAM UNDER APT?
B8EQ T21CONT :BR, IF NOT
TST $PASS :JF YES,CHECK IF NOT ON FIRST PASS
BNE TST22 :IF NOT, BR £ SKIP TEST
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006722

006776
006106
015114
172624
007016
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006760

000000

000100
006654

172562
000100

177400
000700

172454

172446

172640
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172606

172564

172542

172544
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T21CONT:

READDN:
ADDNPC:

648 :

65%:

66%:

67%:

68$:

69%:

43

TES’ INTERRUPTABILITY OF '‘ADDN’’

JSR

TST
ERROR

TST
8EQ
ERROR

TST
BEQ
ERROR

187
BEQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ
ERROR

D 4

QS.NPREP
S1T21

b

$2721

5

PC,CLBUF
#ADENPC . PCI
#INTR,ITVECT
aTPSW

PC, TDONE
as$NULL . aTBUF
ss.xpsu

#0
#100,3TCSR
PC.GENR
CCODES
#100,8TCSR

READDN
#177400,CCODES
ngXPPSU,CCODES

RO
65%
2

R1

66$

3

R2

678

4

R3

688

5

R4 ,DSTLN
293

RS, DSTAD
;oi

SEQ 004¢ !

;PREPARE ARGUMENTS FOR INSTRUCTION TEST
sSOURCET LENGTH

sSOURCE1 ADDRESS

sSOURCE2 LENGTH

sSOURCE2 ADDRESS

;DESTINATION LENGTH

sCLEAR BUFFER _AREA

sSTORE PC OF TEST INSTRUCTION

sPOINT TTY VECTOR TO INTERRUPT ROUTINE
SALLOW INTERRUPTS AFTER TTY INTERRUPT
sWAIT FOR SLU READY

sSEND NULL CHARACTER

:STORE EXPECTED PSW

sALLOW INTERRUPTS

sENABLE TTY INTERRUPTS

;SET UP GENERAL REGISTERS

;SET UP THE COMPLEMENT OF EXPECTED CC'S

:STORE RESULTANT PSW

:IF INTERRUPTS ARE DIS\BLED, INSTRUCTION WAS INTERRUPTED
:BR & DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED
JCLEAR UNUSED BITS

:CHECK PSW AGAINST EXPECTED VALUE

;BR, IF EQUAL

JunnesennanansnanTEST 21 = ERROR 1ttasnesannantnt
:PSW_ERROR .

EXPECTED PSW IS STORED AT °'‘SAVRG''

;ERRONEOUS SP VALUE IS AT °BADRG'’

;CHECK RO=0

sanananannnneasaTEST 21

;RO _SHOULD BE ZERO
;CHECK R1=0

seneananasasnnnsTEST 21

:R1 SHOULD BE ZERO
;CHECK R2=0

cannxnrannansnxaTEST 21

*R2 SHOULD BE ZERO
:CHECK R3=0

senanannnnnnanesTEST 21

;R3 SHOULD BE ZERO
sCHECK R4= DESTINATION LENGTH

sannnnnnasnnstadaTEST 21 ~ ERROR Grrennsanenenner

;R4 SHOULD STILL BE DESTINATION LENGTH
sCHECK R5 = DESTINATION ADDRESS

sanennnnanannnnsTEST 21 = ERROR 7evvtnsenvenvane

;R5 SHOULD STILL BE DESTINATION ADDRESS

ERROR 2%nastanttetntet

ERROR Jtstexnnnnansens

ERROR 4avsarasnnunntny

ERROR Sevttnsnnsnntnny
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CVKAJB.P11 22=-JAN-82 08:49 121 TEST INTERRUPTABILITY OF ‘‘ADDN'’ SEQ 0043
2217 006214 023706 000702 708: (MP SNSAVRG, SP VERIFV STACK POINTER IS RESTORED
2218 006220 001403 BEQ 718 R IF 0K
2219 006222 010637 000704 MOV SP,a#BADRS COPY BAD SP VALUE
2220 006226 104010 ERROR 10 tenannnnseannesasTEST 21 = ERROR 10%veneasresnenes
2221 STACK POINTER NOT RESTOREP B8Y INSTRUCTION
2222 :EXPECTED SP IS STORED AT !'SAVR6''
2223 .ERRONEOUS SP VALUE IS AT 'BADR6
22246 006230 718:
2225 ;CHECK ANSWER
2226 006230 01270C 006270 MOV #ANS21 RO POINT RO TO EXPECTED ANSWER
2227 006234 016701 172416 MOV DSTAD, R1 POINT R1 TO RESULTANT ANSWER
2228 006240 016702 172410 MOV DSTLN,R2 SYORE ANSWER LENGTH IN R1
2229 006244 122021 72%: CMPB (RO)+,(R1)+ COHPARE EACH DIGIT
2230 006246 001401 8EQ 738 BR IF EQUAL
2231 006250 104011 ERROR 11 sennannnnnantaetTEST 21 -~ ERROR 11nnsnnecnantenee
2232 ERRONEOUS ANSUWER
2233 RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
2234 R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
2235 006252 005302 73%: DEC R2 DECREHENT ANSWER LENGTH
2236 006254 001373 BNE 72% *BR IF NOT FINISHED
2237 006256 000407 BR ENDT21 :BR TO END OF THIS TEST
2238 006260 S1T21: SOURCEI STRING
2239 006260 061 BYTE 61 HOST SIGNIFICANT DIGIT
2240 006261 062 BYTE 62
2241 006262 063 BYTE 63
2242 006263 064 BYTE 64
2243 006264 §2T121: :SOURCEZ STRING
2244 006264 065 BYTE 65 HOST SIGNIF JCANT DIGIT
2245 006265 066 .BYTE" 66
2246 006266 067 BYTE 67
2247 006267 070 BYTE 70
2248 006270 ANS21: EXPECTED ANSWER
2249 006270 060 BYTE €0 MOST SIGNIFICANT DIGIT
2250 006271 066 BYTE 66
2251 006272 07 BYTE 71
2252 006273 061 BYTE 61
s%gz 006274 062 BYTE 62
2255 006276 .EVEN
2256 006276 016777 172370 172364 ENDTZ21: MOV TPSW,@TVECT
2257 006304 106427 000200 MTPS #200
2260 SRR AR RN AR TR R TR AN AR RARANRARRAANRERARARERARRRANN
2261 tTEST 22 TEST '‘SUBN'' WITH POSITIVE OPERANDS,SRC1 .GT. SRC?2
2262 ttttttttttatttttttttttttttttttttttttttttttttttttttttttttttttttt
2263 006310 000004 TSTZZ SCOPE
2264 006312 004567 006414 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TESY
2265 (006316 000004 4 SOURCEI LENGTH
2266 006320 006514 $1722 SOURCEI ADDRESS
2267 006322 000003 3 SOURCE LENGTH
2268 006324 006520 $2T22 *SOURCES ADDRESS
2269 006326 000003 3 DESTINAT:ON LENGTH
2270 006330 004767 006470 JSR PC.CLBUF CLEAR BUFFER AREA

2271 006334 004567 006506 JSR RS XPSW
2272 006340 000210 WORD 210
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CVKAJB.P11 22~JAN-82 08:49 T22 TEST '‘SUBN'' WITH POSITIVE OPERANDS,SRC1 .GT. SRCZ2 SEQ 0044
2273 006342 004767 006412 JSR PC,GENR :SET UP GENERAL REGISTERS
2274 006346 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
2275 006350 000250 CLN
g%;g 206352 076051 SUBN
2278 0063564 106767 172316 MFPS CCODES :STORE RESULTANT PSW
2279 006360 042767 177400 172310 B8IC #177400,CCODES CIEAR UNUSED BITS
2280 006366 023767 000700 172302 (MP S#EXPPSW,CCODES ; SCHECK PSW AGAINST EXPECTED VALUE
2281 006374 001401 BEQ 648 BR IF EQUAL
2282 006376 104001 ERROR 1 ttt!tttlt'tt'ttTEST 22 = ERROR 1tnensnnntntanet
2283 :PSW_ERROR .,
2284 EXPECTED PSW IS STORED AT 'SAVRQ
2285 ERRONEOUS SP VALUE IS AT °'BADRS
2286 006400 64S:
2287 006400 005700 TST RO :CHECK RO=0
2288 006402 001401 BEQ 65%
2289 006404 10400¢ ERROR P saannannnananstaTEST 22 = ERROR 2ttrasnntennneny
2290 RO SHOULD BE ZERO
2291 006406 (005701 65$: TST R1 :CHECK R1=0
2292 006410 0014601 BEQ 66$
2293 006412 104003 ERROR 3 cannnnaannnacennaTEST 22 = ERROR Zexsananannanttn
2294 RT SHOULD BE ZERD
2295 006414 005702 66%: TST R2 s CHECK R2=0
2296 006416 001401 BEQ 67%
2297 006420 104004 ERROR 4 sannnnnnnenasttasTEST 27 « ERROR 4nvnnneenanenune
2298 R2 SHOULD BE ZERO
2299 006422 005703 67%: TST R3 .C HECK R3=0
2300 006424 001401 BEQ 68$
2301 006426 104005 ERROR S tttttttttttttttTEST 22 = ERROR Sttrtasnnnnennnt
2302 R3 SHOULD BE ZERO
2303 006430 020467 172220 68$: CMP R4 ,DSTLN :CHECK Ré4= DESTINATION LENGTH
2304 006434 001401 BEQ 69$
2305 006436 104006 ERROR 6 cannnasannenneeaTEST 22 = ERROR 6rtransnsstnnans
2306 R4 SHOULD STILL BE D_STINATION LENGTH
2307 006440 020567 172212 69%: CMpP RS ,DSTAD CHECK RS = DESTINATION ADDRESS
2308 006444 001401 BEQ 708
2309 006446 104007 ERROR 7 sanannnnnenennneTEST 22 = ERROR 7tsassnsnnanttns
2310 RS SHOULD STILL BE DESTINATION ADDRESS
2311 006450 023706 000702 708: P a#SAVRG, SP VERIFY STACK POINTER IS RESTORED
2312 006456 001403 BEQ 718 :BR IF OK
2313 006456 010637 000704 MOV SP,a#BADRG :COPY BAD SP VALUE
2314 006462 104010 ERROR 10 -ttttt*'*t*t-t*TEST 22 = ERROR 10vsenannsnvanten
2315 STACK POINTER NOT RESTORED BY INSTRUCTION
2316 EXPECTED SP IS STYURED AT "SAVR
2317 ERRONEOUS SP VALUE IS AT ‘BADRG"’
2318 006464 71%:
2319 ;CHECK ANSWER
2520 006464 012700 0Q6523 MOV #ANS22 .RD POINT RO TO EXPECTED ANSWER
2321 006470 016701 172162 MOV DSTAD, R1 POINT R1 TO RESULTANT ANSWER
2522 (06474 016702 172154 MOV DSTLN.RZ2 STORE ANSWER LENGTH IN R1
2323 006500 122021 72$: CMPB (RO)+,(R1)+ COHPARE EACH DIGIT
2324 006502 001401 BEQ 738 BR IF EQUAL
2325 006504 104011 ERROR 11 sansnnnssanneanaTEST 22 = ERROR 11ttnessnncrnnnne
2326 ERRONEOUS ANSWER
2327 RO CONTAINS THE PC+1 OF THE EXPECTED DIGIY

2328 :Ri CONTAINS THE PC+1 OF THE RESULTANT DIGIT




G &
MAIN.  MACY11 30(1046) 22-JAN-82 08:50_ _PAGE 46

CVKAJB.P11 22=JAN-82 08:49 122 TEST *'SUBN'' WITH POSITIVE OPERANDS,SRC1 .GT. SRC2 SEQ 0045
2329 006506 00530 738: DEC Rg :DECREMENT ANSWER LENGTH
2330 006510 00137 BNE 72% :BR IF NOT FIN]SHED
2331 006512 000405 B8R TST23 :BR TO NEXT TEST
23% MN6514 S1T22: :SOURCE!1 STRING
23.3  )6514 060 .BYTE 60 :MOST SIGNIFICANT DIGIT
2314, 006515 071 BYTIE N
2335 006516 066 .BYTE 66
2336 006517 062 BYTE 62
2337 006520 S2T22: :SOURCE2 STRING
2338 006520 067 .BYTE 67 :MOST SIGNIFICANT DIGIT
2339 006521 065 BYTE 65
2340 006522 064 BYTE 64
2341 006523 ANS22: JEXPECTED ANSWER
2342 006523 062 BYTE 62 :MOST SIGNIFICANT DIGIT
2343 006524 060 BYTE 60
2344 006525 170 .BYTE 170
2345
g%zg .EVEN
2348 R LT T T T T T L L0 A b i i hdebbdebiiibdtininbiniininbininintubidedrddaiudsiainbababoied
2349 :*TEST 23 TEST ''SUBN'' WITH NEGATIVE OPERANDS, SRC1 .GTT. SR(CZ2
2350 IARARRNAN AR ARRANNAARA AN ARANNAANAARRARAREEARERAEAAARARRAACAS
2351 006526 000004 TST23: SCOPE
2352 006530 004567 006176 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
2353 006534 000003 3 sSOURCE1 LENGTH
2354 006536 006730 S$1723 JSOURCE1 ADDRESS
2355 006540 000004 4 :SOURCE2 LENGTH
2356 006542 006733 S2T123 sSOURCEZ2 ADDRESS
2357 006544 000003 3 JDESTINATION LENGTH
2358 006546 004767 006252 JSR PC,CLBUF JCLEAR BUFFER AREA
2359 006552 004567 006266 JSR RS  XPSW
2360 006556 000200 .WORD 200
2361 006560 004767 006174 JSR PC,GENR :SET UP GENERAL REGISTERS
2362 006564 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
gggz 006566 076051 SUBN
2365 006570 106767 172102 MFPS CCODES ;STORE RESULTANT PSW
2366 0065746 042767 177400 172074 B8IC #1776400,CCODES ;CLEAR UNUSED BITS
2367 006602 023767 000700 172066 CMP SMEXPPSW,CCODES :CHECK PSW AGAINST EXPECTED VALUE
2368 006610 0C1401 BEQ 648 :BR, IF EQUAL
2369 006612 104001 ERROR 1 censasennnnsnneenTEST 23 ~ ERROR 1wnsanantnnavatnn
2370 ;PSW ERROR
2371 :EXPECTED PSW IS STORED AT."SAVR6“
2372 :ERRONEOUS SP VALUE IS AT °‘BADRG'’
2373 006614 64$:
2374 006614 005700 TST RO :CHECK RO=0
2375 006616 001401 BEQ 659%
2376 006620 104002 ERROR e aenennannanansesTEST 23 = ERROR 2sttrntsasntnannt
2377 :RO SHOULD BE ZERO
2378 006622 005701 65$%: TST R1 :CHECK R1=0
2379 006624 001401 BEQ 66$%
2380 00662F¢ 104003 ERROR 3 sennannnnnans ¢2TEST 23 -~ ERROR Jnnnnnacennaneny
%381 S :R1_SHOULD BE ZERO
2TIR2 NNRKY V5702 66$: TST R2 sCHECK RZ=0
2383 006632 001401 BEQ 67%

2384 006634 1064004 ERROR 4 sanananannsnsaadTEST 23 = ERROR Lurstntnnennenny
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MAIN. MACY11 301046) 22-JAN-B2 08:50_ PAGE 47 . ..

CVKAJB.P11 22~-JAN=-82 08:49 123 TEST ‘‘SUBN'® WITH NEGATIVE OPERANDS, SRC1 .GTT. SRC2 SEQ 0046
2385 :R2 SHOULD BE ZERO
2386 006636 005703 67%: TST R3 s CHECK R3=0
2387 006640 001401 BEQ 683
2388 006642 104005 ERROR 5 tttttttttttttttTEST 23 = ERROR Steananasnsennee
2389 *R3 SHOULD BE ZERO
2390 0066446 020467 172004 68$: CHP R4 ,DSTLN CHECK Ré= DESTINATION LENGTH
2391 006650 001401 BEQ 69%
2392 006652 104006 ERROR 6 sunnnntnnanetedTEST 23 = ERROR Otennnnnnnnnenes
2393 R4 SHOULD STILL BE DESTINATION LENGTH
2394 006654 020567 171776 69%: (MP RS ,DSTAD CHECK RS = DESTINATION ADDRESS
2395 006660 001401 BEQ 708
2396 006662 104007 ERROR 7 sanennnennanaeeaTEST 23 = ERROR 7envennnneneaees
2397 RS SHOULD STILL BE DESTINATION ADDRESS
2398 023706 000702 708: (P @NSAVRG, SP VERIFY STACK POINTER IS RESTORED
2399 00667G 001403 BEQ 718 *BR IF OK
2400 006672 010637 000704 MOV SP,a#BADRS :COPY BAD SP VALUE
2401 006676 104010 ERROR 10 cannereansaeeanaaTEST 23 = ERROR 10vveennnenensees
26402 STACK POINTER NOT RESTOREP BY INSTRUCTION
2403 EXPECTED SP 1S STORED AT SAVR6"
2604 ERRMEOUS SP VALUE [S AT 'BADR6
2605 006700 718:
2606 ;CHECK ANSWER
2407 006700 012700 006737 MOV #ANS23 RO POINT RO TO EXPECTED ANSWER
2608 006704 016701 171746 MOV DSTAD R1 POINT R1 YO RESULTANT ANSWER
2409 006710 016702 171740 MOV DSTLN.R2 SIORE ANSWER LENGTH IN R1
26410 006714 122021 72%: CMPB (RO)+,(R1)+ COHPARE EACH DIGIT
2411 006716 001401 BEQ 738 BR IF EQUAL
2612 006720 104011 ERROR 11 sananannansasaneTEST 23 = ERROR 11evaneeneennnane
2413 ERRONEOUS ANSWER
2614 *RO CONTAINS THE PC+] OF THE EXPECTED DIGIT
2415 R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
2416 006722 005302 73%: DEC R2 DECREHENT ANSWER LENGTH
2617 006724 001373 BNE 72% BR IF NOT FINISHED
2618 006726 05 BR TST24 BR TO NEXT TEST
2419 006730 S1T23: :SOURCE1 STRING
2620 006730 071 BYTE HOST SIGNIFICANT DIGIT
2421 006731 066 BYTE 66
2422 006732 162 BYTE 162
2423 006733 $2T23: :SOURCE2 STRING
2424 006733 060 BYTE 60 HOST SIGNIF ICANT DIGIT
2425 006734 070 BYTE 70
2426 006735 063 BYTE 63
2427 006716 161 BYTE 161
2428 006737 ANS23: :EXPECTED ANSUER
2629 006737 061 .BYTE 6} :MOST SIGNIFICANT DIGIT
2430 006740 063 .BYTE 63
2631 006741 061 BYTE 61
2432
52%2 ; EVEN
2435 SRR AAAA AR RS AN RN AR AR AAARAAAARAAANRCRERAERANER
2436 tTEST 24 TEST INTERRUPTABILITY OF ‘‘SUBN''
2437 CRRRARRANARNNAANRANNAANSEEAARRARARARANRARNRANRCAANNNRARARRNAARNARER
2438 006742 000004 t§724:  SCOPE
26439 00674646 105777 171570 TST8 aSWR sTEST BIT 7 OF SWR
2440 006750 100556 BMl TST25 *SKIP TO NEXT TVEST IF SET
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2641
244

244

244k
2445
2446
2447

006752
006760
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026767

005767
001143

004567
000004
007256

000004
007262
005005
004767
012767
012777
005077
004767
013777
004567
000010
106427
052777
004767
000277
000259
076051

106767
032777
001365

005700
001401
104002

005701
001401
104003

005702
001401
104004

005703
001401
104005

020467

SZ-JAN-
:49
171572

000001
171576

005726

006002
007104
015114
171630
006022
000554
005764

000000

000100
005660

171564
000100

177400
000700

171456

32 08: 502 PAGE 48

171704
171616

—
~N~
— b
oo

171612

171570

171544

171546
171540

T24CONT:

RESUBN:

SUBNPC:

64$:

658:

66$%:

67%:

68$:

TEST INTERRUPTABILITY OF ‘‘SUBN''

CMP
BNE
BIT
8EQ
TST
BNE

JSR

$TPS,TCSR
T24CONT

#BIT0,SFNV

T24CONT
$PASS
TST25
25,NPREP
S1T24

4

§2724
PC,CLBUF

#SUBNPC ,PC!
FINTR,STVECT

8TPSW
PC,TDONE

a#$NULL , aTBUF

RS . XPSW
10°
#0

#100,8TCSR

PC.GENR

CCODES

#100,8TCSR

RESUBN
#177400,CCODES
SNEXPPSW,CCODES ;

64$
1

R3
68$
5

R4 ,DSTLN

:1S SLU USED FOR INTERRUPTS THE CONSOLE?
;BR, IF NOT © PERFORM INTERRUPTABILITY TEST
;1F YES, IS PROGRAM UNDER APT?

;BR, ]F NOT
sIF YES,CHECK IF NOT ON FIRST PASS
:IF NOT, BR & SKIP TEST

sPREPARE ARGUMENTS FOR INSTRUCTION TEST
sSOURCE1 LENGTH

:SOURCE1 ADDRESS

:SOURCE2 LENGTH

;SOURCE2 ADDRESS

:DESTINATION LENGTH

:CLEAR BUFFER AREA

:STORE PC OF TEST INSTRUCTION

:POINT TTY VECTOR TO INTERRUPT ROUTINE
;ALLOW INTERRUPTS AFTER TTY INTERRUPT
:WAIT FOR SLU READY

SSEND NULL CHARACTER

:STORE EXPECTED PSW

sALLOW INTERRUPTS

sENABLE TTY INTERRUPTS

;SET UP GENERAL REGISTERS

;SET UP THE COMPLEMENT OF EXPECTED CC'S

sSTORE RESULTANT PSW
:IF INTERRUPTS ARE DISABLED,

SEQ 0047

INSTRUCTION WAS INTERRUPTED

:BR & DO TES'™ AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED

CLEAR UNUSED BITS

:CHECK PSW AGAINST EXPECTEVL VALUE

BR. IF EQUAL

sxnnnnnnnnneesasTEST 26 = ERROR 1asasansnnnanann
PSH ERROR

EXPECTED PSW IS STORED AT, '‘SAVRG'

ERRONEOUS SP VALUE 1S AT 'BADRG'’

:CHECK RO=0

sennnannnnnsnaadTEST 24 -~ ERROR 2vnnnntennannnes

:RO_SHOULD BE ZERO
;CHECK R1=0

sanannrskantananTEST 24 = ERROR 3Jrnnsasnsnssenny

:R1 SHOULD BE ZERO
: CHECK R2=0

sannnnnannesennaTEST 26 = ERROR 4enantsnntnnsnen

;R2 _SHOU EOBE ZERO

s CHECK

sennnnnennnsaseeTEST 24 = ERROR Strrrennatnnnnene
:R3 SHOULD BE 2ERO
:CHECK Ré4= DESTINATION LENGTH
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007176
007200

007306
007310
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001401
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020567
001401
104007

007274
016777
106427

000004
004567
000003

171450

000702
000704

—
~~

— b Y
SN
Ao
OO

171372 171366
000200

005416
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BEQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ
MOV
ERROR

69S$:

70$:

718:

72$:
BEQ
ERROR

73$: DEC
BNE

BR

.BYTE
.BYTE
.8YTE
.BYTE

.BYTE
.BYTE
.BYTE
.BYTE

.BYTE
.BYTE
.BYTE
.BYTE
.BYTE

.EVEN
ENDT24: MOV
MTPS

S1724:

S2T24:

ANS24:

693
6

RS, DSTAD
70§

7
NSAVRG, SP
718
SP,a#BADRG
10

#ANS24 RO
DSTAD R
DSTLN,RZ
(RO)+,(R1)+
73$

n

R2
728
ENDT24

TPSW, @TVECT
#200

49
TEST INTERRUPTABILITY OF °‘‘SUBN'’

sennnannnanansneTEST 24 =~ ERROR frevennanananene

;R4 SHOULD STILL BE DESTINATION LENGTH
;CHECK RS = DESTINATION ADDRESS

suennanwnnsentandTEST 24 = ERROR 7enennnnnnneeees

RS SHOULD STILL BE DESTINATION ADDRESS
XER{FYoérACK POINTER IS RESTORED

:COPY BAD SP VALUE

tttttttttttttttTEST 26 = ERROR 10nnesnavanndanes
STACK POINTER NOT RESTORED BY INSYRUCTION
EXPECTED SP IS STORED AT 'SAVRb.

ERRONEOUS SP VALUE IS AT 'BADRG'’

sCHECK ANSUER

*POINT RO TC EXPECTED ANSWER

:POINT R1 TO RESULTANT ANSWER

:STORE ANSWER LENGTH IN R1

; COMPARE EACH DIGIT

:BR IF EQUAL

sennnnnasasnnsaeTEST 24 = ERROR 11tnsnsnsecenenes
ERRONEOUS ANSWER

*RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
:DECREMENT ANSWER LENGTH

BR IF NOT FINISHED

:BR TO END OF THIS TEST

:SOURCET STRING

;MOST SIGNIFJCANT DIGIT

:SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

;EXPECTED ANSWER
;MOST SIGNIFICANT DIGIT

tttttttttttttttlttttt*'ttit'ﬁ*ttﬁtt'ttttltttittttitt'ttﬁﬁtttitt

TEST "'CMPN'* WITH ALL ZEROES IN BOTH SOURCE STRINGS

S HARARAANRANEARRERAEARNAAE AR RRRRARRARARARAARNARARNRANRAAANAASRAREANS

tTEST 25

$8125:  SCOPE
JSR

R5 ,NPREP
3

;PREPARE ARGUMENTS FOR INSTRUCTION TEST
;SOURCET LENGTH

SEQ 0048
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CVKAJB.P11 22-JAN-82 08:4 125 TEST 'CMPN'' WITH ALL ZEROES IN BOTH SOURCE STRINGS SEQ 0049
2553 007316 007460 S1T25  ;SOURCE1 ADDRESS
2554 007320 00000 3 :SOURCE2 LENGTH
257 007322 00746 $2125 :SOURCE2 ADDRESS N
2556 007324 000377 377 STORE NON-ZERO VALUE TO TEST R& UNAFFECTED 8Y ‘‘CMPN'' IN
2557 007326 004567 005512 JSR RS XPSW
2558 007332 000204 _WORD 204
2559 007334 004767 005420 JSR PC.GENR :SET UP GENERAL REGISTERS
2560 007340 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
ggg} 0073 .2 000244 Lz
%ggz 007344 076052 CMPN
2565 007346 106767 171324 MFPS CCODES :STORE RESULTANT PSW
2566 007352 042767 177400 171316 BIC #177400,CCODES CLEAR UNUSED BITS
2567 007360 023767 000700 171310 CMP SNEXPPSW,CCODES CHECK PSW AGAINST EXPECTED VALUE
2568 007366 001401 BEQ 649 BR. IF EQUAL
2569 007370 104001 ERROR 1 iannnnnnnannsvssTEST 25 = ERROR 1tnsanaansttansey
2570 PSU ERROR
257 EXPECTED PSW IS STORED AT °‘SAVRG'
2572 ERRONEOUS SP VALUE IS AT °‘BADRS"’
2573 007372 64S$:
2574 007372 005700 TST RO :CHECK RO=0
2575 007374 001401 BEQ 65%
2576 007376 104002 ERROR P4 sennnnnanaeeaaesTEST 25 -~ ERROR TARARARNERAEAANE
2577 :RO_SHOULD BE ZERO
2578 007400 005701 65$: TST R1 :CHECK R1=0
2579 007402 001401 BEQ 663
2580 007404 104003 ERROR 3 sennnnnnnenanswsTEST 25 = ERROR 3Srtenastsvantntn
2581 R1 SHOULD BE ZERO
2582 007406 005702 66$: TST R2 :CHECK R2=0
2533 007410 001401 BEQ 67%
2584 007412 104004 ERROR 4 sanennknnwantaenTEST 25 = ERROR 4asnsnasantnnnsn
2585 R2 SHOULD BE ZERO
2586 007414 005703 678: TST R3 :CHECK R3=0
2587 007416 001401 BEQ 68$
2588 007420 104005 ERROR S snnnnnnaneantaatTEST 25 = ERROR Srnnnsannanaanens
2589 R3 SHOULD BE ZERO
2590 007422 020467 171226 68s$: CMP R4 ,DSTLN :CHECK R4 UNCHANGED
2591 007426 001401 BEQ 69$ :BR IF OK
2592 007430 104006 ERROR é JunsansnnnaenenaJEST 25 = ERROR Otxtaansansnstany
2593 R4 CHANGED
2594 R4 SHOULD STILL EQUAL CONTENTS OF °‘FILL
2595 007432 020567 171220 69%: CMP RS ,DSTAD CHECK RS UNCHANGED
2596 007436 001401 BEQ 708
2597 007440 104007 ERROR 7 sunnnannnseantaneTEST 25 = ERRQR 7atvtnnnntnnenen
2598 RS CHANGED
2599 RS SHOULD STILL EQUAL CONTENTS OF 'DSTAD’’
2600 007442 023706 000702 708: CMp @N#SAVRG,SP VERIFY STACK POINTER IS RESTORED
2601 007446 001403 BEQ 718 BR IF 0K
2602 007450 010637 000704 MOV SP,a#BADRS :COPY BAD SP VALUE
2603 007454 104010 ERROR 10 sannsnnansnensasTEST 25 = ERROR 10nveesseenannnne
204 STACK POINTER NOT RESTORED BY INSTRUCTION
2615 EXPECTED SP IS STORED AT .SAVR6.
2605 ERRONEOUS SP VALUE IS AT "BADRG'’
2607 007456 718:

2608 007456 000403 BR TST126 ;BR TO NEXT TEST
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CVKAJB.P11 22=-JAN="2 08:49 125 TEST ''CMPN'' WITH ALL 2EROES IN BOTH SOURCE STRINGS SEQ 0050
2609 007460 S1725: :SOURCE1 STRING
2610 007460 060 .BYTE 60 HOST SIGNIFICANT DIGIT
2611 007461 060 BYTE 60
2612 00744 060 .BYTE 60
2613 (0746 S2T2S: :SOURCEZ2 STRING
2614 007463 060 .BYTE 60 HOST SIGNIFICANT DIGIT
2615 007464 060 .BYTE 60
2616 007465 060 .BYTE 60
2617
2618 .EVEN
ik
2221 IARARARRRAR AR AR AR RN AR A RARAR AR AN R AR NTAAARRAACAARES
2622 *TEST 26 TEST *'CMPN'' WITH SRC1 = SRC2
2623 IRRRAARAA AN AR AR A A AR RN R RRANARARAAARANRANERNRRNARRRS
2624 007466 000004 TST26 SCOPE
2625 007470 004567 005236 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
2626 007474 000004 4 SOURCEI LENGTH
2627 007476 007640 S1T26 :SOURCE1 ADDRESS
2628 007500 000004 4 :SOURCE2 LENGTH
2629 007502 007644 $2726 SOURCEZ ADDRESS
2630 007504 000377 377 STORE NON-ZERO VALUE TO TEST R& UNAFFECTED BY ''CMPN'’ IN
2631 007506 004567 005332 JSR RS . XPSW
2632 007512 000204 .WORD 204
2633 007514 004767 005240 JSR PC,GENR :SET UP GENERAL REGISTERS
2634 007520 000277 SCC SET UP THE COMPLEMENT OF EXPECTED Cr'S
gggg 007522 000244 cLZ
sg%g 007524 076052 CMPN
2639 007526 106767 171144 MFPS CCODES :STORE RESULTANT PSW
2640 007532 042767 177400 171136 BIC #177400,CCODES CLEAR UNUSED BITS
26471 007540 023767 000700 171130 CMP a#sxppsu CCODES CHECK PSW AGAINSY EXPECTED VALUE
2642 007546 001401 BEQ 648 BR IF EQUAL
2643 007550 104001 ERROR 1 ttttttttttttttthST 26 = ERROR 1rsasnsassnnnnesy
2644 PSH €RROR .
2645 EXPECTED PSW IS STORED AT.'SAVR6'
2646 i ERRONEOUS SP VALUE IS AT 'BADRG'’
2647 07552 64$:
2648 007552 005700 TST RO :CHECK RO=0
2649 007554 001401 BEQ 65%
2650 007556 104002 ERROR 2 sunennannnnnasssTEST 26 = ERROR 2nvrnnnnasnnsnne
2651 *RO SHOULD BE ZERO
2652 007560 005701 65%: TST R1 :CHECK R1=0
2653 007562 001401 BEQ 6693
2654 007564 104003 ERROR 3 sankanneananttssTEST 26 = ERROR 3Intntnnnennnnnny
2655 R1 SHOULD BE ZERO
2656 007566 005702 66$: TST R2 CHECK R2=0
2657 007570 001401 BEQ 67%
2658 007572 104004 ERROR 4 sennnnnseansnnasTEST 26 - ERROR Lensaraasnennens
2659 RZ SHOULD BE ZERO
2660 007574 005703 67%: TST R3 sCHECK R3=0
2661 007576 001401 BEQ 68$
2662 007600 104005 ERROR 5 sanennnnnnnkannaJEST 26 = ERROR Stenan s crannner
2663 R3 SHOULD EE ZERO

2664 007602 020467 171046 68$: (Mp R4 ,DSTLN : CHECK R4 UNCHANGED
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2665

[pST T ST N1 NT SIS S LS N1,V
NNNNNNNNNNY
b b b ol w=d = - -

S AN 2O

Ay
OOV ~NOWN

007606
007610

007620

017622
0V7626
00/630
007034

001401
104006

020567
001401
104007

023706
001403
01063
104010

000404

076052

106767
042767
023767
001401
104001

171040

000702
000704

005054

005150
005056

170764
177400
000700

170756
170750

22-JAN-82 08:50_ PAGE
8:49 126

69%:

708:

71$:

S1726:

§2T26:

"4

= SRC2 SEQ@ 0051

:BR IF 0K

tatttttttttttttrfsr 26 = ERROR fHanntnnanantenee
Rk CHANGED

R4 SHOULD STILL EQUAL CONTENTS OF °FILL'

CHECK RS UNCHANGED

sannnnnanneanensTEST 26 - ERROR TRCRRARAARNRGARAS

:RS CHANGED , y

RS SHOULD STILL EQUAL CONTENTS OF 'DSTAD
:VERIEY STACK POINTER 1S RESTORED

BR IF OX

;COPY BAD SP VALUE

ttttttttatsnattrfsr 26 = ERROR 10etsrassnasnsnee
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED SP IS STORED AT SAVR6.

ERRONEOUS SP VALUE IS AT 'BADRE’

;BR TO NEXT TEST
:SOURCET STRING
:MOST SIGNIFICANT DIGIT

:SOURCE2 STRING
:MOS: SIGNIFICANT DIGIT

ttttttttﬁt*ttttttﬁtttttttttttttitﬁttttttt.tt.tﬁttttt!ﬁttttt.ﬁﬂt

tTEST 27

TSTZ?

TEST '°CMPN'' WITH IDENTICAL NON-ZERO MAGNITUDES, NEGATIVE SOURCEZ2, POSITI

tttttttttt.tttttttttttttttttttttttt.ttttttttttttttttt'itﬁ'ittﬁi

5¢

TEST *'CMPN'* WITH SRC1

BEQ 698

ERROR 6

CMP RS,DSTAD

BEQ 708

ERROR 7

CMP a#SAVR6, SP

BEQ 718

MOV SP, a#BADR6

ERROR 10

BR TST27

BYTE 71

BYTE 66

.BYTE 62

.BYTE 63

BYTE 71

.BYTE 66

.BYTE 63

.EVEN

SCOPE

JSR zs.npnep
21727 : SOURCET’
$2127
377

JSR RS, XPSW

_WORD 200

JSR PC,GENR

SCC

CMPN

MFPS  CCODES

BIC #177400,CCODES

CMP SN#EXPPSW, CCODES ;

BEQ 648

ERROR 1

:PREPARE ARGUMENTS FOR INSTRUCTION TEST

:SOURCET LENGTH

ADDRESS

sSOURCE2 LENGTH

;SOURCE2 ADDRESS . ,
;STORE NON-ZERG VALUE TO TEST R& UNAFFECTED BY '‘CMPN'' IN

sSET UP GENERAL REGISTERS
;SET UP THE COMPLEMENT OF EXPECTED CC'S

:STORE RESULTANT PSW

CLEAR UNUSED BITS

g:fC% PSH AGAINST EXPECTED VALUE
tt;ttttttttttttTEST 27 = EKROR 1svttatarsnnsnne
PSH ERROR

EXPECTED PSW IS STORED AT ‘‘SAVRéG''
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CVKAJB.P11 22=-JAN-82 08:49 127 TEST ""CMPN'* WITH IDENTICAL NON-ZERO MAGNJTUDES, NEGATIVE SOURCE2, POSITIV SEQ 0052
2721 :ERRONEOUS SP VALUE IS AT 'BADRS'’
2722 007732 648 :
2723 007732 005700 TS8T RO :CHECX RO=0
2726 007734 001401 BEQ 65%
2725 007736 104002 ERROR ¢ sannannannnnnteaJEST 27 = ERROR 2tenvananeenneny
2726 JRO SHOULD BE ZERO
2727 007740 005701 65%: TST rR1 JCHECK RI=0
2728 007742 001401 BEQ 66$%
2729 007744 104003 ERROR 3 JanennaneanasnaaTEST 27 = ERROR Jrrtssanitnenues
2730 :R1 SHOULD BE ZERO
2731 007746 005702 66$: TST R2 sCHECK R2=0
2732 007750 001401 B8EQ 67%
2733 007752 104004 ERROR & sunnnnannannaaaTEST 27 = ERROR 4etnntnanannanss
273% RZ SHOULD BE ZERO
2735 0077564 005703 67$: TST R3 .C ECK R3=0
2736 007756 001401 BEQ 68$
2737 007760 104005 ERROR 5 crannnnnnnnsnnannaTEST 27 = ERROR Strssarasannenns
2738 R‘ SHOULD BE ZERO
2739 007762 020467 170666 68$: CMP R4 ,DSTLN CHECK R4 UNCHANGED
2740 007766 001401 BEQ 69$ :BR IF OK
2"[,1 007770 10(.006 ERROR 6 ttttttttttttttt]’EST 27 - ERRm 6tttttttttttttt.
2742 R4 CHANGED . v
2743 R4 SHOULD STILL EQUAL CONTENTS OF °‘FILL
2744 007772 020567 170660 69%: CMP R5,DSTAD SCHECK R5 UNCHANGED
2745 007776 901401 BEQ 708
2746 010000 104007 ERROR 7 cxnnnannsnnansddTEST 27 = ERROR 7resssessnnenten
2747 RS CH- NGED ]
2748 RS SHOULD STILL EQUAL CONTENTS OF 'DSTAD'’
2749 010002 023706 000702 708: CMP a#SAVR6,SP SVERJFY STACK POINTEK IS RESTORED
2750 010006 001403 BEQ 718 &R IF 0K
2751 01Cui0 010637 000704 MOV SP,a#BADRG :COPY BAN SP VALUE
2752 073014 104010 ERROR 10 "*'**tttt*'t*tTEST 27 = ERROR 10retsssanansnene
2753 STACK POINTER NOT RESTORED 8Y INSIRUCTION
2754 EXPECTED SP IS STORED AT °‘SAVRS''
2755 ERRONEOUS SP VALUE IS AT 'BADRéE'’
2756 910016 718:
2757 010016 000404 B8R TST30 :BR TO NEXT TEST
2758 010020 S17127: SOURCE1 STRING
2759 010020 071 BYTE N HOST SIGNIFICANT DIGIT
2760 010021 067 BYTE 67
2761 010022 065 BYTE 65
2762 010023 063 BYTE 63
2763 010024 $eT127: OURCE2 SITR]
2764 0.0024 071 BYTE 71 HOS SIGNI.;CAH' DIGIT
2765 010025 067 BYTE 67
2766 010026 065 BYTE 65
2767 010027 163 BYTE 163
2768
2769 .EVEN
i
2772 JRANRAANRAARNREARRANN AT AR RN R AR NAAARARRANACARRCRANCRNRCENOES
2773 °tTESI 30 TEST "'CMPN'' WITH IDENTICAL NON-=ZERO MAGNITUDES, POSITIVE SOURCEZ2. NEGATI]
2774 cHARRARANANRRANARRNRRANE N ARRARNANRAEARANRNRANAANANKAAAARALERAANS
2775 010030 (00004 t§730: SCOPE

2776 010032 004567 004674 JSR R5,NPREP +PREPARE ARGUMENTS FOR INSTRUCTION TEST
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2777 010036 000004
2778 010040 010202
2779 010042 000004
2780 010044 010206
2781 010046 000377
2782 010050 004567
2783 010054 000210
2786 010056 004767
2785 010062 000277
g;g? 010064 000250
2788 010066 076052

2789

2790 010070 106767
2791 010074 042767
2792 010102 023767
2793 010110 001401
2794 010112 104001
2795

2796

2797

2798 J10114

2799 010114 005700
2800 010116 001401
2801 010120 104002
2802

2803 010122 005701
2804 010124 001401
2805 010126 104003
2806

2807 010130 005702
2808 010132 001401
5%?3 010134 104004
2811 010136 005703
2812 010140 001401
%g}z 010142 104005
2815 010144 020467
2816 010150 001401
2817 010152 104006
2818

2819

2820 010154 020567
2821 010160 001401
2822 010162 104007
2823

2824

2825 010164 023706
2826 010170 001403
2827 010172 010637
2828 010176 104010
2829

2830

2831

2832 010200

22-JAN°82 08:50_ PAGE 54
130 TEST "'CMPN'* WITH IDENT] AL NON-ZERO MAGNITUDES, POSITIVE SOURCE2, NEGATIV SEQ 0053

004770
004676

170602
177400
000700

170504

170476

000702
000704

648:

65$:

66$:

67%:

68$:

69%:

70$:

718:

JSR
.WORD
JSR
SCC
CLN

CMPN

MFPS
8IC

BEQ
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

TST
ERROR
TST
BEQ
ERROR
cMP

8EQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ

ERROR

B 5

4 :SOURCE1 LENGTH

S1T30  ;SOURCE1 " ADDRESS

4 sSOURCE2 LENGTH

52130 :SOURCEQ ADDRESS o

377 STORE NON=ZERO VALUE TO TEST R4 UNAFFECTED BY ''CMPN’' IN

gg6XPSU

PC.GENR :SET UP GENERAL REGISTERS
SET UP THE COMPLEMENT OF EXPECTED CC'S

CCODES :STORE RESULTANT PSVW

#177400,CCODES CLEAR UNUSED BITS

ZZEXPPSU.CCODES CHEC?Fngu:GAINST EXPECTED VALUE

1 ttttttttttttttﬁTEST 30 = ERROR 1nanaannantnates
;PSW ERROR
;EXPECTED PSW 1S STORED AT °'‘SAVR6''
:ERRONEOUS SP VALUE IS AT 'BADR6™

RO ; CHECK RO=0

2 anennennnanaassTEST 30 = ERROR 2ntewnnannvanene
RO SHOULL BE ZERO

2;3 CHECK R1=V

3 sennnnntannnttsatTEST 30 - ERROR Jananatetaetaantes
R1 SHOULD BE ZERO

2;5 :CHECK R2=0

4 ttttttttttttttttgsr 30 - ERROR 4ananansnnsenans
RZ SHOULD BE ZERO

ggs :CHECK R3=0

5 cennnnnnnenensssTEST 30 - ERROR SHNARARAARARAERSE
R3 SHOULD BE ZERO

R4 ,DSTLN sCHECK R& UNCHANGED

69§ :BR IF OK

6 sansknnsknnsneaasTEST 30 = ERROR 6Gresssnnnsnnnney
R4 CHANGED
R6 SHOULD STILL EQUAL CONTENTS OF °FILL'

;8§DSTAD CHECK RS UNCHANGED

7 sannnnnnnnnsneasTEST 30 = ERROR 7vensnnnessnnnse
RS CHANGED
RS SHOULD STILL EQUAL CONTENTS OF "DSTAD'*

a#SAVRG, SP VERIFY STACK POINTER 1S RESTORED

718 BR IF 0K

SP,@#BADR6 :COPY BAD SP VALUE

10 tttttttttttttttrfsr 30 = ERROR 10resessnsssannen

:STACK POINTER NOT RESTORED BY INSTRUCTION
;EXPECTED SP IS STORED AT '‘SAVR6'®
;ERRONEOUS SP VALUE IS AT 'BADR6'
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2833 010200 000404
2834 010202
2835 010202 070
2836 010203 066
2837 010204 064
2838 010205 162
2839 010206
2840 010206 070
2841 010207 066
2842 010210 064
2843 01021 062
2844
2845
2846
2847
2848
2849
2850
2851
2852 010212 000004
2853 010214 004567
2854 010220 000002
2855 010222 010364
2856 010224 000002
2857 010226 010366
2858 010230 000377
2859 010232 004567
2860 010236 000200
2861 010240 004767
2862 010244 000277
2863 010246 000250
2864
2865 010250 076052
2866
2867 010252 106767
2868 010256 042767
2869 010264 023767
2870 010272 001401
2871 010274 104001
2872
2873
2874
2875 010276
2876 010276 005700
2877 010300 001401
2878 010302 104002
2879
2880 010304 005701
2881 010306 001401
%gg% 010310 104003
2884 010312 005702
2885 010314 001401
2886 010316 104004
2887
2888 (010320 005703

MACY11_30(1046)

004512

004606
004514

170420
177400 170412
000700 170404
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8:49 T30

c 5
TEST ''CMPN'* WITH IDENTICAL NON-ZERO MAGNITUDES, POSITIVE SOURCE2, NEGATIV SEQ 0054

BR TST3 ;BR TO NEXT TEST
$1730: :SOURCET STRING
.BYTE 70 :MOST SIGNIFICANT DIGIT
BYTE 66
.BYTE 64
BYTE 162
$2130: :SOURCE2 STRING
BYTE 70 :MOST SIGNIFICANT DIGIT
BYTE 66
BYTE 64
.BYTE 62
.EVEN
R L L L L L ok
*TEST 31 TEST "°CMPN'* WITH +SRC1 & -SRC2, SIL = S2L, /S1/ .GT. /S2/
M4 T PP - S P A A St S T T T T L L L

TST31 SCOPE
JSR R5 .NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST

2 ;SOURCET LENGTH

S1T31  ;SOURCE1 ADDRESS

2 :SOURCE2 LENGTH

$2131 : SOURCE2 ADDRESS

377 :STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY '‘CMPN'’ IN

JSR R5 XPSW

_WORD 200

JSR PC.GENR :SET UP GENERAL REGISTERS

Efﬁ *SET UP THE COMPLEMENT OF EXPECTED CC'S
CMPN

MFPS  CCODES :STORE RESULTANT PSW

BIC #177400,CCODES :CLEAR UNUSED BITS
CMP SNEXPPSW,CCODES ;CF .CK_PSW AGAINST EXPECTED VALUE

BEQ 64$ :BR, IF EQUAL
ERROR 1 tttttttttttttttTEST 31 = ERROR 1trasaxanantnene
.PSW_ERROR

;EXPECTED PSW IS STORED AT ''SAVR''
:ERRONEOUS SP VALUE IS AT "BADR6'

643:
TST RO :CHECK RO=0
BEQ 65%
ERROR e JenannnanensnannaTEST 31 = ERROR 2tttsastananntne
RO SHOULD BE ZERO
65%: TST R1 :CHECK R1=0
BEQ 66$
ERROR 3 sannnnnsncansearTEST 31 = ERROR 3atenranannnssen
R1 SHOULD BE ZERO
668%: TST R; JCHECK R2=0
BEQ 67%
ERROR 4 tttttttttttttttTESI 31 =~ ERROR 4traxsannsnennes

:R2 SHOU D BE ZERO
67%: TST R3 :CHECK R3=0
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2889 010322
2890 010324
2891
2892 010326
2893 010332
2894 010334
2895
2896
2897 010336
2898 010342
2899 010344
2900
2901
2902 010346
2903 010352
2904 010354
2905 010360
2906
2907
2908
2909 010362
2910 010362
2911 010364
2912 010364
2913 010365
2914 010366
2915 010366
2916 010367
2917
2918
2919
2920
2921
2922
2923
2924 010370
2925 010372
2926 010376
2927 010400
2928 010402
2929 010404
2930 010406
2931 010410
2932 010414
2933 C104:6
2934 010422
2935 010424
2936
2937 010426
2938
2939 010430
2940 010434
2941 010442
294% 010450
2943 010452
2944

001401
104005

020467

001401
104006

020567
001401
104007

023706
001403
010637
104010

000402

071
066

066
m”m

076052
106767

104001

22~JAN-82 08:5)_ PAGE 56
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170322
170314

000702
000704

004334

004430
004336

170242
177400 170234
000700 170226

D §

TEST ''CMPN'* WITH +SRC1 & =SRC2, SIL = S2L, /S1/ .GT. /S2/ SEQ 0055

tttttttttttttttTEST 31 = ERROR Stetcenencacenne
R3 SHOULD BE 2ERD

CHECK R4 UNCHANGED

BR IF 0K

tttttttttt.ttttTEST 31 = ERROR fteensesnsanenes
R4 CHANGED

R4 SHOULD STILL EQUAL CONTENTS OF ‘FILL'

CHECK RS UNCHANGED

sannnnnnensasaasTEST 31 = ERROR 7teenvesnsseneese
;RS CHANGED

*R5 SHOULD STILL EQUAL CONTENTS OF 'DSTAD'
gSRIFY STACK POINTER IS RESTORED

IF 0K
:COPY BAD SP VALUE
ttttttttttttttthST 31 = ERROR 10testsncenensned
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED SP 1S STORED AT 'SAVR6"
ERRONEOUS SP VALUE IS AT 'BADR6

:BR TO NEXT TEST
;SOURCET STRING
:MOST SIGNIFICANT DIGIT

:SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

titttttttttttttttttttttttiittitttitttttlt!..".t.t'i.ttt'ﬁ'tt'.

TEST ‘'CMPN'* WITH =SRC1 § +SRC2, S1L = S2L, /S1/ .GT. /Se/

tﬁttttt!t*tﬁttttttitttﬁtttttt'.tttitﬁi.tttttt't.ﬁ't.t.lti't.ﬁ.'

sPREPARE ARGUMENTS FOR INSTRUCTION TEST
:SOURCET LENGTH

; SOURCE2 LENGTH
;SOURCEZ ADDRESS
;STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY '‘CMPN'' IN

;SET UP GENERAL REGISTERS
sSET UP THE COMPLEMENT OF EXPECTED CC'S

sSTORE RESULTANT PSW

;CLEAR UNUSED BITS

;CHECK PSW AGAINST EXPECTED VALUE
:BR, IF EQUAL

BEQ 68$
ERROR S
68$ cmp R& ,DSTLN
BEQ 69%
ERROR 6
698:  CMP RS,DSTAD
BEG 708
ERROR 7
708:  CMP NSAVRG, SP
BEQ 718
MOV SP, a#BADRG
ERROR 10
718:
BR TST32
S1T31:
BYTE 71
.BYTE 66
§2T31:
.BYTE 66
.BYTE 171
.EVEN
-TEST 32
$8732:  SCOPE
JSR gs.npnep
§1732 :SOURCE?’ ADDRESS
$2132
377
JSR RS, XPSW
_WORD 210
JSR PC.GENR
+SEV!SEZ!SEC
CLN
CMPN
MFPS  CCODES
BIC #177400,CCODES
CMP SNEXPPSW,CCODES
BEQ 64$
ERROR 1

sunknnsnnaeanasatTEST 32 = ERROR 1reeesssannennen

:PSW ERROR




JMAIN.
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910454
010454
010456
010460

010532
010536

010540
010540
010542
010542
010543
010544
010545
010545
019546
010547

005700
001401
104002

005701
001401
104003

005702
001401
104004

005703
001401
104005

020467

001401
104006

020567
001401
144007

023706
001403
010637
104010

000403
070
161
061
V70

000004
004567
000704

08:49

170144

170136

000702
000704

004154

c2=JAN-82 08:50__PAGE 57
132

648

65$:

66$:

67%:

68$:

69%:

708:

718:

S1732:

$2T32:

E 5

TEST "'CMPN'’' WITH -SRC1 & +SRC2, S1L = S2L, /S1/ .GT. /Se/ SEQ 0056

TST
BEQ
ERROR

TST
8EQ
ERROR

TST
BEQ
ERROR

137
BEQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ
ERROR

.BYTE
.BYTE
.BYTE

.BYTE
.BYTE
.BYTE

-EVEN

RO

65$

2

R1

663

3

R2

678

4

R3

688

5

R4 ,DSTLN
295

RS ,DSTAD

708
7

@#SAVR6, SP
71$
SP,3#BADR6
10

TST33
70

63
161
61

70

;EXPECTED PSW IS STORED AT '‘SAVR6''
;ERRONEOUS SP VALUE IS AT 'BADRG'

;CHECK RO=0

snnnnnennaaatntdTEST 32 = ERROR 2evotenetnnnnnes

;RO _SHOULD BE ZERO
:CHECK R1=0

shnnannsannntttsTEST 32 = ERROR Jnnenvaavenaneen

:R1_SHOULD BE ZERO
: CHECK R2=0

sennnnnntenaa ks TEST 32 = ERROR Lrnnantannnnntes

:R2 SHOULD BE ZERO
; CHECK R3=0

sukanennnnsnnaeaTEST 32 = ERROR Sevwnannnennnnns

R3 SHOULD BE <ERO

;CHECK R4 UNCHANGED

.BR IF 0K

JannnennanenesenTEST 32 = ERROR Gttanuntanntasen
R‘ CHANGED , .

R4 SHOULD STILL EQUAL CONTENTS OF "FILL

CHECK R5 UNCHANGED

saeansnannnsnsnsTEST 32 = ERROR 7xasanasantntsns
RS CHANGED

RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD''
:VERIFY STACK POINTER IS RESTORED

BR IF 0K

:COPY BAD SP VALUE

ttttttttttttttthST 32 = ERROR 10%tanscannatsnts
STACK POINTER NOT RESTORED BY INSTRUCTION
;EXPECTED SP_IS STORED AT ' 'SAVRG''

ERRONEOUS SP VALUE IS AT 'BADR6

sBR TO NEXT TEST
:SOURCE1 STRING
;MOST SIGNIFICANT DIGIT

;SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

itttttttttttttttttt'iittttttt‘tittﬁ'ﬁﬁtttiﬁt*ttttittitttﬁittlti

tresr 32

15733

SCOPE
JSR

TEST ''CMPN'' WITH S1L = S2L, POSITIVE SOURCE2, SOURCE2 MAGNITUDE IS GREAT

cARRR AR R AR A AR AN ARA A AR RN AARAARRANAAAANRARARARARARAAAEANAARRNRNRS

R5 .NPREP
4

:PREPARE ARGUMENTS FOR INSTRUCTION TEST
:SOURCET LENGTH
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CVKAJB.P1 22-JAN=-82 08:49 T3 TEST “'CMPN'* WITH S1L = S2L, POSITIVE SOURCE2, SOURCE2 MAGNITUDE IS GREATE SEQ 0057
3001 010560 010722 S1T33  :SOURCE1 ADDRESS
3002 010562 000004 4 :SOURCE2 LENGTH
3003 010564 010726 $2733 SOURCEZ ADDRESS
30064 010566 000377 377 STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY "CMPN'' IN
S 010570 004567 004250 JSR RS XPSW
010574 000210 .WORD 210
3007 010576 004767 006156 JoR PC,GENR :SET UP GENERAL REGISTERS
3008 010602 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
gg?g 010604 000250 CLN
gg}é 010606 076052 CMPN
3013 010610 106767 170062 MFPS CCODES :STORE RESULTANT PSW
301 010614 042767 177400 170054 8I1C #177400,CCODES ;CLEAR UNUSED BITS
3015 010622 023767 000700 170046 cmP SNEXPPSW,CCODES ; *CHECK PSW AGAINST EXPECTED VALUE
3016 010630 001401 BEQ 64% BR. IF EQUAL
3017 010632 104001 ERROR 1 tttttttttttttttTEST 33 = ERROR Tansnananennanse
3018 PSU ERROR
3019 EXPECTED PSW 1S STORED AT *'SAVR6'’
3020 ERRWEOUS SP VALUE IS AT 'BADRS’’
3021 010634 64$:
3022 016634 005700 TST RO :CHECK RO=0
3023 010636 001401 BEQ 65%
3024 010640 104002 ERROR 2 sannannanennnsnsTEST 33 = ERROR 2ttnetnnnnsatnnne
3025 RO SHOULD BE ZF"0
3026 010642 005701 65%: TST R1 CHECK R1=0
3027 010644 001401 BEQ 66$
3028 010646 104003 ERROR 3 sanannnnnnnnnna s JEST 33 « ERROR 3Jatananseanenane
3029 R1 SHOULD BE 2ERO
3030 010650 005702 66$: TST R2 CHECK R:=0
3031 010652 001401 BEQ 67$%
3032 010654 104004 ERROR 4 sannnnnsnsneannn[EST 33 « ERROR 4ovasrasasntntntn
3033 R2 SHOULD BE ZERO
3034 010656 005703 67%: TST R3 CHEC K R3=0
3035 010660 001401 BEQ 68$
3036 0106862 104005 ERROR 5 sunnnnnnnnnnaassTEST 33 =~ ERROR Strasnenansasanas
3037 R3 SHOULD BE ZERO
3038 010664 020467 167764 68$: cMpP R4 ,DSTLN :CHECK R4 UNCHANGED
3939 010670 001401 8EQ 69% :BR IF OK
o0 010672 104006 ERROR 6 tttttttttttttttTEST 33 =« ERROR Otrenesanansnnee
3041 R4 CHANGED
3042 Rk SHOULD STILL EQUAL CONTENTS OF ‘FILL"
3043 010674 020567 167756 69%: CMP RS ,DSTAD :CHECK RS UNCHANGED
3044 010700 001401 BEQ 708
%822 010702 104007 ERROR 7 t;tttttttttttttTEST 33 ~ ERROR 7rstssntvannsnse
:R
3047 RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'
3048 0107064 023706 000702 708: P a#SAVYR6,SP :VERIFY STACK POINTER IS RESTORED
3049 010710 001403 BEQ 718 BR IF 0K
3050 010712 (10637 000704 MOV SP ,a#BADRG :COPY BAD SP VALUE
3051 010716 104010 ERROR 10 tttttttttttttttTEQt 73 « ERROR 10reessansennnene
3052 STACK POINTER hui RESTORED 8y INSTRUCTION
3053 EXPECTED SP IS STORED AT ‘''SAVRéE'®
3054 ERRONEOUS SP VALUE IS AT ‘BADR6'’
3055 010720 71%:
3056 010720 000404 BR TST34 :BR TO NEXT TEST




6 5
JMAIN.  MACY11 30(1046) 22-JAN-82 08:50_ _PAGE 59
CVKAJB.P11 22-JAN-82 08:49 733 TEST ''CMPN"* WITH S1L = S2L, POSITIVE SOURCE2, SOURCE2 MAGNITUDE IS GREATE SEQ@ 0058

3057 010722 S1733: :SOURCET STRING

3058 01072% 067 .BYTE 67 JM0ST SIGNIFICANT DIGIT

3059 01072 066 LBYTE 66

3060 010724 065 .BYTE 65

3061 010725 064 BYTE 664

3062 010726 $2T33: :SOURCE2 STRING

3068 010726 067 .BYTE 67 :MOST SIGNIFICANT DIGIT

3064 010727 066 BYTE 66

3065 010730 065 BYTE 65

3066 010731 065 BYTE 65

3067

3068 +.EVEN

e

3071 ;;ttttttttttttttttttttttttttttttttttttttttttttttttttttttnttt.tttt

3072 soTEST 34 TEST ''CMPN'' WITH S2L .GT. S1L, SUCCESSFUL COMPARE

3073 S AAAAR AR IR RREARNR AR TR AR AN RAARRRANRAANAAAAREAARAAARERARCANAS

3076 010732 000004 tS7134:  SCOPE

3075 010734 004567 003772 JSk RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

3076 010740 000002 2 :SOURCE1 LENGTH

3077 010742 011104 S1T34 .SOUPCET ADDRESS

3078 010744 4 ;SOURCE2 LENGTH

3079 010746 011106 S2734 :SOUR(CEZ2 ADDRESS

3080 010750 090377 377 :STORE NON=ZERO VALUE TO TEST R4 UNAFFECTED BY ''CMPN’’ IN
308 010752 004567 004066 JSR RS XPSW

308 010756 000204 LWORD 204

308> 010760 004767 003774 JSR PC.GENR :SET UP GENERAL REGISTERS

3084 010764 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S

3085 010766 000244 cL2

gggg 010770 076052 CMPN

3089 010772 106767 167700 MFPS CCODES :STORE RESULTANT PSW

3090 010776 042767 177400 167672 BIC #177400,CCODES ;CLEAR UNUSED BITS

3091 0110046 023767 000700 167664 (MP SMEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

3092 011012 001401 6EQ 648 ;BR, IF EQUAL

3093 0110146 104001 ERROR 1 cannannnnannasanJEST 34 = ERROR 1nssancassnnnne
3094 ;PSW ERROR

3095 :EXPECTED PSW IS STORED AT, ‘'SAVRG'

3096 :ERRONEOUS SP VALUE IS AT ‘BADR6'’

3097 011016 64$:

3098 011016 005700 TST RO :CHECK RO=0

3099 011020 001401 BEQ 65%

3100 011022 104002 ERROR 2 suknnnensnnnnsssTEST 34 = ERROR 2trrnnasantnsent
3101 ;RO SHOULD BE ZERO

3102 0110246 005701 65%: TST R1 :CHECK R1=0

3103 011026 001401 BEQ 668

31046 011030 104003 ERROR 3 sennnanennnnnvaeTEST 34 - ERROR Jaanantnatanttnt
3105 :R1 SHOULD BE ZERO

3106 011032 005702 66%: TST R2 sCHECK R2=0

3107 011034 001401 BEQ 67%

3108 011036 104004 ERROR 4 sannenannnannsneTEST 34 = ERROR 4rarensannsneene
3109 ;R2 SHOULD BE ZERO

3110 011040 005703 67%: TST R3 JCHECK R3=0

3111 011042 001401 B8EQ 68$%

3112 0110644 104005 ERROR 5 sransanennaneranJEST 34 = ERROR Strananssananene
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CVKAJB.P11 22=JAN-82 0 TEST *'CMPN'' WITH S2L .GT. S1L, SUCCESSFUL COMPARE SEQ 0059
3113 :R3 SHOULD BE ZERO
3114 011043 020467 167602 68$: (0, ' R4 ,DSTLN JCHECK R4 UNCHANGED
3115 011052 001401 BEQ 69$ ;BR IF OK
3116 011054 104006 ERROR é ;QttttttttttttttTEST 34 = ERROR Grenesassenenney
3117 :R& CHANGED e
3118 :R& SHOULD STILL EQUAL CONTENTS OF ‘FILL
3119 011056 020567 167574 69%: Cmp RS ,DSTAD JCHECK RS UNCHANGED
3120 011062 001401 BEQ 708
3121 011064 104007 ERROR 7 sennnnnnnnenneenTEST 34 = ERROR 7rtsreacnenesttns
3122 ;RS CHANGED . .,
3123 ;RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD
3126 011066 023708 000702 708: P @#SAVR6,SP :VERIFY STACK POINTER 1S RESTORED
3125 011072 00140 BEQ 718 JBR IF OK
3126 011074 010637 000704 MOV SP,a#BADR6 ;COPY BAD SP VALUE
3127 011100 104010 ERROR 10 sennnanannnnavasTEST 34 = ERROR 10eetcancecetenee
3128 :STACK POINTER NOT RESTORED BY INSTRUCTION
3129 :EXPECTED SP IS STORED AT !'SAVRG''
3130 :ERRONEOUS SP VALUE IS AT ’‘BADR6
3131 011102 71$:
3132 011102 C00403 BR TST3S :BR TO NEXT TEST
3133 011104 S1734: :SOURCE1 STRING
3136 011104 067 BYTE 67 sMOST SIGNIFJCANT DIGIT
3135 011105 on BYTE
3136 011106 $2T134: :SOURCEZ2 STRING
3137 011106 060 BYTE 60 :MOST SIGNIFICANT DIGIT
3138 011107 060 BYTE 60
3139 011110 067 BYTE 67
3140 011111 071 BYTE 71
3141
3142 .EVEN
3144
3145 IR AR AR AR AR R RN AR RN A AN RARN R NAR AN AR AANAANRA SRR NN
3146 J«TEST 35 TEST *'CMPN'* WITH NEGATIVE OPERANDS € SRC2 LENGTH .GT. SRC1 LENGTH, NON-2
3147 R e e e R T A e T A LA A A LA bl i e Ll b
3148 011112 000004 TS7T35: SCOPE
3149 011114 004567 003612 JSR RS,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
3150 011120 00000 2 :SOURCE1 LENGTH
3157 011122 01126 S1T35  :SOURCET ADDRESS
3152 011124 000004 4 sSOURCE2 LENGTH
3153 011126 011264 S2T35 sSOURCE2 ADDRESS
3154 011130 000377 . 377 :STORE NON=-2ERO VALUE TO TEST R4 UNAFFECTED BY 'CMPN'‘ IN
3155 011132 004567 003706 JSR RS  XPSW
3156 011136 ooozog JWORD 200
3157 011140 004767 003614 JSR PC.GENR :SET UP GENERAL REGISTERS
%}gg 011144 0002°7 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
g}g? 011146 076052 CMPN
3162 011150 106767 167522 MFPS CCODES ;STORE RESULTANT PSW
3163 011154 042767 177400 167514 BIC #1776400,CCODES :CLEAR UNUSED BITS
3164 011162 023767 000700 167506 C(MP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
3165 011170 001401 8EQ 643 :BR, IF EQUAL
3166 011172 104001 ERROR 1 cangnannnnnnsnssTEST 35 = ERROR 1tansasnnntennte
3167 ;PSW_ERROR .
3168 :EXPECTED PSW IS STORED AT ''SAVRG'’
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135 TEST "'CMPN'* WITH NEGATIVE OPERANDS & SRC2 LENGTH .GT. SRC1 LENGTH, NON-ZE SEQ 0060

CVKAJB.P11 22-JAN-82 0

3169 ;ERRONEOUS SP VALUE IS AT 'BADRéG'’

3170 011174 64$:

3171 011174 005700 TST RO ;CHECK RO=0

3172 011176 001401 BEQ 65%

317 011200 104C02 ERROR e caknnnnaneeeerenJEST 35 = ERROR 2¢ttreseanttntene
3176 RO SHOULD BE ZERO

3175 011202 00570 65%: TST R1 CHECK R1=0

3176 011204 001401 BEQ 6%

3177 011206 104003 ERROR sennnkananannaeeTEST 35 = ERROR Jtttnnnaassetets
3178 R1 SHOULD BE ZERO

3179 011210 005702 66$: TSY RZ CHECK R2=0

3180 011212 0014601 BEQ 67%

3181 011214 104004 ERROR & sennnnnannaaneasTEST 35 = ERROR 4rvosenensasnane
3182 R2 SHOULD BE ZERO

3183 011276 005703 67%: TST R3 CHE K R3=0

3°84 011220 001401 BFO 688

3185 011222 104005 ERROR 5 sennnnnnnnaneneeaTEST 35 « ERROR Seetvasneventenee
3186 R3 SHOULD BE ZERO

3187 011224 020467 167424 68%: CMP R4 ,DSTLN :CHECK R4 UNCHANGED

3188 011230 001401 BEQ 69% ‘B8R IF OK

T1R9 011232 104006 ERROR é cannnnsanaceanesTEST 35 « ERROR Gretvnssassennene
3190 Rlo CHANGED

3191 RL SHOULD STILL EQUAL CONTENTS OF °‘FILL'

3192 011234 020567 167416 69%: CMpP RS,DSTAD CHECK RS UNCHANGED

3193 011240 001401 BEQ 70%

31946 011242 104007 ERROR 7 cennesaannesenanJEST 35 « ERROR 7tetatnasenteae
3195 RS CHANGED

3196 RS SHOULD STILL EQUAL CONTENTS OF °‘DSTAD'’

3197 011244 023706 000702 708 : cmp a#SAVRG, SP VERIFV STACK POINTER IS RESTORED

3198 011250 001403 8EQ 718 BR IF

3199 011252 010637 000704 MOV SP,a#BADRS ;COPY BAD SP VALUE

3200 011256 104010 ERROR 10 ttt*tt*ttt**tttTEST 35 = ERROR 10ssenasnttnnsese
3201 STACK POINTER NOT RESTORED BY lNSTRUCTlON

3202 E/(PECTED SP IS STORED AT °'‘SAVRG'’

3203 ERRONEOUS SP VALUE IS AT 'BADRG'’

3204 011260 71$:

3205 011260 000403 BR TST36 :BR TO NEXT TEST

3206 011262 S1735: SOURCE1 STRING

3207 01126 070 .BYTE 70 HOST SIGNIFICANT DIGIT

3208 01126 161 BYTE 161

3209 011264 $2T135: :SOURCE2 STRING

3210 0 ‘64 061 BYTE 61 HOST SIGNIFICANT DIGIT

3211 011265 060 BYTE 60

312 011266 070 BYTE 70

3%}2 011267 161 BYTE 161

§215 .EVEN

Bt

3218 SRR RN AN AREAEAR LR A TR E RN ANRARANAARR R ERVAREAARARAERRCRARAN

3219 *TEST 36 TEST *'CMPN’' WITH POSITIVE OPERANDS & SRC2 LENGTH .GT. SRC1 LENGTH, NON-Z
3220 IR AN NARNRN RO AR RN N NANARNARAANERARAANRAAARENERRAVRNSE

3221 011270 0C. .04 TSTSé SCOPE

3222 011272 004567 003434 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

3223 011276 000002 2 SOURCEI LENGTH

32264 011300 011442 S1736 SOURCE1 ADDRESS
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CVKAJB.P11 22-JAN-82 08:49 136 TEST ''CMPN'' WITH POSITIVE OPERANDS & SRC2 LENGTH .GT. SRC1 LENGTH, NON-ZE SEQ 0061
3225 011302 000004 :SOURCE2 LENGTH
3226 011304 011445 §2736 SOURCE ADDRESS ,
3227 011306 000377 77 STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY ''CMPN'’' IN
3228 011310 004567 003530 JSR RS XPSW
3229 011314 000210 _WworRD 210
3230 011316 004767 003436 JSR PC,GENR :SET UP GENERAL REGISTERS
3231 011322 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
§§§§ 011326 000250 CLN
%%gg 011326 076052 CMPN
3236 011330 106767 167342 MFPS CCODES :STORE RESULTANT PSW
3237 011334 042767 177400 167334 8IC #177400,CCODES CLEAR UNUSED BITS
3238 011342 023767 000700 167326 CMP SNEXPPSW,CCODES ; <CHECK PSW AGAINST EXPECTED VALUE
3239 011350 001401 BEQ 64% :BR, IF EQUAL
3240 011352 104001 ERROR 1 ittttttttttttttTEST 36 = ERROR 1nnnannansennnny
3241 PSU ERROR
3242 :EXPECTED PSW IS STORED AT ''SAVRG'
3243 ERRONEOUS SP VALUE IS AT 'BADRS'’
3244 011354 64$:
3245 011354 005700 TST RO :CHECK RO=0
3246 011356 001401 BEQ 658
3247 011360 104002 ERROR 2 sennanannennsnnsTEST 36 = ERROR 2% tenandnnsantts
3248 RO SHOULD BE ZERO
3249 011362 005701 658: TST R1 CHECK R1=0
3250 011364 001401 BEQ 66$
3251 011366 104003 ERROR 3 sanannaennenennseTEST 36 = ERROR Ittt atstnenannnn
3252 R1 SHOULD BE ZERO
3253 011370 005702 66$: TST R2 +CHECK R2=0
3254 011372 001401 BEQ 67%
3255 011374 104004 ERROR & sannnnnannnannesTEST 36 = ERROR fevannnnnnnanens
3256 R2 SHOULD BE ZERO
3257 011376 005703 67%: TST R3 :CHECK R3=0
3258 011400 001401 BEQ 68$
3259 011402 104005 ERROR 5 shntnnnnnnensteanTEST 36 = ERROR Statrnanntnnnnene
3260 R3 SHOULD BE ZERO
3261 0114046 020467 167244 68S$: CMP R4 ,DSTLN ;CHECK R& UNCHANGED
3262 011410 001401 BEQ 69% :BR IF OK
3263 011412 104006 ERROR 6 ttttttttttttttthST 36 = ERROR Otttntnntactnann
3264 R4 CHANGED
3265 R4 SHOULD STILL EQUAL CONTENTS OF "FILL"
3266 011414 020567 167236 69%: CMP R5,DSTAD CHECK R5 UNCHANGED
3267 011620 001401 BEQ 708
3268 0114622 104007 ERROR 7 sannnnnnnnanenasTEST 36 = ERROR 7tranreansennnene
3269 RS CHANGED
3270 RS SHOULD STILL EQUAL CONTENTS UF °‘DSTAD'
3271 011426 023706 000702 708 : CMP a#SAVRE,SP VERIFY STACK POINTER IS RESTORED
3272 011430 001403 BEQ 718 *BR IF OK
3273 011432 010637 000704 MOV SP,a#BADR6 ;COPY BAD SP VALUE
3274 011436 104010 ERROR 10 "t**'t"***"tTEST 36 ~ ERROR 10trennansnnnannes
3275 STACK POINTER NOT RESTOREP BY INS!RUCIION
3276 EXPECTED SP 1S STORED AT °‘SAVRé'
3277 ERRONEOUS SP VALUE IS AT 'BADFG’’
3278 011440 718:
3279 011440 000403 BR 1S737 :BR TO NEXT TEST
3280 011442 S1736: SOURCE1 STRING
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L1 22=-JAN=-82 08:49 T3 TEST "‘CMPN'* WITH POSITIVE OPERANDS & SRC2 LENGTH .GT. SRC1 LENGTH, NON-ZE SEQ 006
011442 070 .BYTE 70 sMOST SIGNJFICANT DIGIT
011443 061 .BYTE 61
011444 061 BYTE 61
011445 S2136: :SOURCE2 STRING
011445 060 .BYTE 60 HOST SIGNIFICANT DIGIT
011446 070 BYTE 70
011447 061 .BYTE 61
.EVEN
B L L L L L L b bddebdbduiidabdabeb ot ddeiodatabadtidbukis i doinbdal
*TEST 37 TEST *'CMPN’’ WITH S1L .GT. S2L, SUCCESSFUL COMPARE
ttttttttttttttttttttttttttttttttttttttttttttttttltttttttttttttt
01145C 000004 $§737:  SCOPE
011452 004567 003254 JSR RS ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
011456 000004 4 SOURCEl LENGTH
011460 011622 S1T37  ;SOURCE? ADDRESS
011662 000002 2 2SOURCE2 LENGTH
0114664 011626 S2137 SOURCEZ ADDRESS
011466 000377 377 STORE NON=-ZERO VALUE TO TEST R4 UNAFFECTED BY ''CMPN'’ IN
011470 004567 003350 JSR RS XPSW
011474 000204 .WORD 204
011476 004767 002256 JSR PC.GENR :SET UP GENERAL REGISTERS
011502 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
011504 0002% Lz
011506 076052 CMPN
011510 106767 167162 MFPS CCODES :STORE RESULTANT PSW
0115146 042767 177400 167134 BIC #177400,CCODES CLEAR UNUSED BITS
011522 023767 000700 167146 CMP SNEXPPSW,CCODES CHECK PSW AGAINST EXPECTED VALUE
011530 001401 8EQ 648 BR IF EQUAL
011532 104001 ERROR 1 tttttttttttttatrfsr 37 = ERROR 1nsraanasnnnttny
PSH ERROR
EXPECTED PSW IS STORED AT "SAVRG."
ERRONEOUS SP VALUE IS AT 'BADR6’
011534 648:
011534 005700 TST RO :CHECK RO=0
011536 001401 BEQ 65%
011540 104002 ERROR 2 sankannnennsnnssTEST 37 = ERROR CRRARARRARARLARR
;RO SHOULD BE ZERO
011542 005701 65$: 1ST R1 :CHECK R1=0
011544 001401 BEQ 66%
011546 104003 ERROR 3 sannnananneaea s «TEST 37 = ERROR 3xannanasnntnene
R1 SHOULD BE ZERO
011550 005702 66$: TST R2 :CHECK R2=0
011552 001401 BEQ 67%
011556 104004 ERROR 4 sanannnnannaseaxsTEST 37 = ERROR 4rrvnnnnannnenen
RZ SHOULD BE ZERO
011556 005703 67%: TST R3 :CHECK R3=0
011560 001401 BEQ 68$
011562 104005 ERROR 5 sanskanannnnnnesTEST 37 = ERROR Settnansannneene
R3 SHOULD BE 2ERQO
011564 020467 167064 68$: CMP R4 DSTLN CHECK R4 UNCHKANGED
011570 001401 BEQ 698 ;B8R IF OK




L 5
MAIN. MACY11 _30(10646) 22-JAN-82 08:50_ _PAGE 64

CVKAJB.P11 22-JAN-82 08:49 T37 TES™ "'CMPN'* WITH S1L .GT. S2L, SUCCESSFUL COMPARE SEQ 0063
3337 011572 104006 ERROR 6 sonnnnnaseenstatTEST 37 = ERROR Hreenenenneannns
3338 ;R4 CHANGED ,

3339 R4 SHOULD STILL EQUAL CONTENTS OF °'FILL'

3340 011576 020567 167056 698%: CMpP RS ,DSTAD CHECK RS UNCHANGED

3341 011600 001401 BEQ 708

334 011602 104007 ERROR 7 sakanesneaneeanasTEST 37 = ERROR 7tetxnasnntanesss
334 *R5 CHANGED

~34b RS SHOULD STILL EQUAL CONTENTS OF ‘'DSTAD*’

3345 011604 023706 000702 70%: CMP aN#SAVR6,SP VERIFY STACK POINTER IS RESTORED

3346 011610 001403 BEQ 718 BR IF 0K

3347 011612 010637 000704 MOV SP,8#BADRS COPV BAD SP VALUE

3348 011616 104010 ERROR 10 ttt*'ttttttttttTEST 37 = ERROR 10esasanasnnnnens
3349 STACK POINTER NOT RESTORED 8Y INSTRUCTnoﬂ

3350 EXPECTED SP IS STORED AT 3AVR6.

3351 ERRONEOUS SP VALUE IS AT 'BADR6'’

3352 011620 718:

3353 011620 000403 BR TST40 ;BR TO NEXT TEST

3354 011622 S1737: SOURCE1 STRING

3355 011622 060 BYTE 60 HOST SIGNIFICANT DIGIT

3356 011623 060 .BYTE 60

737 011624 071 BYTE 71

2358 011625 070 BYTE 70

3359 011626 S2T37: sSOURCE2 STRING

3360 011626 071 .BYTE 71 MOST SIGNIFICANT DIGIT

3361 011627 070 BYTE 70

3362

3363 .EVEN

3363

3366 SRR RNAA AR AR AN TR NRNRARAA RN RRRRAANAANARNRAARAACANES

3267 .*TEST 40 TEST *‘CMPN’’ WITH S1L .GT. S2L, NEGATIVE SOURCE1, NON=ZERO IN EXCESS
3368 : tttlttttttttttttttttttttttttttttttttttttttltttttttttttttttttﬁtt

3369 011630 000004 TST40: SCOPE

3370 011632 004567 003074 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

3371 011636 000004 4 SOURCET LENGTH

3372 011640 012002 S1T40 SOURCET ADDRESS

3373 011642 000002 2 :SOURCE2 LENGTH

3374 011644 012006 $2T40 SOURCEZ ADDRESS

3375 011646 000377 377 STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY '‘CMPN'’ IN
3376 011650 004567 003170 JSR RS XPSW

3377 011654 000210 .WORD 210

3378 011656 004767 003076 JSR PC.GENR :SET UP GENERAL REGISTERS

3379 011662 000277 SCC sSET UP THE COMPLEMENT OF EXPECTED CC°*S

ggg? 011664 000250 CLN

%gg% 011666 076052 CMPN

3384 011670 106767 1§7002 MFPS CCODES :STORE RESULTANT PSW

3385 011674 0462767 1776400 166774 BIC #177600,CCODES CLEAR UNUSED BITS

3386 011702 023767 000700 166766 CMpP SAEXPPSW,CCODES ; *CHECK PSW AGAINST EXPECTED VALUE

3387 011710 001401 BEQ 648 BR. IF EQUA

3388 011712 104001 ERROR 1 tt*tttt*t-tttttTEST 40 = ERROR 1rattaxasnsnteny
3389 PSH ERROR

3390 :EXPECTED PSW IS STORED AT, '‘SAVRS'

3391 ERRONEOUS SP VALUE IS AT 'BADRG'’
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CVKAJB.P11 22=JAN-82 08:49 140 TEST "'CMPN'' WITH SIL .GT. S2L, NEGATIVE SOURCE1, NON-ZERO IN EXCESS SEQ 0064
3393 011714 005700 TST RO s CHECK RO=0
3394 011716 001401 BEQ 65%
3395 011720 104002 ERROR 2 seannnnancenanaeTEST 40 = ERROR 2uettnsnetanaene
3396 RO SHOULD BE ZERO
3397 011722 005701 65%: TST R1 : CHECK R1=0
3398 011724 001401 BEQ 663
3309 011726 104003 ERROR 3 sennnenananansataTEST 40 = ERROR 3navnnsnsnnnntens
3400 ;sR1 SHOULD BE ZERO
3401 01173C 005702 66S: TST R2 JCHECK R2=0
3402 011732 007401 BEQ 67%
3403 011734 104004 ERROR 4 sannanknennanansTEST 40 = ERROR 4rttnantnnntnany
3404 RZ SHOULD BE ZERO
345 011736 005703 Y4 B TST R3 +CHECK R3=0
3406 011740 001401 BEQ 68$
3607 011742 104005 ERROR 5 sannsnennanaeaanaTEST 40 = ERROR Sttvsnnanerntsant
3408 R3 SHOULD BE ZERO
3409 011744 020467 166704 68$: CMP R4 ,DSTLN *CHECK R& UNCHANGED
3410 011750 001401 BEQ 69% :BR IF OK
3411 011752 104006 ERROR 6 sunnnnnnnannetst*TEST 40 = ERROR Greantnasnannnneen
3412 R6 CHANGED
3413 R4 SHOULD STILL EQUAL CONTENTS OF "FILL''
34146 011754 020567 166676 69%: CMpP RS ,DSTAD CHECK RS UNCHANGED
3415 011760 001401 BEQ 708
316 011762 104007 ERROR 7 JunnknnnnaavaneaaTEST 40 ~ ERROR 7atasansastnvans
3417 RS CHANGED
3418 RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'
3419 011764 023706 000702 708: CMP aNSAVR6,SP JVERIFY STACK POINTER 1S RESTORED
3420 011770 001403 BEQ 718 BR IF
3421 011772 010637 000704 MOV SP,a#BADR6 :COPY BAD SP VALUE
%2 011776 104010 ERROR 10 tt'ttﬁttt*tttttTEST 40 = ERROR 10stntsrnansneane
3423 STACK POINTER NOT RESTORED BY INSTRUCTION
3424 EXPECTED SP IS STORED AT 'SAVR6.
3425 ERRONEOUS SP VALUE IS AT 'BADR6"’
3426 012000 718:
3427 912000 000403 BR TST41 JBR TO NEXT TEST
3428 012002 S1T40: sSOURCE1 STRING
3429 012002 061 BYTE 61 HOST SIGNIFICANT DIGIT
3430 012003 060 .BYTE 60
3431 012004 063 BYTE 63
3,32 012005 167 BYTE 167
3433 012006 $2740: :SOURCEZ STRI
3434 012006 063 BYTE 63 :MOST SIGNIF ICANT DIGIT
3435 012007 167 BYTE 167
3436
3437 .EVEN
i
3440 IRNEAARARAEERARAARRA RN RN EERAARAAANARARANANNAAARRARERRRACARARASE
3441 tTEST 41 TEST *'CMPN'' WITH S1L .CT. S2L. POSITIVE SOURCE!, NON-ZERO IN EXCESS
3442 ttttttttttttttttttfﬁttttttttttttttttttttttttttt'ttttttttttttttt
3443 012010 000004 7§T41:  SCOPE
3444 012012 004567 002714 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
3445 012016 000004 4 SOURCE1 LENGTH
3446 012020 012160 S1Té41 SOURCE1 ADDRESS
3447 012022 000002 2 :SOURCE2 LENGTH
3448 012026 012164 S2T41 SOURCEz ADDRESS
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004567
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076052
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020467
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003010
002716

166624
177400
000700

166526

166520

000702
000704

166616
166610

T4l

648:

65$:

66$:

67$:

68$%:

69%:

708:

718:
S1T41:
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TEST ''CMPN'* WITH S1L .GT. S2L, POSITIVE SOURCE1, NON=2ERO IN EXCESS

JSR
.WORD
JSR
SCC

CMPN

MFPS
BlC
CMP
BEQ
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

1ST
BEQ
ERROR

TST
BEQ
ERROR

CMP
8EQ
ERROR

CMP
8€Q
ERROR

CMP
BEQ
MOV
ERROR

.BYTE
.BYTE
.BYTE

277
RS  XPSW
200

PC.GENR

CCODE

DES
#177400,CCODES
QZEXPPSH.CCODES

RO
65%
P4
R1
66$
3
R2
67
4
R3
68$
5

Ré,DSTLN
g9§

RS,DSTAD
;oé

@#SAVR6, SP
718
SP,a#BADR6
10

TSTé¢

61
6
é

SEQ 0065

;STORE NON=ZERQ VALU" TO TEST R4 UNAFFECTED BY ‘‘CMPN'’ IN

;SET UP GENERAL REGISTERS
:SET UP THE COMPLEMENT OF EXPECTED CC'S

sSTORE RESULTANT PSW

sCLEAR UNUSED BITS

sCHECK PSW AGAINST EXPECTED VALUE

sBR, IF EQUAL

cunrannenneaattdTEST 41 - ERROR 1ettnsnenantenne

:PSWw _ERROR

sEXPECTED PSW IS STORED AT ‘‘SAVR6''
:ERRONEOUS SP VALUE IS AT 'BADRG'’

:CHECK RO=0

sannnannenneannnsTEST 41

*RO SHOULD BE ZERO

JCHECK R1-0

sannnennsnenenestTEST 41

ERROR 2tattasanttdante

ERROR Jaansnntnanttany

;R1_SHOULD BE 2ERO

s CHECK R2=0

sansnnnnsnnreensTEST 41

iR2_SHOULD BE ZERO

ECK R3=0

snannnnnnnaasansTEST 41

ERROR 4atsnesansasneny

ERROR Seantantsnatenty

:R3 SHOULD BE ZERO
s CHECK R& UNCHANGED

s8R IF 0K

sansnnnnnnansetaTEST 41 = ERROR Gvrtnnenecsnnnes

:R& CHANGED

;R4 SHOULD STILL E
:CHECK R5 UNCHANGE

gUAL CONTENTS OF ‘FILL"

sannnnnannatanstTEST 41 = ERROR 7ttsnsaananttnny

;RS CHANGED

;RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD*
:ggﬂ%:vongCK POINTER 1S RESTORED

1COPY BAD SP VALUE

sannnnnannanneeatTEST 41 = ERROR 10vescencennnnene

:STACK POINTER NOT RESTORED BY INSTRUCTION

cEXPECTED SP IS STORED AT

AVR6

;ERRONEOUS SP VALUE IS AT 'BADRG'’

sBR TO NEXT TEST
s SOURCE1 STRING

sMOST SIGNIFICANT DICIT
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22-JAN-82 0 TEST *'CMPN'* WITH SIL .GT. S2L, POSITIVE SOURCEY, NON-Z2ERO IN EXCESS SEQ 0066
067 BYTE 67
S2T41: :SOURCE2 STRING
063 .BYTE 63 HOST SIGNIFICANT DIGIT
067 .BYTE 67
SRAAAAARA AN AN NAA TN RN R AN ARANARRRANRARARARANRANRA RN RA RS
tTEST 42 TEST '‘CMPN'' WITH POSITIVE OPERANDS, /S1/ .GT. /S2/
tttttttttttttttttttttttttttttttttttttttttttttttttttttt*tttttttt
000004 TST42 SCOPE
004567 002536 JSR RS5.NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
000003 3 :SOURCET LENGTH
012336 S1T42  ;SOURCE1 " ADDRESS
000003 3 :SOURCE2 LENGTH
012341 2742 SOURCEZ ADDRESS
000277 377 STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY ''CMPN'' IN
004567 002632 JSR RS  XPSW
000200 .WORD 200
004767 002540 JSR PC,GENR ;SET UP GENERAL REGISTERS
000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
076052 CMPN
106767 166446 MFPS CCODES :STORE RESULTANT PSW
042767 1776400 166440 BiC #177400,CCODES CLEAR UNUSED BITS
023767 000700 166432 CMP SNEXPPSW,CCODES ; CHECK PSW AGAINST EXPECTED VALUE
001401 B8EQ 643 IF EQUA
104001 ERROR 1 tttttttttt-ttttTESI 42 = ERROR 1tenasasnannatan
PSU ERROR
EXPECTED PSW 1S STORED AT. ‘SAVR6'’
648 ERRONEOUS SP VALUE IS AT 'BADRG'’
005700 TST RO :CHECK RO=0
001401 BEQ 658
104002 ERROR P4 sannnnnnnnnnsnanJEST 62 = ERROR 2tratatnsnsatnty
RO SHOULD BE ZERO
005701 658: TST R1 CHECK R1=0
001401 BEQ 663
104003 ERROR 3 cunnnenstansanerTEST 42 - ERROR 3nrananannvanany
R1 SHOULD BE ZERO
005702 66S$: TST R2 :CHECK R2=0
001401 BEQ 67%
104004 ERROR 4 senananansaasseaTEST 42 = ERROR 4rtenasanannnnen
RZ SHOULD BE ZERO
005703 678: TST R3 :CHECK R3=0
001401 BEQ 683
104005 ERROR 5 sannsnnannensxasTEST 42 - ERROR 3132211221121 1)
RS SHOULD BE ZERO
020467 166350 68S$: CMpP R4 ,DSTLN sCHECK R4 UNCHANGED
001401 BEQ 69$ :BR IF OK
106006 ERROR 6 caeannnannnanvasJEST 42 =~ ERROR Gtnsnansnasanane

:R4 CHANGED
R4 SHOULD STILL EQUAL CONTENTS OF ‘FILL'
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CVKAJB.P11 22=JAN-82 0 T42 TEST "'CMPN'' WITH POSITIVE OPERANDS, /S1/ .GT. /S2/ SEQ 0067
3561 012310 020567 166342 69%: (MP RS.DSTAD :CHECK R5 UNCHANGED
3562 012314 001401 BEQ 708
3563 012316 104007 ERROR 7 suneensanennaandTEST 42 = ERROR 7enwawnanenenens
3564 :RS CHANGED . N
3565 RS SHOULD STILL EQUAL CONTENTS OF 'DSTAD
3566 012320 023706 000702 708: CMpP a#s:wne SP VERIFY STACK POINTER IS RESTORED
3567 012324 001403 BEQ 71% BR IF
3568 012326 010637 000704 MOV aP, _a¥BADRG ; COPY BAD SP VALUE
3569 012332 104010 ERROP  10° tﬁt*ttttttttttttesr 42 = ERROR 10trwsannsnnanant
3570 STACK POINTER NOT RESTORED 8Y INSTRUCTION
3571 :EXPECTED SP IS STORED AT ''SAVRG'
3572 ERRONEDUS SP VALUE IS AT ‘BADR6
3573 012334 718:
3576 012334 000403 BR TST43 :BR TO NEXT TEST
3575 012336 S1T42: ;SOURCE1 STRING
3576 012336 067 .BYTE 67 HOST SIGNIFICANT DIGIT
3577 012337 065 BYTE 65
3578 012340 064 BYTE 64
3579 012341 S2T42: :SOURCE2 STRING
3580 012341 067 BYTE 67 HOST SIGNIFICANT DIGIT
3581 012342 065 .BYTE 65
3582 012343 063 .BYTE 63
3583
3584 .EVEN
388
3587 JRRRRARRAAARAANRRARARERRERANARARANANRAAARAARARAASRARAARAAACANAEAR
3588 *TEST 43 TEST ‘'CMPN'* WITH NEGATIVE OPERANDS, /S1/ .GT. /S¢/
3589 A RARNAA AR RN ARAARANNEAACARRNARNRAARAANAANARARARARNARRARANACSAREAS
3590 012344 000004 78743 SCO°E
3591 012346 004567 002360 JSR RS _NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
3592 012352 000003 3 :SOURCE1 LENGTH
3593 012354 012514 S1T43  ;SOURCE1 ADDRESS
3594 012356 000003 3 ; SOURCE?2 LENGTH
3595 012360 012517 S2T43 SDURCEZ ADDRESS
3596 012362 000377 377 STORE NON=-2EKO VALUE TO TEST R4 UNAFFECTED BY °‘‘CMPN'’ IN
3597 012364 004567 002454 JSR RS  XPSW
3598 012370 000<10 WORD 210
3599 012372 004767 002362 JSR PC.GENR :SET UP GENERAL REGISTERS
ggg? 012376 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
ggg% 012400 076052 CMPN
3606 012402 106767 166270 MFPS CCODES sSTORE RESULTANT PSW
3605 012406 042767 177400 166262 BIC #177400,CCODES :CLEAR UNUSED BITS
3606 012414 023767 000700 166254 CMP a#EXPPSH CCODES :CHECK PSW AGAINST EXPECTED VALUE
3607 012422 001401 BEQ 649 BR IF EQUAL
3608 012424 104001 ERROR 1 aatttttttttttttTESI 43 = ERROR 1esssanannnnnnnt
3609 PSH ERROR
3610 EXPECTED PSW IS STORED AT.“SAVR.b_"
3611 ERRONEOUS SP VALUE IS AT 'BADRé
3612 012426 64$:
3613 012426 005700 TST RO ;CHECr. RO=0
3614 012430 001401 BEQ 65%
3615 012432 104002 ERROR 2 suenunnnansenedssTEST 43 ~ ERROR 2eenennnnnannnesn
3616 *RO SHOULD BE 2ERO
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166172

166164

000702
000704

166010
166012
060001
166016

65$:

66S%:

67%:

68S$:

69%:

708:

718$:
S1T43:

S2T43:

TEST *'CMPN'‘ WITH NEGA'IVE OPERANDS, /S1/ .GT. /S2/

TST
BEQ
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

cHP
BEQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ
MOV
ERROR

.BYTE
.BYTE

.BYTE
.BYTE
.BYTE

R1
66$

2
7%

&SH0ND W

R3
68%
5

R4 ,DSTLN
g9i

RS ,DSTAD
;oi

@#SAVR6, SP
718
SP,34BADR6
10

TST44
67
164
67

65
163

;CHECK R1=0

senennnennanaeatTEST 43 = ERROR 3evenennneenaens
:R1_SHOULD BE TFRO
:CHECK R2=0

, crennnnaannaneTEST 43 = ERROR 4tesnnnsnnnneene

:R2 SHOU D Bt ZERO
:CHECK R3=0

saneananennanataTEST 43 = ERROR Steteetnveneeney

R3 SHOULD BE ZERO

JCHECK R4 UNCHANGED

BR IF 0K

ttttttttttttttthST 43 = ERROR 6trrnnanantanene
:R4 CHANGED _ ,

Rk SHOULD STILL FQUAL CONTENTS OF 'FILL’

:CHECK RS UNCHANGED

tttttttttttttQtTESf 43 - ERROR /eresannasnntane
:RS CHANGED .

RS SHOULD STILL EQUAL CONTENTS OF °‘DSTAD'’
JVERIFY STACK POINTER IS RESTORED

BR IF 0K

;COPY BAD SP VALUE

tttttttttttttttTESI 43 = ERROR 10trasasnennnnnne
STACK POINTER NOT RESTORED BY INSIRUCTION
EXPECTED SP IS STORED AT SAVRb.

ERRONEOUS SP VALUE IS AT 'BADR6'’

:BR TO NEXT TEST
sSOURCE1 STRING
;MOST SIGNIFICANT DIGIT

:SOURCEZ STRING
:MOST SIGNIFICANT DIGIT

tttttttﬁtlttﬁttﬁtt.t!tttt*'tttttt.ttttttttttitttttttttttt*ttitt

tTEST 46

8744

T44CONT:

SCOPE
1518

TEST INTERRUPTABILITY OF °‘‘CMPN''

T ARAAARA AR RRRANAANAR NN RN A RRRNANRANRANRAAAAARNAARANAAARARAR AR AL

aSWR
TST45

$TPS,TCSR

T44CONT

IBITO SENV

T44CONT
$PAS
TST4

;TEST BIT 7 OF SWR

SKIP TO NEXT TEST IF SET

LU USED FOR INTERRUPTS THE CONSOLE?
NOT & PERFORM INTERRUPTABILITY TEST
S PROGRAM UNDER APT?

T
+CHECK IF NOT ON FIRST PASS
. BR & SKIP TEST

égu.

SEQ 0068




MACY11_30(1046)

-MAIN,

CVKAJB.P11
3673 012560
3674 012564
3675 012566
3676 012570
3677 012572
3678 012574
3679 012576
3680 012604
3681 012612
3682 012616
3683 012622
3684 012630
3685 012634
3686 012636
3687 012642
3688 012650
3689 012654
3690
3691 012656
3692
3693 012660
3694 012664
3695 012672
3696 012574
3697 012702
3698 012710
3699 012712
3700
3701
3702
3703 012714
3704 012714
3705 012716
3706 012720
3707
3708 012722
3709 012724
3710 012726
3711
3712 012730
3713 012732
3714 012734
3715
3716 012736
3717 012740
3718 012742
3719
3720 012744
3721 012750
3722 012752
3723
3724
3725 012754
3726 012760
3727 012762
3728

000277
076052

104001

005700
001401
104002

005701
001401
104003

005702
001401
104004

005703
001401
104005

020467
001401
104006

020567
001401
104007

22-JAN-82 08:50‘4PAGE

22-JAN-82 08:49

002146

000000
000100
00210«

166012
000100

177400
000700

165704

165676

166070
166056

166036

166014

165772

165774
165766

T

RECMPN:

CMPNPC:

64S$:

65%:

66%:

678:

68S8:

69$:

E 6

70
TEST INTERRUPTABILITY OF °''CMPN'’ SEQ 0069
JSR RS ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
4 ;SOURCE1 LENGTH
S1T44  :SOURCE! ADI'RESS
4 :SOURCE2 LENGTH
S2T44 :SOURCE2 ADDRESS .
377 :STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY '‘CMPN'’ IN
MOV #CMPNPC ,P(C] JSTORE PC OF TEST INSTRUCTION
MOV #INTR,STVECT :POINT TTY VECTOR TO INTERRUPT ROUTINE
CLR aTPSW :ALLOW INTERRUPTS AFTER TTY INTERRUPT
JSR PC,TDONE JWAIT FOR SLU READY
MOV a#$NULL.aTBUF  ;SEND NULL CHARACTER
JagRD 85.XPSH JSTORE EXPECTED PSW
MTPS #0 SALLOW INTERRUPTS
BIS #100,8TCSR ;ENABLE TTY INTERRUPTS
JSR PC.GENR :SET UP GENERAL REGISTERS
SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
CMPN
MFPS CCODES :STORE RESULTANT PSW
BIT #100,8TCSR :IF INTERRUPTS ARE DISABLED, INSTRUCTION WAS INTERRUPTED
BNE RECMPN :BR & DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED
BIC #177400,CCODES ;CLEAR UNUSED BITS
CMP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
BEQ 64$ :BR, IF EQUAL
ERROR 1 JanannssnanneasTEST 44 = ERROR Trasnnnanenennns
:PSW_ERROR .
JEXPECTED PSW IS STORED AT 'SAVRp'
:ERRONEOUS SP VALUE IS AT "BADR6S'’
TST RO :CHECK RO=0
BEQ 659%
ERROR p. senaknnssnantestTEST 44 ~ ERROR 2traxnanasannsnsn
;RC SHOULD BE ZERO
TST R1 ;CHECK R1=0
BEQ 663
ERROR 3 sannnnnnntnnaeasTEST 44 - ERROR L2 R I T 2
:R1 SHOULD BE ZERO
TST R2 :CHECK R2=0
BEQ 673
ERROR 4 sannnnsnnnansnvanTEST 44 = ERROR 4rxrannsnnnttannn
;RZ2 SHOULD BE ZERO
TST R3 ;CHECK R3=0
BEQ 68$
ERROR 5 sxnnenknnntnnaenJEST 46 ~ FRROR Satrsxsananasnane
:R3 SHOULD BE ZERO
CMo R4 ,DSTLN :CHECK R4 UNCHANGED
BEQ 69% :BR IF OK
ERROR é ;tttttttttttﬁttttESt 46 = ERROR Ortrsantnsnnnnen
;R4 CHANGED
;R4 SHOULD STILL EQUAL CONTENTS OF °‘FILL'
5?5 gngSTAD :CHECK RS UNCHANGED
ERROR 7 sannnnnnnneaanana[EST 44 - ERROR 7tsnsrnsnastnane

:R5 CHANGED
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TEST INTERRUPTABILITY OF '‘CMPN’’ SEQ 0070

;RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'
;VERIFY STACK POINTER 1S RESTORED

:BR IF

s COPY BAD SP VALUE

nuuutnnnrfsr &4 = ERROR 10esenstenstannee
STACK POINTER NOT RESTOREP BY INSTRUCTION
:EXPECTED SP_IS STORED AT ''SAVRG':

ERRMEOUS SP VALUE IS AT 'BADR6

:BR TO END OF THIS TEST
;SOURCET STRING
:MOST SIGNIFICANT DIGIT

;SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

ttttttttﬁt*tttttttttlitttttttttﬁittt'.l..ttttttttﬁﬁt 1 2 424 3% 4444

TEST *‘CVINL'' WITH SRC = +2,147,483,647

tt*tttttﬁttﬁtttRttttttttttttt*tttitttitti..ttt.tttﬁt"'t.'itt.t

MAIN.  MACYTT 30€1046) 22-JAN=82 08:50 PAGE 71

CVKAJB.P11  22-JAN-82 08:49 Ték
3729
3730 012764 023706 000702 708: (P aNSAVRG, SP
3731 012770 001403 BEQ 718
3732 012772 010637 000704 MOV SP, a#8ADR6
3733 012776 104010 ERROR 10
3734
3735
3734
3737 013000 718:
3738 013000 000404 ENDT44
3739 013002 $1T4é:
3740 013002 071 .BYTE 71
3741 013003 170 ‘BYTE 70
3742 013004 067 ‘BYTE 67
3743 013005 066 ‘BYTE 66
3744 013006 $2T4é:
3745 013006 071 BYTE 71
3746 013007 070 ‘BYTE 70
3747 013010 067 ‘BYTE 67
3748 013011 065 BYTE 65
3749
3750 .EVEN
3751 013012 016777 165654 165650 ENDT44: MOV TPSW,ATVECT
g;gg 013020 106427 000200 MTPS  #200
3754
3755
3756
3757 -resr 45
3758
3759 013024 000004 8745: SCOPE
3760 013026 004567 Gu1700 JSR RS, NPREP
3761 013032 000012 12
3762 013034 013164 ST4S
3763 013036 177777 177727
3764 013040 177777 177777
3765 013042 000377 377
3766 013044 004567 001774 JSR RS, XPSW
3767 013050 000200 WORD 200
3768 013052 004767 001702 JSR PC.GENR
gggg 013056 000277 sCC
g;;} 013060 076053 CVINL
3773 013062 106767 165610 MFPS  CCODES
3774 013066 062767 177400 165602 BIC #177400,CCODES
3775 013074 023767 000700 165574 CMP NEXPPSW, CCODES :
3776 013102 001401 BEQ 64$
3777 013104 104001 ERROR 1
3778
3779
3780
3781 013106 648 :
3782 013106 005700 ST RO
3783 013110 001401 BEQ 658
3784, 013112 104002 ERROR 2

sPREPARE ARGUMENTS FOR INSTRUCTION TEST

sSOURCE LENGTH
:SOURCE ADDRESS
;STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS

;STORE A NON-ZERO VALUE TO TEST R4 UNAFFECTED BY °‘CVTZL'*

sSET UP GENERAL NEGISTERS
;SET UP THE COMPLEMENT OF EXPECTED CC'S

:STORE RESULTANT PSW

CLEAR UNUSED BITS

CHECII(FPEg .:LGAINST EXPECTED VALUE
tttttttttttttttTEST 45 = ERROR 1tnrasnssasennene
PSU ERROR

EXPECTED PSW IS STORED AT "SAVR.6."

ERRMEOUS SP VALUE IS AT 'BADRé6

;CHECK RO=0

sennnnnnnnnnanatTEST 45 ~ ERROR 2venvnnnsananenn
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CVKAJB.P11 22=JAN=-82 08:49 T4S TEST "‘CVINL'' WITH SRC = +2,147,483,647 SEQ 007
3785 ;RO SHOULD BE ZEROD
3786 0131146 005701 65%: TST R1 ;CHECK R1=0
3787 013116 001401 BEQ 66$
3788 013120 104003 ERROR 3 sannnnnnaenennaeTEST 45 = FRROR 3Jetanescenceenne
3789 R1 SHOULD BE ZERO
3790 013122 020227 077777 668%: (0, R; A077777 CHECK UPPER WORD OF ANSWER
3791 013126 001401 BEQ 67$ :BR IF OK
379 013130 104004 ERROR 'A ttttttttlttt'ttTEST 45 = ERROR é4rtennasstsaneer
379 UPPER WORD OF ANSWER ]S IN ERROR
3794 EXPECTED VALUE IS 077777
3795 ERRONEOUS ANSWER VALUE IS IN R2
3796 013132 020327 177777 67%: WP R3 . #177777 :CHECK LOWER WORD OF ANSWER
3797 013136 001401 BEQ 68% :BR IF OK
3798 013140 104005 ERROR 5 iannnnsenananaaaTEST 45 = ERROR Seeveeneescenese
3799 LOUER WJRD OF ANSWER IS IN ERROR
3800 EXPECTED VALUE IS 177777
3801 ERRORNEOUS ANSWER IS IN R3
3802 013142 020467 165506 68$: (0, R4 ,DSTLN CHECK R4 UNCHANGED
3803 013146 001401 BEQ 69$
3804 013150 104006 ERROR é suennaeannensneaaTEST 45 = ERROR Gfereennnnesantese
3805 R4 CHANGED
3806 R4 SHOULD STILL EQUAL TH CONTENTS OF ‘FILL'
3807 013152 020567 165500 69$: cHP RS ,DSTAD CHEC& RS UNCHANGED
3808 013156 001401 BEQ 708 :BR IF OK
3809 013160 104007 ERROR 7 tttttttttttttt!TEST 45 = ERROR 7rsnntnsnsntntnt
3810 *RS CHANGED
3811 RS SHOULD STILL EQUAL THE CONTENTS OF 'DSTAD'’
3812 013162 70%:
3813 013162 000405 BR TST46 :8R TO NEXT TEST
3814 013164 ST4S: :SOURCE STRING
3815 013164 062 BYTE 62 HOST SIGNIFICANT DIGIT
3816 013165 061 BYTE 61
3817 013166 .BYIE 64
3818 013167 067 BYTE 67
3819 013170 BYTE 64
3820 013171 070 BYTE 70
3821 013172 063 BYTE 63
3822 013173 066 BYTE 66
3823 013174 4 BYTE 64
3E_4 013175 067 BYTE 67
3825
3826
i
3829 SRR RARAN AR RIS AT AR ARARERNE AN A NARRARNRARNANAARAARAAARES
3830 *TES! 46 TEST *'CVINL'® WITH SRC= +2,687,483,648, OVERFLOW WITH CORRECT SIGN
3831 ttttttttttttttttttttttttttttttttttttttttttttttt!ttttttttttttttt
3832 012176 000004 t§746:  SCOPE
3833 013200 004567 001526 JSR RS ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
3834 013204 000012 12 SOURCE LENGTH
3835 013206 013340 ST46 SOURCE ADDRESS
3836 013210 177777 177777 STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
3837 013212 177777 177777
3838 013214 000377 377 :STORE A NON=ZERO VALUE TO TEST R& UNAFFECTED BY evrzLt
3839 013216 004567 001622 JSR RS XPSW
3840 013222 000202 .WORD 202
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165426
165420

648:
65%:
66$:

67%:

68$:
69$:

708 :

ST46:

TEST "'CVINL'® WITH SRC= ¢2,687,483,648, OVERFLOW WITH CORRECT SIGN

JSR
SCC
cLv

CVTNL

MFPS
BI(
CMP
BEQ
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

CMP
BEQ
ERROR

cMP
BEQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ
ERROR

PC.GENR

CCODES
#177400,CCODES
S¥EXPPSW,CCODES ;

64$
1

RO
65%
2

R1
66$
3

R2,4#014631
27&

R3,#031462
gsi

R4 ,DSTLN
g9i

RS,DSTAD
;oi

:SET UP GENERAL REGISTERS
;SET UP THE COMPLEMENT OF EXPECTED CC'S

;STORE RESULTANT PSW

:CLEAR UNUSED BITS

CHECK PSW AGAINST EXPECTED VALUE

BR IF EQUAL

tttttttttttttatrfsr 46 = ERROR 1ttntnasacanetne
PSU ERROR

EXPECTED PSW IS STORED AT"SAVRQ”

ERRONEOUS SP VALUE IS AT 'BADRG'’

;CHECK RO=0

sennnanannaetsttTEST 46 = ERROR 2tvntnvrenannndee

;RO _SHOULD BE ZERO
sCHECK R1=0

senanannnnanasasTEST 46 = ERROR Jrevnnennnnvanee

R1 SHOULD BE ZERO

;CHECK UPPER WORD OF ANSWER

BR IF 0K

ttttttttttttttttfsr 46 = FRROR 4ransnsnanananne
UPPER WORD OF ANSWER IS IN ERROR

SEXPECTED VALUE IS 014631

ERRONEOUS ANSWER VALUE IS IN R2

g:EEE hguER WORD OF ANSWER

sannnnnnnnennensTEST 46 = FRROR Sassernsansnsenns
LOUER WORD OF ANSWER IS IN ERROR

;EXPECTED VALUE IS 031462

ERRORNEOUS ANSWER IS IN R3

CHECK R4 UNCHANGED

sannannnnennnsnnJEST 46 - ERROR Gtrrasnnsnasnnsnt
;R4 CHANGED \

R4 SHOULE STILL EQUAL TH CONTENTS OF "FILL®
CHECK RS UNCHANGED

BR IF OK

tttttttttttttttrfsr 46 = ERROR 7ransnsnnnsnnnee
*RS CHANGED

RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD’

:BR TO NEXT TEST
:SOURCE STRING
:MOST SIGNIFICANT DIGIT

SEQ 0072
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CVKAJB.P11 22=JAN-82 08: TEST '‘CVINL' WITH SRC= +2,687,483,648, OVERFLOW WITH CORRECT SIGN SEQ 0073
3897 013350 071 BYTE N
3898 0 13351 066 .BYTE 66
3899
3001
3002 IRARARRRNANANRARNAARRN AR LR EARARANA RN NARRATANEAAAARAACLAR G ONE
3903 *TEST 47 TEST "'CVINL'® WITH SRC = +2,147,483,648, OVERFLOW
3004 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
3905 013352 000004 $eT47:  SCOPE
3906 013354 004567 001352 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
3907 013360 000012 12 SOURCE LENGTH
3908 013362 013514 ST47 SOMCE ADDRESS
3909 013364 177777 177777 STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
3910 013366 177777 1772777
3911 913370 000377 377 :STORE A NON-ZERO VALUE TO TEST R& UNAFFECTED 8BY ‘“CVTIL'’
3912 013372 094567 001%%6 JSR RS XPSW
3913 013376 000212 LWORD 212
3914 013400 004767 001354 JoR PC,.GENR :SET UP GENERAL REGISTERS
3915 013404 000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
%3}9 013406 000242 CcLy
gg}g 013410 076053 CVTHL
3920 013412 106767 165260 MFPS CCODES ;STORE RESULTANT PSW
3021 013416 042767 177400 165252 BIC #177400,CCODES CLEAR UNUSED BITS
3922 013424 023767 000700 165244 CMP a#EXPPSU CCODES CHECK PSW AGAINST EXPECTED VALUE
3923 013432 001401 BEQ 648 BR IF EQUAL
3924 013434 104001 ERROR 1 unututnuttfsr 47 = ERROR 1tstranssanenenny
3925 PSU ERROR
3926 EXPECTED PSW IS STORED AT."SAVR6"
3927 ERRONEOUS SP VALUE IS AT 'BADRG'’
3928 013436 64$:
3929 013436 005700 TST RO :CHECK RO=0
39030 013440 001401 BEQ 65%
3931 013442 104002 ERROR P4 sanssnnennacanasTEST 47 = ERROR 2tnstansnannnnns
3932 RO SHOULD BE ZERO
3933 013444 005701 65$: TST R1 sCHECK R1=0
3934 013446 001401 BEQ 66$
39035 013450 104003 ERROR 3 sunnnnnnnannsaasTEST 47 - ERROR TInnanasannnnetne
3936 RT SHOULD BE ZERO
3937 13452 020227 100000 66$: CMP R2 ,#100000 *CHECK UPPER WORD OF ANSWER
3938 013456 001401 BEQ 67$ :BR IF OK
3939 013460 104004 ERROR ' saaneaasneanenny TEST 47 = ERROR 4rxtaxnnannntnnny
3940 lPPER WORD OF ANSWER IS IN ERROR
3941 EXPECTED VALUE IS 100000
3942 ERRONEOUS ANSWER VALUE IS IN R2
3943 013462 020327 000000 67%: W, ' R3.#0 ;CHECK LOWER WORY OF ANSWER
3944 013466 001401 8cQ 68$ :BR IF OK
3945 013470 104005 ERROR 5 sananansnnananasTEST 47 - ERROR Srasannnananetne
3946 LOUER WORD OF ANSWER IS IN ERROR
3947 EXPECTED VALUE IS O
3948 ERRORNEOUS ANSWER IS IN R3
3949 013472 020467 165156 68$%: cmp R4 ,DSTLN JCHECK R4 UNCHANGED
3950 013476 001401 BEQ 69$
3951 013500 104006 ERROR 6 sennnnnnnnenssetTEST 47 -~ ERROR Greensnennnnnnne

3952 R4 CHANGED
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CVKAJB.P11 22-JAN-82 08:49 T47 TEST '"'CVINL'® WITH SRC = +2,147,483,648, OVERFLOW SEQ 0074
3953 :Ré SHOULD STILL EQUAL +H CONTENTS OF 'FILL"
3954 013502 020567 165150 69%: CHp RS,DSTAD CHECK RS UNCHANGED
3955 013506 901401 BEQ 708 ;BR IF OK
3956 013510 104007 ERROR 7 suennnnaeananattadTEST 47 = ERROR 7vventvenntnnsans
3957 ;RS CHANGED , .
3958 ;RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD
3959 013512 708:

3960 013512 000405 BR TST50 :BR TO NEXT TEST

3961 013514 ST4L7: :SOURCE STRING

3962 013514 062 BYTE 62 HOST SIGNIFICANY DIGIT

3963 013515 NA1 BYTE 61

3964 013516 064 BYTE 64

2965 013517 067 BYTE 67

3966 013520 064 BYTE 64

3967 013521 070 .BYTE 70

3968 013522 063 BYTE 63

3969 013523 066 BYTE 66

3970 013524 064 BYTE 64 p

3971 013525 070 BYTE 70

3972

4

3975 SERARANRARNNANRRAREANRARNERRERRAANARNARAARRANRRARAAARRATANENRACNRS

3976 tTEST 50 TEST *"CVINL®® WITH SRC = =2,147,483,648

3977 ttttttttttitttttttttttttt'ttttttttttttttttttttttttttttttttttttt

3978 013526 000004 TSTSO SCOPE

3979 013530 004567 001176 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

3980 013534 000012 12 :SOURCE LENGTH

3981 013536 013670 ST50 SOURCE ADDRESS

3982 013540 177777 177777 STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
3983 013542 177777 1727777

3984 013544 000377 377 :STORE A NON-2ER0 VALUE TO TEST R4 UNAFFECTED BY °*‘CvTZL
3985 013546 004567 001272 JSR RS XPSW

3986 013552 000210 .WORD 210

3987 013554 004767 001200 JSR PC,GENR :SET UP GENERAL REGISTERS

3988 013560 (000277 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S

gggg 013562 000250 CLN

ggg; 013564 076053 CVTNL

3993 013566 106767 165104 MFPS CCODES :STORE RESULTANT PSW

39946 013572 042767 177400 165076 8IC #177400,CCODES ;CLEAR UNUSED BITS

3995 013600 023767 000700 165070 CMP SNEXPPSW,CCODES CHECK PSW AGAINST EXPECTED VALUE

3996 013606 001401 BEQ 648 BR. IF EQUAL

3997 013610 104001 ERROR 1 cnnnanennnnansasTEST 50 = ERROR 1tasannasnstnnnse
3998 :PSW_ERROR . .,

3999 EXPECTED PSW IS STORED AT ‘SAVR.Q

4000 ERRONEOUS SP VALUE IS AT 'BADR6

4001 013612 648

6002 013612 005700 1ST RO sCHECK RO=0

4003 013614 001401 8EQ 65%

L004 013616 104002 ERROR P4 sunxnnnannansastJEST S50 = ERROR 2etnnecnanennnnn
4005 *RO SHOULD BE 2ERO

4006 013620 005701 65%: TST R1 <CHECK R1=9

4007 013622 001401 BEQ 668

4008 013624 104003 ERROR 3 sennnenanesnaneeTEST 50 - ERROR Janasannenasnten
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(vKAJB.P11 22=JAN-82 08:49 750 TEST "'CVINL'' WITH SRC = =2,147,483,648 SEQ 0075
4009 ;JR1 SHOULD BE ZERO
4010 013626 020227 100000 66%: CMP R2,#100000 SCHECK UPPER WORD OF ANSWER
4011 013632 001401 BEQ 67§ :BR IF OK
4012 0136346 104004 ERROR 4 tttttttttttttttTESf S0 = ERROR 4rnesncennnennee
4013 UPPER WORD OF ANSWER 1S IN ERROR
4Ng EXPECTED VALUE IS 100000
4015 ERRONEOUS ANSWER VALUE IS IN R2
4016 013636 020327 000000 67%: CMP R3I 40 ;CHECK LOVER UO«D OF ANSWER
4017 013642 001401 BEQ 6§ ;B8R IF OK
4018 013644 104005 ERROR tttttttttttttttTEST S0 = ERROR Sttttnennannsten
4019 LOUER WORD OF ANSWER IS IN ERROR
4020 EXPECTED VALUE IS 0O
4021 ERRORNEOUS ANSWER IS IN R3
4022 013646 020467 165002 68S$: CMP R4 ,DSTLN :CHECK R& UNCHANGED
4023 013652 001401 BEQ 69$
4024 013654 104006 ERROR 6 cuncnnnennennnanTEST S0 = ERROR 6rentannantannne
4025 R4 CHANGED , v
4026 R4 SHOULD STILL EQUAL TH CONTENTS OF °‘FILL
4027 013656 020567 164774 69%: CMP RS,DSTAD *CHECK RS UNCHANGED
4028 013662 001401 BEQ 70$ :BR IF OK
4025 013664 104007 ERROR 7 cannnnnnnanaaassTEST 50 = ERROR 7enranesanenanen
4030 RS HANGED
4031 RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD'
4032 013666 708:
4033 013666 000405 B8R TSTS1 :BR TO NEXT TEST
4034 013670 $T750: SOURCE STRING
4035 013670 062 .BYTE 62 HOST SIGNIFICANT DIGIT
4036 013671 061 BYTE 61
4037 013672 064 BYTE 64
4038 013673 067 BYTE 67
4039 013674 064 BYTE 64
4040 013675 070 BYTE 70
4041 013676 063 BYTE 63
4042 013677 066 BYTE 66
4043 013700 064 BYTE 64
4044 013701 170 BYTE 170
4045
ioer
401.8 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
4049 *TEST 51 TEST 'CVINL’® WITH SRC = =2,147,483.,649, OVERFLOW
4050 ttttttttttttttttttttlit*ttttittttttttttttttttttttttttttttttttﬁt
4051 013702 000004 TSTS1 SCOPE
4052 013704 004567 001022 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
4053 013710 000012 12 SOURCE LENGTH
L0546 013712 014044 ST51 SOURCE ADDRESS
4055 013714 177777 1272777 STOPE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
4056 013716 177777 177777
4057 013720 000377 377 :STORE A NON-ZERO VALUE TO TEST R& UNAFFECTED BY cvraLt
4058 013722 004567 001116 JSR RS XPSW
4059 013726 000202 LWORD 202
4060 013730 004767 001024 JSR PC.GENR :SET UP GENERAL REGISTERS
4061 013734 000265 +SEZ'SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
4062 013736 000252 +CLN!CLV

4064 013740 076053 CVINL
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CVKAJB.P11 22=-JAN=-82 08:49 51 TEST ''CVINL'' WITH SRC = =2,147,483,649, OVERFLOW SEQ 0076
4065
4066 013742 106767 164730 MFPS CCODES :STORE RESULTANT PSW
L4067 013746 042767 177400 164722 BIC #177600,CCODES :CLEAR UNUSED BITS
4068 013754 023767 000700 164714 (MP ANEXPPSW,CCODE> :CHECK PSW AGAINST EXPECTED VALUE
4069 013762 001401 BEQ 648 *BR, IF EQUAL
4070 013764 134001 ERROR 1 sennnnannnnansaaTEST 51 = ERROR 1revnnnndtanaten
40N PSH ERROR
4072 EXPECTED PSW IS STORED AT “SAVR.6."
4073 ERRONEOUS SP VALUE IS AT 'BADR6
4076 013766 648 :
4075 013766 005700 TST RO ;CHECK RO=0
4076 013770 001401 BfQ 65$
4077 013772 104002 ERROR 2 sannnennsenansasTEST 51 = ERROR 2ntnnnnanncananse
4078 RO SHOULD BE Z2ERO
4079 013774 005701 65%: TST R1 ;CHECK R1=0
4080 013776 001401 BEQ 663
4081 014000 104003 ERROR 3 sannnnnanennnsetTEST 51 = ERROR Jnvenanannvevnnes
4082 *R1 SHOULD BE ZERO
4083 014002 020227 077777 66%: CMP R2 4077777 s CHECK UPPER WORD OF ANSWER
4084 014006 001401 BEQ 67§ :BR IF OK
4085 014010 104004 ERROR 4 cannnnanatast e TEST 51 = ERROR 4rnvnnannnnnnnes
4086 UPPER WORD OF ANSWER ]S IN ERRCR
4087 EXPECTED VALUE IS 077777
4,088 ERRONEOUS ANSWER VALUE IS IN R2
4089 034012 020327 177777 678: CMP R3.#177777 *CHECK LOWER WORD OF ANSWER
4090 014016 001401 BEQ 68 *BR IF 0K
4091 014020 104005 ERROR 5 sannnannnaeansasTEST S1 = ERROR Stnnenvansnnanes
4092 LOUER WORD OF ANSWER IS IN ERROR
4093 EXPECTED VALUE IS 177777
4094 ERRORNEOUS ANSWER IS IN R3
4095 0164022 020467 164626 68$: cmp R4 ,DSTLN CHECK R4 UNCHANGED
409 014026 001401 BEQ 69§
4097 014030 104006 ERROR 6 cannnennnaaeaa sk TEST 51 - ERROR Gretentennnnnens
4098 R4 CHANGED
4099 R4 SHOULD STILL EQUAL TH CONTENTS OF °*FILL'
4100 014032 020567 164620 69$: CMP RS,DSTAD SCHECK R5 UNCHANGED
4101 014036 001401 BEQ 708 *BR IF 0K
46102 014040 104007 ERROR 7 sannnsnknanaeaeaJEST §1 = ERROR 7rasnsantnenanee
403 RS CHANGED
4104 RS SHOULY STILL EQUAL THE CONTENTS OF 'DSTAD'’
4105 016042 708 :
4106 014042 000405 B8R TSTS2 ;BR TO NEXT TEST
46107 014044 ST51: :SOURCE STRING
4108 014044 062 .BYTE 62 HOST SIGNIFICANT DIGIT
4109 014045 061 BYTE 61
4110 014046 064 BYTE 664
4111 014047 067 .BYTE 67
4112 014050 064 .BYTE 64
4113 014051 070 .BYTE 70
4114 014052 063 .BYTE 63
4115 014053 066 BYTE 66
4116 014054 064 .BYTE 64
4117 014055 171 BYTE 17
4118
4119
4120
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CVKAJB.P11 22-JAN-82 08:49 152 TEST "'CVINL'* WITH SRC LENGTH = 1, SOURCE= 60,60 SEQ 0077
4121 :;ttttttttttttttttttlttittttﬁtﬁttttttttt'ttt.tttttttttttttttttttt
«122 S*TEST 52 TEST 'CVINL'* WITH SRC LENGTH = 1, SOURCE= 60,60
1.123 .o t#ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
4124 014056 000004 _ t§152: SCOPE
6125 014060 004567 000646 JSR RS,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TESY
4126 014064 000002 2 *SOURCE LENGTH
6127 014066 016220 ST52 *SOURCE ADDRESS
4128 014070 177777 177777 *STORE ALL ONES TO LOAD INTO R2 & R3 REGISTERS
4129 014072 177777 177777 N
4130 0140764 000377 377 ;STORE A NON-ZERO VALUE TO TEST R4 UNAFFECTED BY "‘CVTZL
L4131 014076 004567 0007642 JSR RS, XPSW
4132 014102 000204 LWORD 204
6133 014104 004767 000650 JSR PC,GENR ;SET UP GENERAL REG!STERS
4134 014110 000277 SCC SSET UP THE COMPLEMENT OF EXPECTED CC'S
2};2 014112 000244 cLZ
2};; 014114 076053 CVINL
4139 014116 106767 164554 MFPS  CCODES :STORE RESULTANT PSW
4140 014122 042767 177400 164546 BIC #177400,CCODES :CLEAR UNUSED BITS
4161 014130 023767 000700 164540 CMP NEXPPSW,CCODES :CHECK PSW AGAINS1 EXPECTED VALUE
4142 014136 001401 BEQ 64$ :BR, IF EQUAL
4143 014140 104001 ERROR 1 ianeansesaaaseaaTEST 52 = ERROR 1o#rsanteananenn
4144 :PSW ERROR
4145 SEXPECTED PSW IS STORED AT ‘‘SAVR6''
4146 SERRONEOUS SP VALUE IS AT "BADRG'’
4147 014142 64$:
4148 014142 005700 TST RO :CHECK RO=0
4149 014144 001401 BEQ 65$
4150 014146 104002 ERROR 2 sannanennenneannsTEST 52 = ERROR 2tttnennssennens
4151 *RO SHOULD BE ZERO
4152 014150 005701 65$: TST R1 +CHECK R1=0
4153 014152 001401 BEQ 663
4154 014154 104003 ERROR 3 suntnsnansaseansTEST 52 = ERROR 3nnessnnnnnnennn
4155 *R1 SHOULD BE ZERO
4156 014156 020227 000000 66$: CMP R2.#0 :CHECK UPPER WORD OF ANSWER
4157 014162 001401 BEQ 67§ :BR IF OK
4158 014164 106004 ERROR & Jenanannnnt et aTEST 52 = ERROR 4vennnnnnnnunres
4159 *UPPER WCRD OF ANSVER IS IN ERROR
4160 *EXPECTED VALUE IS 0
4161 *ERRONEOUS ANSWER VALUE IS IN R2
4162 014166 020327 000000 67$: cMP R3.#0 ;CHECK LOWER WORD OF ANSWER
4163 014172 001401 BEQ 68§ :BR IF 0K
4164 014174 104005 ERROR S tannannennnnseaaTEST 52 = ERROR Stennnnsnnnenwas
4165 *LOWER WORD OF ANSWER IS IN ERROR
4166 SEXPECTED VALUE IS 0
4167 *ERRORNEQUS ANSWER IS IN R3
4168 014176 020467 164452 68$: CMP R4 DSTLN “CHECK R& UNCHANGED
4169 0714202 001401 BEQ 69%
4170 014204 104006 ERROR 6 sanaanasans eaaaaTEST 52 = ERROR Gtttvsnnsesanees
4171 *R4 CHANGED
4172 ‘R4 SHOULD STILL EQUAL TH CONTENTS OF 'FILL'
4173 014206 020567 164444 69$: CMP R5,DSTAD ‘CHECK RS UNCHANGED
4174 014212 001401 BEQ 708 :8R IF OK
4175 01462146 104007 ERROR 7 ceennsnnnnnsssesTEST S2 = ERROR 7xtrsannsnnannne

4176 :R5 CHANGED




N 6
MAIN. MACY11_30(1046) gZZgAN°82 08:5? PAGE 79

CVKAJB.P11 22=-JAN-82 08: 5¢ TEST '‘CVINL'' WITH SRC LENGTH = 1, SOURCE= 60,60 SEQ 0078
L1177 ;RS SHOULD STILL EQUAL THE CONTENTS OF "DSTAD‘
4178 014216 708:

6179 014216 000401 BR TST53 sBR TO NEXT TEST

4180 014220 sTS2: :SOURCE STRING

4181 014220 060 BYTE 60 JMOST SIGNIFICANT DIGIT

4182 014221 060 BYTE 60

At

4188 IINANRANAAANRRANRAARRAANIEANRANRENRRARRRARNERAXAARAOARARARAANRERR

4186 :«TEST 53 TEST INTERRUPTABILITY OF °‘’CVINL'

4187 JINRRARRNANR RN RN AN IR AN AN A RANARNARARCANCA AN AN AAANARACAT AN NR D

4188 014222 000004 TSTS3: SCOPE

6189 0142246 105777 164310 TST8 aSWR ;TEST BIT 7 OF SWR

4190 014230 100532 BM] $EOP ;SKIP TO NEXT TEST IF SET

L1971 014232 026767 164312 164424 CMP $TPS,TCSR JIS SLU USED FOR INTERRUPTS THE CONSOLE?

6192 014240 001007 BNE CVTCONT :BB. IF NOT & PERFORM INTERRUPTABILITY TEST
L4193 014242 032767 000001 164336 BIT #8170,8ENV JIFr YES, 1S PRGGRAM UNDER APT?

4194 014250 001403 BEQ CVTCONT ;BR, IF NOT

4195 014252 005767 164316 TST $PASS JIF YES,CHECK IF NOT ON FIRST PASS

4196 014256 001117 BNE $EOP sIF NOT, BR & SKIP TEST

L4157 014260 CVTCONT:

4192 014260 004567 000646 JSR RS .NPREP JPREPARE ARGUMENTS FOR INSTRUCTION TEST

4199 014264 000012 12 sSOURCE LENGTH

£200 014266 014472 ST53 :SOURCE ADDRESS

4201 0147y 177777 127777 JSTORE ALL ONES TO LOAD INTO R2 & R3 RESISTERS
6202 014272 177777 1727777 , .
4203 014274 000377 377 :STORE A NON-ZERU VALUE TO TEST R& UNAFFECTED BY 'CVTZL
4204 014276 012767 014356 164370 MOV #CVIPC,PCI JSTORE PC OF TEST INSTRUCTION

4205 014304 012777 015114 164356 MOV #INTR,STVECT *POINT TTY VEFTOR TO INTERRUPT ROUTINE

4206 014312 005077 164354 CLR aTPSW :ALLOW INTERRUPTS AFTER TTY INTERRUPT

L207 016316 004767 (0N0546 JSR PC,TDONE s4dAIT FOR SLU READY

+208 014322 013777 000554 164336 MOV i#‘NULL.aTBUF JSEND NULL CHARACTER

4206 014330 004567 000510 JSR RS ,XPSW SSTORE EXPECTED PSW

4210 014334 000000 MORD O

6211 0146336 106427 000000 MTPS #0 JALLOW INTERRUPTS

6212 014342 052777 000100 164314 8IS #100,8TCSR JENABLE TTY INTERRUPTS

4213 014350 004767 000404 RECVIN: JSR PC,GENR JSET UP GENERAL REGISTERS

23}2 014354 000277 SCC JSET UP THE COMPLEMENT OF EXPECTED CC'S

2%}9 014356 076053 CVTPC: CVINL

4218 014360 106767 164312 MFPS CCODES ;STORE RESULTANT PSW

6219 014364 032777 000100 164272 BIT #100,8TCSR JIF INTERRUPTS ARE DISABLED, INSTRUCTION WAS INTERRUPTED
4220 014372 001366 BNE RECVIN :BR & DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED
4221 014374 NL2767 177400 164274 B8IC #177400,CCODES ;CLEAR UNUSED BITS

4222 014402 023767 000700 164266 CMP aNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

4223 014410 001401 BEQ 648 :BR, IF EQUAL

42¢4 014412 104001 ERROR 1 sennnanannaneteaTEST S3 « ERROR 1tttannsenanessese
4225 ;PSW ERROR , .

4226 :EXPECTED PSW IS STORED AT ''SAVRG

4227 ;ERRONEOUS SP VALUE IS AT 'BADRS'’

¢228 014414 648:

4229 014414 005700 TST RO :CHECK R0O=0

4230 014416 001401 BEQ 5%

4231 016420 104002 ERROR sansnnnnnettsanaTEST §3 « ERROR 2esrtannnnnntens

4232 ‘RO SHOULD BE ZERO
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CVKAJB.P11 22-JAN-82 08:4 153 TEST INTERRUPTABILITY OF "'CVINL'' SEQ 0079
4233 014422 005701 65%: TST :CHECK R1=0
6234 014424 001401 BEQ 663
4235 014426 104003 ERROR 3 sensnsnsnenttanaTEST 53 = FRROR Jneawsnnntaneatens
4236 R1 SHOULD BE ZERO
4237 014430 020227 052525 66$: CMP R2,#052525 *CHECK UPPER WORD OF ANSWER
4238 014436 001401 BEQ 67$ :BR IF 0K
46239 014436 104004 ERROR & ntnnnunnresr §3 = ERROR 4rannassnsennene
4240 UPPER WORD OF ANSUER IS IN ERROR
(241 EXPECTED VALUE IS 052525
4242 ERRONEOUS ANSWER VALUE IS IN RZ2
6243 014440 020327 125252 678: CMP R3 4125252 :CHECK LOWER WORD OF ANSWER
4244 014444 001401 BEQ 68$ :BR IF 0K
4245 016446 104005 ERROR S sunnnnsnneanantasTEST S3 = ERROR Seevnenenanntane
4246 LOHER WORD OF ANSWER IS IN ERROR
4247 EXPECTED VALUE IS 125 52
4248 ERRORNEOUS ANSWER IS IN R3
4249 014450 020467 164200 68%: CMP R4 ,DSTLN CHECK R4 UNCHANGED
4250 014454 001401 BEQ 69$
4251 014456 104006 ERROR 6 sannnnnnanananasTEST 53 - ERROR Grevneannnnntene
4252 R4 CHANGED
4253 *R4 SHOULD STILL EQUAL TH CONTENTS OF 'F¥ILL"
4254 0164460 020567 164172 698: CMP RS.DSTAD CHECK RS UNCHANGED
4255 014464 001401 BEQ 708 :BR IF OK
2%2? 014466 104007 ERROR 7 ;;ttttte;;-t-tttesr S3 = ERROR 7ttreassensatntsd
4258 RS SHOULD STILL EQUAL THE CONTENTS OF 'DSTAD'’
4259 014470 708:
4260 014470 000405 BR ENDTS3 :BR TO END OF THIS TEST
4261 014472 STS3: SOURCE STRING
6262 014472 061 .BYTE 61 HOST SIGNIFICANT DIGIT
4263 014473 064 BYTE 64
L2646 0146474 063 BYTE 63
4265 014475 061 BYTE 61
4266 014476 066 BYTE 66
4267 014477 067 BYTE 67
4268 014500 067 BYTE 67
4269 014501 066 .BYTE 66
4270 014502 061 BYTE 61
25;} 014503 060 BYTE 60
4273 0145046 016777 164162 164156 ENDTS53: MOV TPSW,@TVECT
4274 014512 106427 000200 MTPS #200
zg;g .SBTTL END OF PASS ROUTINE
4277 TR RN AR R RN AR AR AN N NAA AR RAAAAREENRARRAS
4278 *INCREHENT THE PASS NUMBER (SPASS)
4279 *IF SW12=1 INHIBIT TRACE TRAP
4280 *IF THERES A HONITOR GO 10 IT
253} *IF THERE ISN'T JUMP TO BEGIN
4283 014516 $EOP:
42846 014516 000004 SCOPE
4285 014520 005067 163756 CLR STSTNH ;:1ERDO THE TEST NUMBER
4286 014524 005267 164044 INC $PA INCR'HENT THE PASS NUMBER
4287 014530 042767 100000 164036 B8IC #100000 $PASS ..DOM'T ALLOW A NEG. NUMBER
4288 014536 005327 DEC (PC)+ 2:LO00P?
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000001
003024

000426

013700
001405
000005

00024C
104400

000137
001300

00
014702
011637
104200

000000

011637
1046204
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END OF PASS ROUTINE

08:49

014664
000042

014574

000042

000020
010000

000020

000020
014652

377

047105
051523

000706

000706

163710

000

020104
020040

$EOPCT: .WORD
83T
MoV
.WORD
S$EOPCT
TYPE,
MOV
8EQ
CLR
MOV

SENDCT:

$GET42:

$CLR.T:

SENDAD:

$DOAGN:

18: MOV
SRTRN:
$LOOP:
SRTNAD:
$1BIT:
$ENULL:

ENDMSG:

JMP

-WORD
-WORD
.BYTE

.EVEN

1
$DOAGN
%PC)+.3(PC)+

ENDMSG
42, RO
$DOAGN

-(SP)
#S$CLR.T,=(SP)

SRTRN
axé2,R0
$DOAGN
PC.(RO)

#20,(SP)
ggIFIZ.OSHR

?TBIT

$
#20, (SP)
#$LOOP,~(SP)

a(PC)+
BEGIN

0
-1.-1.0

s YES
:sRESTORE COUNTER

;TYPE "END PASS'’
..GET MONITOR ADDRESS
s ;BRANCH IF NO MONITOR
:INSURE THE ''T'' BIT IS CLEAR
..SETUP FOR AN RTI OR RTT
;G0 DO AN RTI OR RTT TO LOAD THE PSW
::WITH A CLEARED ''T** BIT

:2INSURE RO CONTAINS THE MONITORS
:JRETURN ADDRESS

::CLEAR THE WORLD

2260 TO MONITOR

s SAVE ROOM

2:FOR
JsACT
:sPUSH OLD PSH AND PC ON STACK
::CLEAR THE ‘T'' BIT
..RUN WITH TRACE TRAP?
::BR IF NO
IS }; ;6"5 FOR TRACE TRAP
SET TRACE TRAP
..JUHP TO START OF TEST
..RETURN--THIS IS CHANGED TO

‘RTT' IF "RTT'* IS A LEGAL
..INSTRUCTION

s sRETURN

:'T'" BIT STATE INDICATOR
..NULL CHARACTER STRING

-EVEN
ASCIZ <155<12>/END PASS /

;ROUTINE TO REPORT UNEXPECTED TRAPS TO LOCATION O

TZERO: MOV

ERROR

HALT

(SP) ,a#0LDPC
200

:GET PC+2 WHERE UNEXPECTED TRAP OCCURRED
ttttttttttERROR 200cannnennnn
SUNEXPECTED TRAP TO LOCATION 0

;'OLDPC’' CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
PROGRAH MUST BE RESTARTED AT THIS POINT

sROUTINE TO REPORT UNEXPECTED TRAPS TO LOCATION &

TIMTRP: MOV
ERROR

(SP) ,a#0LDPC
204

:GET PC+2 WHERE UNEXPECTED TIMEOUT TRAP OCCURRED

t«ttttttttERROR 204rrnnennnnn

;UNEXPECTED TRAP TO LOCATION &

SEQ 0080
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CVKAJB.P11  22-JAN-82 0 END OF PASS ROUTINE SEQ 0081
4345 :"OLDPC'* CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
zgzg 014720 000000 HALT *PROGRAM MUST BE RESTARTED AT THIS POINT
4348
4349 :ROUTINE TC REPORT UNEXPECTED TRAPS TO LOCATION 10
4350 014722 011637 000706 ILLTRP: MOV (SP) ,a#OLDPC  :;GET PC+2 WHERE UNEXPECTED ILLEGAL INSTRUCTION TRAP OCCU
4351 014726 1046210 ERROR 210 ianeaanaseaERROR 210%sesanesne
4352 SUNEXPECTED TRAP TO LOCATION 10
4353 “"OLDPC"* CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
2§§§ 014730 000000 HALT :PROGRAM MUST BE RESTARTED AT THIS POINT
4356
4357
4358
2%23 ;SUBROUTINE TO SET OPERAND VALUES
4361 014732 012567 163706 NPREP: MOV (R5)+,S1LN :STORE INSTRUCTION TEST ARGUMENTS
4362 014736 012567 163704 MOV (R5)+.S1ADR
4363 014742 012567 163702 MOV (R5) +.S2LN
4364 014746 012567 163700 MOV (RS)+.S2ADR
4365 014752 012567 163676 MOV (R5)+.DSTLN
4366 014756 000205 RTS RS
4367
4368
2%98 :SUBROUTINE TO SET UP GENERAL REGISTERS
4371 014760 016700 163660 GENR: MOV S1LN.RO ;TRANSFER INSTRUCTION TEST ARGUMENTS TO
4372 014764 016701 163656 MOV S1ADR,R1 : THE GENERAL REGISTERS
4373 014770 016702 163A54 MOV S2LN.R2
4374 014776 016703 163652 MOV SOADR.R3
4375 015000 016704 163650 MOV DSTLN,R&
4376 015004 016705 163646 MOV DSTAD .RS
4377 015010 010637 000702 MOV SP,a#SAVR6 :COPY STACK POINTER BEFORE INSTRUCTION EXECUTION
4378 015014 062737 000002 000702 ADD :2 a¥SAVR6 *ADJUST SAVED SP BECAUSE OF JSR TO THIS ROUTINE
4379 015022 000207 RTS
4380
4381
4382
4333 :SUBROUTINE TO CLEAR BUFFER AREA
4384 015024 012700 017044 CLBUF: MOV #8UF .RO :POINT RO TO BUFFER AREA
4385 015030 012701 000020 MOV #20,R1 *STORE BUFFER LENGTH IN R1
4386 015034 005020 1$: CLR (RoS+ *CLEAR BUFFER
4387 015036 005301 DEC R1 oscnsnenr BUFFER LENGTH
4388 015040 001375 BNE 1$ BR IF NOT FINISHED
2%88 015042 000207 RTS PC “RETURN
4391 :SUBROUTINE TO RECORD EXPECTED PSW .
4392 015044 012537 000700 XPSW: MOV (RS)+,3#EXPPSW :STORE EXPECTED PSW VALUE IN 'EXPPSW'
4393 015050 106700 MFPS RO :GET PRESENT PSW
4394 015052 032700 000020 BIT #TBIT,RO SIS T-BIT SET?
4395 015056 001403 BEQ 18 *BR IF NOT
4396 015060 052737 000020 000700 8IS ATBIT,SNEXPPSW :OTHERWISE SET T-BIT IN EXPECTED PSW VALUE
2;3; 015066 000205 1$: RTS RS *RETURN
4399
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CVKAJB.P11  22-JAN-82 08:4 END OF PASS ROUTINE SEQ 0082
4401
4402 :SUBROUTINE TO TEST FOR TRANSMIT DONE FLAG
4405 015070 005037 000710 TDONE: CLR MNTEMP :CLEAR TIMER
4404 015074 105777 163564 1$: TSTB  @TCSR +IS SLU READY?
4405 015100 100604 BM] RETN :BR IF READY
4406 015102 005237 000710 INC MNTEMP *OTHERWISE INCREMENT TIMER
4,07 015106 001372 BNE 1$ ‘BR IF NOT TIMED OUT
4608 015110 104200 ERROR 300 cennnnnasnereaadERROR ROLITTTTL IR IR L T
4409 *NEVER GOT TRANSMIT DONE FLAG
22}? 015112 000207 RETN:  RTS PC *RETURN
4412
4413 :SUBROUTINE TO HANDLE TTY INTERRUPTS IN INSTRUCTION
22}§ - INTERRUPTABILITY TESTS
4416 015114 INTR:
417 015114 021667 163554 CMP (sp) PCl ;WAS PC AT INSTRUCTION UNDER TEST?
4418 015120 001003 BNE *BR, IF NO
4419 015122 032704 177400 CKR4: BIT 3177400 R& SIF YES, CHECK UPPER BYTE OF Ré
4420 015126 001004 BNE CLRINT *IF ZERO, INSTRUCTION WAS NOT INTERRUPTED-TRY AGAIN
4421 015130 013777 000554 163530 SEND: MOV aFSNULL ,aTBUF  :SEND ANOTHER CHARACTER
4422 015136 000002 RTI *RETURN
4423 015140 042777 000100 163516 CLRINT: BIC #100,3TCSR “IF NON-ZERO, CLEAR INTERRUPT ENABLE
225§ 015146 000002 RTI *CONTINUE INSTRUCTION
4426
4427
zzgg .SBTTL SCOPE HANDLER ROUTINE
‘1.30 tttttttttttttttttttttttttt)tttﬁttttttttttttittttttttttttttttttt
4431 trnxs ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
4432 S«AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
4433 S«AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
4434 *«THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
4435 S aSW14=1 LOOP ON TEST
4436 L aSW09=1 LOOP ON ERROR
4437 + %SW08=1 LOOP ON TEST IN SWR<S5:0>
4438 saCALL
4439 e SCOPE : :SCOPE=IOT
4440
4441 015150 $SCOPE:
4462 015150 032777 040000 163362 18: BIT #81T14,3SWR :;LOOP ON PRESENT TEST?
4443 015156 001065 BNE $SOVER “YES IF SW14=i
4644 - MMAMNSTART OF CODE FOR THE XOR ftsrsnnpppp .
4445 015160 000416 $XTSTR: BR 6$ ;:IF RUNNING ON THE ‘‘XOR'* TESTER CHANGE
4446 S:THIS INSTRUCTION TO A 'NOP'' (NOP=240)
4447 015162 013746 000004 MOV a#ERRVEC,~(SP) ..SAVE THE CONTENTS OF THE ERROR VECTOR
4448 015166 012737 015206 000004 MOV #53 aaenﬁvec ser FOR TIMEOUT
4449 0151764 005737 177060 TST an270 TIME OUT ON XOR?
4450 015200 012637 000004 MOV (sp>+ acsanvec ..RESTORE THE ERROR VECTOR
4451 015204 000434 B8R $SYLAD 1360 TO THE NEXT TEST
4452 015206 022626 58: P (SP)+, (SP)+ S:CLEAR THE STACK AFTER A TIME OUT
4453 015210 012637 000004 MOV (SP) +.3#ERRVEC ..RESIORE THE ERROR VECTOR
4454 015214 000422 B8R 78 LOOP ON THE PRESENT TEST
4455 015216 6$::AMAMNEND OF CODE FOR THE XOR fesrennwppt
4456 015216 032777 000400 163314 BIT #81T08,aSWR ::L00P ON SPEC. TEST?




p—

JMAIN.  MACYIT_30(1046)
CVKAJB.P11 22-JAN-82
6657 015226 001407
4658 015226 017746
4459 015232 042716
4660 015236 122667
4661 015242 001433
64662 015244 105767
6663 015250 001412
4664 015252 032777
4465 015260 001404
4666 015262 016767
4467 015270 20
4468 015272 105067
4469 015276 105267
4470 015302 116767
4471 015310 011667
4472 015314 011667
4673 015320 005067
4476 0153264 112767
4675 015332 016777
4476 015340 016716
4477 015344 000002

4478

4479

4480

4481

4482

4483 015346 012737
4484 015354 012737
4685 015362 010046
4486 015364 010146
4487 015366 010246
4488 015370 010344
4489 015372 010446
4490 015374 010546
4491 015376 017746
4492 0156402 010667
4493 015406 012737
4496 015414 000000
4495 0156416 000776
4496

4497

4498

4699 015420 012737
4500 015426 016706
4501 015432 005067
4502 015436 005267
4503 015442 001375
4506 015444 005067
4505 015450 012677
4506 015454 012605
4507 015456 012604
4508 015460 012603
4509 015462 012602
4510 015464 012601
6511 015466 0126C)
4512 015470 012737

%?-JAN-SZ 08:50 PAGE 84

08:49 SCOPE HANDLER ROUTINE
BEQ 28 ;:BR IF NO
163306 MOV aSWR, = (SP) S:SET DESIRED TEST NUM. FROM SWR
000300 BIC FSSWRMK, (SP)  ::STRIP AWAY UNDESIRED BITS
163240 CMP8  (SP)+,$TSTNM  ::ON THE RIGHT TEST?
8EQ SOVER S:BR IF YES
163233 2s: TSTB  SERFLG *HAS AN ERROR OCCURRED?
BEQ $SVYLAD :28R IF NO
001000 163260 BIT #81709,3SWR ::L0OP C~ ERROR?
BEQ (X 3 28R IF NO
163222 163216 78: ESV 25555""LP‘°" S3SET LOOP ADDRESS TO LAST SCOPE
163205 48: CLRB  SERFLG :;ZERO THE ERROR FLAG
163200 $SSVLAD: INCB  STSTNM *3COUNT TEST NUMBERS
163174 163262 MOVB  STSTNM.STESTN  :+SET TEST NUMBER IN APT MAILBOX
163172 MOV (SP) , SLPADR *3SAVE SCOPE LOOP ADDRESS
163170 MOV (SP) ,SLPERR :3SAVE ERROR LOOP ADDRESS
163234 CLR $ESCAPE :SCLEAR THE ESCAPE FROM ERROR ADDRESS
000001 163163 MOVB  #1,SERMAX TSONLY ALLOW ONE(1) ERROR ON NEXT TEST
163144 163202 S$OVER: MOV STSTNM,3DISPLAY ::DISPLAY TEST NUMBER
163142 MOV $LPADR, (SP) *SFUDGE RETURN ADDRESS
RTI :sFIXES PS
.SBTTL POWER DOWN AND LIP ROULTIMES
;.'ttttttttttttttttttttttttttttttttttttttttttt.ttitttttttttﬁtttttt
POWER DOWN ROUTINE
015530 000024 $PWRDN: MOV #SILLUP,3#PWRVEC ;;SET FOR FAST UP
000340 000026 MOV #340,3#PURVEC+2 ;:9RI0:7
MOV RO,=-(SP) ::PUSH RO ON STACK
MOV R1,=(SP) 23PUSH R1 ON STACK
MOV R2,=~(SP) S3PUSH R2 ON STACK
MOV R3.=(SP) S:PUSH RS ON STACK
MOV R4 .=(SP) *:PUSH Ré ON STACK
MOV RS.=(SP) S3PUSH RS ON STACK
163136 MOV aSWR, = (SP) S:PUSH @SWR ON STACK
000126 MOV SP,$SAVR6 L:SAVE SP
015620 000024 :2{1 #SPUPUP, SPWRVEC ;:SET UP VECTOR
BR =2 : sHANG UP
. M Y 3 ettt sttt 8232322332 34332233 3338833333322 32123)]
:POWER UP ROUTINE
015530 000024 $PWRUP: MOV #SILLUP, @#PWRVEC ;:SET FOR FAST DOWN
000102 MOV $SAVRG, SP :3GET SP
000076 CLR $SAVRG SSWAIT LOOP FOR THE TTY
000072 1$: INC $SAVR6 S:WAIT FOR THE INC
BNE 18 2:0F WORD
163032 CLR STSTNM
163064 MOV (SP)+,3SWR ::POP STACK INTO @SwR
MOV (SP)+.RS $:POP STACK INTO RS
MOV (SP)+.R& L:POP STACK INTO Ré&
MOV (SP)+.R3 1:POP STACK INTO R3
MoV (SP)+.R2 *:POP STACK INTO R2
MOV (SP)+.R1 ::POP STACK INTO R1
MOV (SP)+.RO 1:POP STACK INTO RO
015346 000024 MOV #SPWRON, 3#PWRVEC ::SET UP THE POWER DOWN VECTOR

SEQ 0083
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CVKAJB.P11  22-JAN-82 08:4 POWER DOWN AND UP ROUTINES SEQ 0084
4513 015476 012737 000340 000026 MOV #340,3#PWRVEC+2 ;;PRIO:7
6514 015504 104401 TYPE hspoar THE POWER FAILURE
4515 015506 015536 $SPWRMG: .WORD  SPOWER :POWER FAIL MESSAGE POINTER
4516 015510 012716 MOV (PC)+, (SP) ..nssranr AT SLOOP
4517 015512 014652 $SPWRAD: .WORD  SLOOP :RESTART ADDRESS
4518 015514 042766 000020 000002 BIC #20,2(SP) S:CLEAR *T BIT
4519 015522 005067 177°30 CLR $TRIT SSCLEAR THE "'T'' BIT FLAG
4520 015526 000002 RTI
4521 015530 00000C SILLUP: HALT ;THE POWER UP_SEQUENCE WAS STARTED
4522 (15532 000776 BR =2 ‘% BEFORE THE POWER DOWN WAS COMPLETE
4523 015534 (000000 $SAVR6: 0 , . ::PUT THE SP HERE
4524 015536 005015 047520 042527 SPOWER: .ASCIZ <15><12>''POWER
4525 015544 000122
4526 .EVEN
4527
22%3 LSBTTL ERROR HANDLER ROUTINE
4530 ttttttttttttttﬁt.ttttt'ittt.ttttttltt!ﬁtttttttttttttﬁtttttttttt
4531 4THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
4532 ‘#SAVE THE ERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
4533 ‘«AND TYPE OUT THE PC OF THE ER™OR INSTRUCTION
4534 t«THE SWITCH OPTIONS PROVIDED Bv THIS ROUTINE ARE:
4535 aSW15=1 HALT ON ERROR
453% 4SW13=1 INHIBIT ERROR TYPEOUTS
4537 : #SW09=1 LOOP ON ERROR
4538 s #CALL
zgig v ERROR N : sERROR=EMT AND N=ERROR ITEM NUMBER
4541 015546 $ERROR:
4542 015546 105267 162731 7%: INCB  SERFLG :;SET THE_ERROR FLAG
4543 015552 001775 BEQ 78 *DON'T LET THE FLAG GO T. ZERO
4544 015554 016777 162722 162760 MOV srsrnn aDISPLAY ..DISPLAY TEST nunasn AND ERROR FLAG
4545 015562 005267 162724 INC SERT SINC THE ERROR COUN
4546 015566 011667 162724 MOV (sp>.ssnnpc *:GET ADDRESS OF enaoa INSTRUCTION
4547 015572 162767 000002 162716 SUB #2.,$ERRPC
4548 015600 117767 162712 162706 MOVB  SSERRPC.SITEMB ;:STRIP AND SAVE THE ERROR ITEM CODE
4549 015606 032777 020000 162724 BIT #8IT13,35WR S3SKIP TYPEOUT IF SET
4550 015614 001007 BNE 208 L:SKIP TYPEOUTS
4551 015616 104401 000563 TYPE $CRLF
4552 015622 016746 162670 MOV $ERRPC.=(SP)  ::SAVE SERRPC FOR TYPEOUT
4553 :SERROR ADDRESS
4554 015626 104402 TYPOC 1360 TYPE=-OCTAL ASCIICALL DIGITS)
4555 015630 104401 000563 TYPE  ,SCRLF
4556 015634 208:
4557 015634 122767 000001 162744 CMPB  WAPTENV,SENV nuun NG IN APT MODE
4558 015642 001007 BNE 2$ SKIP APT ERROR REPORT
4559 015644 116767 162644 000004 MOVB  SITEMB,21$ ..sef ITEM NUMBER AS ERRNR NUMBER
4560 015652 004767 000656 JSR PC,SATYS : *REPORT FATAL ERROR TO APT
4561 015656 000 21$:  .BYTE 0
4562 015657 000 .BYTE 0
4563 015660 000777 228: BR 228 ;;APT_ERROR LOOP
4564 015662 005777 162652 2s: ST asSWwR *HALT ON ERROR
4565 015666 100001 BPL 3$ ..sxxp IF CONTINUE
4566 015670 000000 HALT sHALT ON ERROR'
4567 0°%672 032777 001000 162640 3$: BIT #81T09,3SWR ..LOOP ON ERROR SWITCH SET?
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4569 015702 016716 162602 MOV SLPERR, (SP) :sFUDGE RETURN FOR LOOPING

4570 015706 005767 162646 48: TST $ESCAPE :sCHECK FOR AN ESCAPE ADDRESS

64571 015712 001402 BEQ b} :sBR_IF NONE

22; 8}2;}8 016716 162640 53 MoV SESCAPE, (SP) :sFUDGE RETUKN ADDRESS FOR ESCAPE

<576 015720 022737 014604 000042 CMP #SENDAD , @42 :sACT=11 AUTO-ACCEPT?

4575 015726 001001 BNE 6$ s :BRANCH IF NO

4576 015730 000000 HALT ;s YES

4577 015732 6$:

22;3 015732 000002 RTI ; sRETURN

223? .SBTTL TYPE ROUTINE

4582 IIARARNRAARARARARARAARAINEERARAAARRANRANNRNRRAARRAERRARRAARREARAAS

4583 ;*ROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A O BYTE.

4584 ;*THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.

4585 s*NOTE1: $HULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.

4586 s *NOTE2: SFILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.

223; s *NOTE3: SFILLC CONTAINS THE CHARACTER TO FILL AFTER.
ok

4589 s*CALL:

4590 s%1) USING A TRAP INSTRUCTION

223} :.OR TYPE MESADR s MESADR IS FIRST ADDRESS OF AN ASCIZ STRING
™

4593 i* TYPE

4594 it MESADR

43%

4597 015734 105767 162617 $TYPE: TSTB STPFLG :21S THERE A TERMINAL?

4598 015740 100002 BPL 1$ :;BR IF YES

4599 015742 000000 HALT s HALT HERE IF NO TERMINAL

«600 015744 000430 BR 33 ¢ sLEAVE

4601 015746 010046 1$: MoV RO,=-(SP) ::SAVE RO

4602 015750 017600 000002 MOV 82(SP) ,RO :;GET ADDRESS OF ASCIZ STRING

4603 015754 122767 000001 162624 CMPB #APTENV, SENV s JRUNNING IN APT MODE

604 015762 001011 BNE 623 :sNO,GO CHECK FOR APT CONSOLE

4605 015764 132767 000100 162615 BIT8 #APTSPOOL ,SENVM ;;SPOOL MESSAGE TO APT

4606 015772 001405 BEQ 62% ::NO,GO CHECK FOR CONSOLE

4607 015774 010067 000004 MOV R0,618 :;SETUP MESSAGE ADDRESS FOR APT

4608 016000 004767 000520 JSR PC,SATY3 ::SPOOL MESSAGE TO APT

4609 016004 000000 61$: WORD 0 2 sMESSAGE ADDRESS

4610 016006 132767 000040 162573 628: 8IT8 #APTCSUP,SENVM ;:APT CONSOLE SUPPESSED

4611 016014 001003 BNE 60$ ssYES,SKIP TYPE 0OLT

4612 016016 112046 2%: MOV (RO) +,~(SP) ssPUSH CHARACTER 10 BE TYPED ONTO STACK

4613 016020 001005 BNE 43 ssBR IF IT ISN'T THE TERMINATOR

4614 016022 005726 TST (SP)+ s:IF _TERMINATOR POP IT OFF THE STACK

4615 016024 012600 608: MOV (SP)+,R0 : sRESTORE RO

4616 016026 062716 000002 3s: ADD #2,(SP) :sADJUST RETUR! PC

4617 016032 000002 RTI s ;RETURN

4618 016034 122716 000011 4$: CMPB #HT, (SP) s sBRANCH IF <Hi>

4619 016040 001430 BEQ 8s

4620 016042 122716 000200 CMPB  #CRLF,(SP) ; ;BRANCH IF NOT <CRLF>

4621 016046 001006 BNE 5%

4622 016050 005726 TST (SP)+ ;:POP_ <CR><LF> EQUIV

4623 016052 104401 TYPE scTYPE A CR AND LF

4624 016054 000563 $CRLF
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4625 016056 105067 000202 CLRB $CHARCNT s2CLEAR CHARA(CYcR COUNT
4626 016062 000755 BR 2$ ssGET NEXT CPARACTER
4627 016064 004767 000056 5$: JSR PC,STYPEC 260 TYPE THIS CHARACTER
4628 016070 126726 162462 6%: (MPB SFILLC.(SP)+ 2218 1T TIME FOR FILLER CHARS.?
4629 016074 001350 BNE 2% :2IF NO GO GET NEXT (HAR.
4630 016076 016746 162452 MLV $NULL ,=(SP) J:GET # OF FILLER CHAR.. NEEDED
4631 ssAND THE NULL CHAR.
463c 016102 105366 000001 7$: DE(CB 1(SP) ::DOES A NULL NEED TO BE TYPED?
4633 016106 002770 BLTY 63 ::BR JF NO=-=-GO POP THE NULL OFF OF STACK
4634 016110 004767 000032 JSR PC,STYPEC ::60 TYPE A NULL
4635 016114 105367 000144 DE(C8B SCHARCNT ::D0 NOT COUNT AS A COUNT
22%9 016120 000770 BR 7% ;. LOOP
22%3 :HORIZONTAL TAB PROCESSOR
4640 016122 112716 000040 8$: MOvB #' ,(SP) :sREPLACE TAB WITH SPACE
4641 016126 004767 000014 9%: JSR PC.$TYPEC ::TYPE A SPACE
4642 016132 132767 000797 000124 BIT8B #7,$CHARCNT s sBRANCH IF NOT AT
4643 016140 001372 BNE 9s ::TAB STOP
4644 016142 005726 TST (SP)+ ::POP SPACE OFF STACK
4645 0161446 000724 B8R 23 :2GET NEXT CHARACTER
4646 016146 $TYPEC:
4647 016146 105777 162372 1ST8 a$TKS ::CHAR IN KYBD BUFFER? :MJD001
L648 016152 100022 BPL 108 ;:BR IF NOT :MJD0O1
4649 014154 017746 162366 MOV a8TKkB - (SP) ::GET CHAR :MJDO01
4650 016160 042716 177600 8IC 0177660.(SP) ;:STRIP EXTRANEOUS BITS sMJ0001
4651 016164 122716 000023 CMPB #$XOFF , (SP) ;:WAS CHAR XOFF +AIDOO01T
4652 016170 001012 BNE 102$ ;:BR IF NOT :MJD0O1
4653 016172 1018: :MJDO0
4654 016172 135777 162346 1S18 a$TkKS J:WAIT FOR CHAR ;MJD0O1
4655 016176 100375 BPL 1018 :MJDOO
4656 016200 117716 152342 MOV8 9STKB, (SP) 2:GET CHAR ;M0
4657 016204 042716 177600 81C #177600, (SP) :STRIP IT s MJ0001
4658 016210 122716 000021 CMPB #$XON, (SP) JsWAS IT XON? :MJD001
4659 016214 001366 BNE 1018 ;sBR IF NOT ;MJ0001
4660 016216 102$: s MJD001
4661 016216 005726 TST (SP)+ :sFIX STACK :MJDOO1
4662 016220 108: +MJDOO01
4663 016220 105777 162324 TSTB asTPS ::WAIT UNTIL PRINTER 1S READY
4664 016224 100375 8PL 108 +MJDOO0
4665 016226 116677 000002 162316 MOovB 2(SP) ,a$TPB ::LOAD CHAR TO BE TYPED INTO DATA REG.
4666 016234 122766 000015 000002 CMPB #CR,2(SP) :21S CHARACTER A CARRIAGE RETURN?
4667 016242 001003 BNE 1$ :sBRANCH IF NO
4668 016244 105067 000014 CLRB $CHARCNT :sYES==CLEAR CHARACTER COUNT
4669 016250 000406 BR STYPEX sEXIT
4670 016252 122766 000012 000002 1$: CMPB #LF ,2(SP) :s]1S CHARACTER A LINE FEED?
4671 016260 001402 BEQ S$TYPEX :sBRANCH IF YES
4672 016262 105227 INCB (PC)+ :sCOUNT THE CHARACTER
4673 016264 000000 $CHARCNT: .WORD O : :CHARACTER COUNT STORAGE
4674 016266 000207 $TYPEX: RTS PC
e
22;; .SBTTL BINARY TO OCTAL (ASCII) AND TYPE
4679 Pt AR ARNNRRANAARRRNRRANN AR AR R RN RARANRANARANARANERARNAAANCARERRERANAE

4680 :#THIS QOUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6-DIGIT
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4681 :#QCTAL (ASCII) NUMBER AND TYPE IT,

2gg§ "E{{f°s"°‘”75“ HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE
X H

4684 w MOV NUM, = (SP) : :NUMBER TO BE TYPED

4685 ‘e TYPOS *:CALL FOR TYPEOUT

4686 TS BYTE N tiN=1 TO 6 FOR NUMBER OF DIGITS TO TYPE

4687 e BYTE M ‘iM=1 OR 0

4688 ;e ::1=TYPE LEADING ZEROS

zggg S :30=SUPPRESS LEADING ZEROS
.‘t

4691 «$TYPON-=--ENTER KERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST

4692 *«$TYPOS OR STYPOC

4693 :xCALL:

469% ‘e MOV NUM, = (SP) ; :NUMBER TO BE TYPED

2232 o TYPON 13CALL FOR TYPEOUT
;t

4697 :«$TYPOC---ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER

4698 J*CALL:

4699 e MOV NUM, = (SP) : :NUMBER TO BE TYPED

2;8? o TYPOC ::CALL FOR TYPEOUT

4702 016270 017646 000000 $TYPOS: MOV a(SP) ,=(SP) : :PICKUP THE MODE

4703 016274 116667 000001 000211 MOVB  1(SP).SOFILL  :;LOAD ZERO FILL SWITCH

4704 016302 112667 000207 MOVB  (SP)+.SOMODE+1 ::NUMBER OF DIGITS TO TYPE

4705 016306 062716 000002 ADD #2,(SP) $SADJUST RETURN ADDRESS

4706 016312 000406 BR $TYPON

4707 016314 112767 000001 000171 S$TYPOC: MOVB  #1,SOFILL :3SET THE ZERO FILL SWITCH

4708 016322 112767 000006 000165 MOVB  #6.SOMODE+1 *:SET FOR SIX(6) DIGITS

4709 016330 112767 000005 000154 STYPON: MOVB  #5,SOCNT P SET THE ITERATION COUNT

4710 016336 010346 MOV R3.=(SP) ::SAVE R3

4711 016340 010446 MOV R, =(SP) :SAVE Ré

4712 016342 010546 MOV RS, ~(SP) 1:SAVE RS

4713 016344 116704 000145 MOVEB  SOMODE+1.Ré4 $:GET THE NUMBER OF DIGITS TO TYPE

4714 016350 005404 NEG RG

4715 016352 062704 000006 ADD #6.R6 :sSUBTRACT IT FOR MAX. ALLOWED

4716 016356 110467 000132 MOVEB  R&.SOMODE ‘SSAVE IT FOR USE

4717 016362 116704 000125 MOVEB  SOFILL.R&G *:GET THE ZERO FILL SWITCH

4718 016366 016605 000012 MOV 12(SP) RS L:PICKUP THE INPUT NUMBER

4719 016372 005003 CLR R3 ::CLEAR THE OUTPUT WORD

4720 016374 006105 1$: ROL RS *:ROTATE MSB INTO °'C"’

4721 016376 000404 BR 33 2360 DO MSB

4722 016400 006105 28: ROL RS *3FORM THIS DIGIT

4723 016402 006105 ROL RS

4724 016404 006105 ROL RS

4725 016406 010503 MOV R5.R3

4726 016410 006103 38: ROL R3 :sGET LSB OF THIS DIGIT

4727 016412 105367 000076 DECB  SOMODE *STYPE THIS DIGIT?

4728 016416 100016 _ BPL 78 *iBR IF NO

4729 016420 042703 177770 BIC 177770 ,R3 SSGET RID OF JUNK

4730 016424 001002 BNE 48 SSTEST FOR 0

4731 016426 005704 TST R4 : *SUPPRESS THIS 0?

4732 016430 001403 BEQ 13 S:BR IF YES

4733 016432 005204 48: INC R4 S:DON'T SUPPRESS ANYMORE 0°S

4734 016436 052703 000060 BIS #°0,R3 SSMAKE THIS DIGIT ASCII

4735 016440 052703 000040 58: BIS A CR3 *SMAKE ASCII IF NOT ALREADY

4736 016444 110367 000040 MOV8  R3.8$ *:SAVE FOR TYPING
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4737 016450 104401 016510 TYPE 8s ::G0 TYPE THIS DIGIT

4738 016454 105367 000032 78: pEcB  $OCNT *:COUNT 8Y 1

4739 016460 003347 BGT 28 “:BR IF MORE TO DO

4740 016462 002402 BLT 6$ “:BR IF DONE

4741 016466 005204 INC R4 S:INSURE LAST DIGIT ISN'T A BLANK
4762 016666 000744 B8R 2 2360 DO THE LAST DIGIT

4743 016470 012605 68: MOV (SP)+,RS **RESTORE RS

4744 016472 012604 MOV (SP)+.R& : SRESTORE R&

4745 016474 012603 MOV (SP)+.R3 :SRESTORE R3

4746 016476 016666 000002 000004 MOV 2(SP) .4(SP) +3SET THE STACK FOR RETURNING
4747 016504 012616 MOV (SP)+. (SP)

4748 016506 000002 RTI : ;RETURN

4749 016510 000 8s: .BYTE 0 *:STORAGE FOR ASCII DIGIT
4750 016511 000 BYTE 0 *:TERMINATOR FOR TYPE ROUTINE
4751 016512 000 $OCNT: .BYTE 0 S0CTAL DIGIT COUNTER

4752 016513 000 $OFILL: .BYTE 0 232ERO FILL SWITCH

2;;2 016514 000000 SOMODE: .WORD 0 :SNUMBER OF DIGITS TO TYPE
2;;2 .SBTTL APT COMMUNICATIONS ROUTINE

1.757 . .'ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
4758 016516 112767 000001 000236 $ATY1: MOvE  #1,$FFLG ::TO REPORT FATAL ERROR

4759 016524 112767 000001 000226 SATY3: MOVB  #1,$MFLG ::TO TYPE A MESSAGE

4760 016532 000403 BR SATYC

4761 016534 112767 000001 000220 $ATY4: MOVB  #1,$FFLG ::TO ONLY REPORT FATAL ERROR
4762 016542 SATYC:

4763 016542 010046 MOV RO, =~(SP) ::PUSH RO ON STACK

4764 016544 010146 MOV R1,-(SP) “3PUSH R1 ON STACK

4765 016546 105767 000206 ISTB  SMFLG S3SHOULD TYPE A MESSAGE?
4766 016552 001450 BEQ 58 S3IF NOT: BR

4767 016554 122767 000001 162024 CMP8  #APTENV,SENV  ;;OPERATING UNDER APT?

4768 016562 001031 BNE 33 ::IF NOT: BR

4769 016564 132767 000100 162015 BITB  W#APTSPOOL.SENVM ;;SHOULD SPOOL MESSAGES?
4770 016572 001425 BEQ 3 ;:IF NOT: BR

4771 016574 017600 000004 MOV 34 (SP) RO :GET MESSAGE ADiR.

4772 016600 062766 000002 000004 ADD #2.4(SP) - :BUMP RETURN ADDR.
4773 016606 005767 161754 18: TST SMSGTYPE ::SEE IF DONE W/ LAST XMISSION?
4774 016612 001375 BNE 18 S3IF NOT: WAIT

4775 016614 010067 161762 MOV RO, SMSGAD SSPUT ADDR IN MAILBOX

4776 016620 105720 2s: 1S718 (RO + <SFIND END OF MESSAGE

4777 016622 001376 BNE 2$

4778 016626 166700 161752 SuB $MSGAD ,RO ::SUB START OF MESSAGE

4779 016630 006200 ASR RO <GET MESSAGE LNGTH IN WORDS
4780 016632 010067 161746 MOV RO, SMSGLGT SSPUT LENGTH IN MAILBOX

4781 016636 012767 000004 161722 MOV #4.SMSGTYPE :STELL APT TO TAKE MSG.

4782 016646 000413 BR 58

4783 016646 017667 000004 000016 3$: MOV 34 (SP) ,4$ ::PUT MSG ADDR IN JSR LINKAGE
4784 016656 062766 000002 000004 ADD #2,4(SP) - -BUMP RETURN ADDRESS
4785 016662 016746 161110 MOV 177776,=(SP) :sPUSH 177776 ON STACK

4786 016666 004767 177042 JSR PC.STYPE <3CALL TYPE MACRO

4787 016672 000000 4$: WOKD O

4788 016674 5 :

4789 016674 105767 000062 108:  TSTB  S$FFLG : :SHOULD REPORT FATAL ERROR?
4790 016700 001416 BEQ 128 :31F NOT: BR

4791 016702 005767 161700 ST SENV :SRUNNING UNDER APT?

4792 016706 001413 BEQ 12$ *SIF NOT: BR
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4793 016710 005767 161652 118:  TST snservps ; s F INISHED LAST MESSAGE?
4794 016714 001375 BNE 118 CIF NOT: WAIT
4795 016716 017667 0000046 161644 MOV 34(SP).SFATAL  --GET ERROR #
479 016724 062766 000002 000004 ADD #2.4(SP) -:BUMP RETURN ADDR.
4797 016732 005267 161630 INC $MSGTYPE ;s TELL AP TO TAKE ERROR
4798 016736 1050667 000020 128: CLRB  S$FFLG SCLEAR FATAL FLAG
4799 016742 105067 000013 CLRB  S$LFLG ..CLEAR LOG FLAG
4800 016746 105067 000006 CLRB  SMFLG *CLEAR MESSAGE FLAG
4801 016752 012601 MOV (SP)+,R1 “:POP STACK INTO R1
4802 016754 012600 MOV (SP)+.R0 :3POP STACK INTO RO
4803 016756 000207 RTS PC *RETURN
4804 016740 000 SMFLG: .BYTE 0 ..nesss. FLAG
4805 016761 000 SLFLG: .BYTE 0 G FLAG
4806 016762 000 $FFLG: .BYTE O S3FATAL FLAG
4807 016764 -EVEN
4808 000200 APTSIZE=200
4809 000001 APTENV=001
4810 000100 APTSPOOL=100
23}5 000040 APTCSUP=040
(4]
22}2 .SBTTL TRAP DECODER
481 S Itttttttttttttttttt*ttttttttttttttttttttttttttttttitﬁt!tttttttt
4816 %THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE '‘TRAP** INSTRUCTION
4817 “«AND USE 1T TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS .
4818 :#OF THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT WILL
23;3 t%GO TO THAT ROUTINE.
4821 016764 010046 STRAP: MOV RO,=(SP) : ;SAVE RO
4822 016766 016600 000002 MOV 2(5P).RO ‘GET TRAP ADDRESS
4823 016772 005740 ST -(R0) ::BACKUP BY 2
4824 016776 111000 MOVB  (RO),RO :3GET RIGHT BYTE OF TRAP
4825 01677¢ 006300 ASL RO *POSITION FOR INDEXING
4826 017000 016000 017020 MOV STRPAD(RO) RO  ;:INDEX TO TABLE
(827 017004 000200 RTS RO 1360 TO ROUTINE
i
zggg :sTHIS IS USE TO MANDLE THE *‘GETPRI'’ MACRO
4832 017006 011646 STRAP2: MOV (SP) ,~(SP) ::MOVE THE PC DOWN
4833 017010 016666 (00004 000002 MOV 4(SP),2(SP) “:MOVE THE PSW DOWN
2g§§ 017016 000002 RTI :SRESTORE THE PSW
22%9 .SBTTL TRAP TABLE
4,838 :*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
2323 “«8Y THE '‘TRAP" INSTRUCTION.
2%44‘1? : ROUTINE
4843 017020 017006 $TRPAD: .WORD STRAP2
4844 017022 015734 $TYPE  ::CALL=TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE
4845 017024 016314 $TYPOC ..CALL TYPOC TRAP+§(104402) TYPE OCTAL NUMBER (WITH LEADING ZEROS)
4846 017026 016270 $TYPOS ::CALL=TYPOS  TRAP+3(104403) TYPE OCTAL NUMBER (NO LEADING ZEROS)
4847 017030 016330 $STYPON ::CALL=TYPON  TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)
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ABASE = 177560 4884 605 646

ACDW] = 000000 605

ACPOOP= 900000 8032 620

ADDN = 076050 GI7TM 778 874 970 3066 1158 226 1313 1402 1489 1574 1658 1726
1814 1903 1991 2078 2180

ADDNPC 006106 2169 21804

ADDWO = 000000 605

ADDW1 = 000000 605

ADDW10= 000000 605

ADDW11= 000000 605

ADDW12= 000000 605

ADDW13= 000000 605

ADDW14= 000000 605

ADDW15= 000200 605

ADDW2 = 000000 605

ADDW3 = 000000 605

ADDW = 000000 605

ADDWS = 000000 605

ADDWé = 000000 605

ADDW? = 000000 605

ADDWS = 700000 605

ADDW9 = 000000 605

ADEVCT= 000000 605 611

ADEVM = 000000 665

AEP = 000000 605 616

AENVM = 000000 605 617

AFATAL= 000000 605 608

AMADRT= 000000 605 633

AMADR2= 000000 6% 637

AMADR3= 000000 605 640

AMADRG= 000000 605 643

AMAMS 1= 000000 605 627

ARANS2= (€ 0000 605 635

AMAMS 3= 00U000 605 638

AMANSG= 000000 605  64]

AMSGAD= 00000 605 613

AMSGLG= 000000 605 614

AMSGTY= 000000 605 607

AMTYP1= 000000 605 6¢8

AMTYP2= 000000 605 636

AMTYP3= 000000 605 639

AMTYP4= 000000 605 642

ANS10 003636 1446 14000

ANST1 004050 1533 15514

ANS12 00426 1818 e300

ANS14 00465 1770 17914

ANS1S 005075 1858 18794

ANS16 005313 1947 1968#

ANS17 005530 035 20554

ANS20 005744 122 oleca

MNs21 006270 23 g8

Msog 005583 3 19

ANS23  0(~737 49 4204

AMS24 Q0774 513 5354

ANSE 003204 1270 12508




JMAIN,  MACY11_30(1046) 22-JAN-82 08:50 PAGE 94

CVKAJB.P11 22~JAN-82 08:49 CROSS REFERENCE TABLE =-- USER SYMBOLS SEQ@ 0092

ANS?7 003420 1357 13774

APASS = 000000 605 610

APRIOR= G00000 605

APTCSU= 000040 804 4610 48114

APTENV= 000001 4788 4557 4603 4767 48094

APTSIZ= 000200 W77H 734 48084

APTSPO= 000100 4794 4605 4769 48104

ASWREG= 000000 605 618

ATESTN= 0000 605 609

AUNIT = 000000 605 612

AUSWR = 000000 605 619

AVECT1= 000060 48O# 605 644

AVECT2= 000000 605 645

BADRG 000704 6814 1195« 1263+«  1350%  1439% 1526  1611* 1695+ 1763+ 1851« 1940+ 2028+ 2115+
2219 2313« 2400% 2506% 2602* 2676% 2751 2827+  2904x 2976+ 3050« 3126¢ 3199+
3273 3347+ 3421%  3494% 3568+ 3641x 3732+

BEGIN 001300 739 7544 4323

BITO = 000001 46284 2157 2443 3668 4193

81700 = 000001 L4524 462

BIT01 = 000002 4514 461

BIT02 = 000004 4504 460

BIT03 = 000010 4498 459

BIT04 = 000020 448H 458

BIT05 = 000040 4a7H 457

BIT06 = 000100 446N 456

81707 = 000200 4458 455

81708 = 000400 L4in 454 4456

81709 = 001000 443N 453 4464 4567

BIT1 = 000002 LA

BIT10 = 002000 442N

BIT11 = 004 YL

BIT12 = 010000 G0N 4312

BIT13 = 020000 G398 4549

81714 = 040000 L3884 4442

8IT15 = 100000 L3704

BIT2 = 004 L60N

BIT3 = 000010 H594

BIT4 = 000020 4584

BITS = 000040 4574

BIT6 = 000100 4564

BIT7 = 000200 4554

BIT8 = 00 454N

BIT9 = 001000 453n

BPTVEC= 000014 L4ON

BUF 017044 670 4384 48554

CCODES 000676 6784 1160+ 1161+ 116< 1228+ 1229+ 1230 1315« 1316+ 1317 1404* 1405+ 1406
1691 1492« 1493 1576+ 1577« 1578 1660+ 1661+ 1662 1728+ 1729« 1730 1816+
1817« 1818 1905« 1906+ 1907 1993+ 1994+ 1995 2080+ 2081+ 2082 2182« 2185+
2186 2278« 2279+ 2280 2365 2366+ 2367 2669%  2472% 2473 2565+ 2566+ 2567
2639+ 2640% 2641 2714+ 2715« 2716 2790% 2791+ %792 %867* 2868+ 2869 2939+
2940% 2941 3013« 3014+ 3015 3089+ 3090« 3091 162+ 163+ 3164 3236 3237«
3238 3310« 3311« 3312 3384+ 3385+ 3386 3457« 3458+ 3459 3531« 3532« 3533
3604 3605« 3606 3693+ 3696+ 3697 3773« 3774« 3775 3847+ 3848+ 3849 3920+
zgg}* 3922 3993+ 3994+ 3995 4066r 4067+ 4068 4139 4140+ 4141 4218+ 4221+

CKR& 015122 44194
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CLBUF 015024
CLRINT 015140

CMPN = 076052
CMPNPC (1656
CR = 000015
CRLF = 000200

CVTICON 014260
CVINL = 076053
CVIPC 014356
DDISP = 177570
DISPLA 000542
DISPRE 000174
DSTAD 000656

DSTLN 000654

DSWR = 177570
EMIVEC= 000030
ENDMSG 014664
ENDT1 001552
ENDT2 002034
EN.T21 006276
ENDT24 007274
ENDTS 002316
ENDT4 002600
ENDT44 013012
ENDTS3 014504
ERRVEC= 000004
EXPPSW 000700

FILL 000660
GENR 014760

GNS seeene |J
HT 000011
ILLTRP 014722
INTR 015114

10TVEC= 000020
LF = 000012
N = 000010
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960
2072

2637
3602

S5 UNN) = = S5 LR
WS 0N = =4 N
NOVOANNO—=O
VOO NOON

1152
2270

2788

3991

NN = =2 S AN — =2
SO — = WO
00 — N & O WVIO
AINO OANNI =0

1221
2358

2865

4064

NN) =2 = NN =3 b
VAVHOANMI NN~ =
N0 £ NN OO oD
OOV OTNS=O

1307
2454

2937

4137

WNRON) =2 85 L) —b =b
OO NN E0N)
NON=2NINYHO W
VH OO

793
8294
9004

1013

1396
43844

3011

4216

WNNON) = NN = =D
NNOS SN
NWNWNES =20
OV~ND HOOvV—

W= SNy —
VIV ===
OO OO
OO0 =8N

1483

3087

000D =\ SO
O=2O=s QD=

WNIN) =2 () = =
NWVIVON NS

WA= i) —
VIONSES NN =2 —d
VNGO NN
OWOr ORONO

1568

3160

1652

3234

803

1720

3308

8044
8774
917

990
1029#
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1891 1979 2066 2162  226¢ 2352 u48  ass1 o 2638 2701 2776 2853 2928

2999 3075 3149 3222 3296 3370 3444 3518 3591 673 3760 3833 3906
3979 4052 4125 4198 4361

NXM = 177777 4874

OLOPC 000706 6828  4334r  4342% 4350+

PCI 000674 6778  2169% 2455+  3679%  4204% 4417

PIRQ = 177772 3824

PIRQVE= 000240 L76H

PRO = 000000 3994

PR1 = 000040 4004

PR2 = 000100 4014

PRS = 000140 4024

PRG = 000200 403H

PRS = 000240 404N

PR6 = 000300 4054

PR7? = 000340 4060

PS = 177776 3798 380

PSW = 177776 3804

PWRVEC= 000024 171 707+  708%  44B3%  44B4r  44O3%  4499% 4512« 4513w

READDN 006100 21780 2184

RECMPN 012650 3688# 3695

RECVIN 014350 L2130 4220

RESUBN 007074 24648 2671

RESVEC= 000010 4668 717 T8+ 725+

RETN 015112 4405 44104

SAVR6 000702 680# 836 930 1026 1122 1193 1348 1437 1526 1609 1693 1761
1849 1938 2026 2113 2217 2311 2398 2504 2600 2674 2749 2825 2902
2976 3048 31264 3197 3371 3345 3492 3566 3639 3730 4377+ 4378«

SEND 015130 4418 442N

STACK = 001100 704

START 000716 502 690N

STKLMT= 177774 3814

ST4S 013164 3762  3814M

ST46 013340 3835 38884

ST4? 013514 3908 39614

ST50 013670 3981  4034#

ST51 014044 4056 41074

sT52 014220 4127 41804

STS3 014472 4200 42614

SUBN = 07605 477H 2276 2363 2467

SUBNPC 007104 2455 24674

SWR 000540 5874 697  730*  736% 2153 2439 3664 4189 4312 4442 4456 4458 4464
4491 4505% 4549 4564 4567

SWREG 000176 5034 730

SW0_ = 000001 4348

SW00 = 000001 424N 434

SW01 = 000002 4238 433

sW02 = 000004 4o 432

sW03 = 000010 4210 431

SWo4 = 000020 400 430

SW0S = 000040 G190 429

SW05 = 000100 4188 428

sw07 = 000200 41780 427

SW08 = 000400 4168 426

sW09 = 001000 4158 425

swl = 000002 4338




F 8

JMAIN. MACY11 30(1046) 22-JAN-82 08:50 PAGE 98
CVKAJB.P1? 22-JAN-82 08:49 CROSS REFERENCE TABLE == USER SY'BOLS SEQ 0095
SWw10 = 002000 L1464

sSWwil = 004000 L3

sSwi2 = 010000 4b12a

sWw13 = 020000 L11a

swi4¢ = 040000 4104

sWw15 = 100000 4094

SW2 = 000004 4324

SW3 = 000010 310

SWw4 = 000020 &304

SWS = 000040 42N

swé = 000100 4L28#

SW7 = 000200 427H

sw8 = 000400 426N

w9 = 001000 454

S1ADR 000646 6664 N 887 983 1079 4362« 4372
SILN 000644 6654 786 882 978 1074 4361 4371
308 201550 764 844k

S1T10 003630 1392 14584

S1T11 004044 1479 15454

S1T12 004256 1564 16304

SIT13 004442 1648 17024

S1T14 004650 1716 17824

S1T15 005066 1804 18704

S1T16 005304 1893 19594

S1T117 005522 1981 20474

S172 002032 860 9404

S1720 005736 2068 21344

S1121 006260 2164 2238,

S1122 006514 2266 23324

$17123 006730 23564 24194

S1724 007256 2450 25254

S1125 007460 2553 26094

S1T26 007640 2627 26834

S1727 010020 2703 2758#%

S173 002314 956 10364

S1730 010202 2778 28344

S1T31 010364 2855 29114

S1732 010542 2927 29834

S1133 010722 3001 30574

S1T34 011104 3077 31334

S17135 011262 3151 32064

S1136 011442 3224 32804

S1137 011622 3298 33544

S1T4 002576 1052 11324

S1740 012002 3372 34284

S1T41 012160 3446 35014

S1T42 012336 3520 35754

S1T43 012514 3593 36484

S1T44 013002 3675 37394

S175 002772 1148 12024

S1716 003176 1217 12824

s117 003412 1303 13694

S2ADR 000652 6684 801 897 95 1089 4364 4374
S2LN 000650 667H 796 892 788 1084 4363 4373
S2T11 001551 766 8464

S2T10 003634 1394 14634
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S2T11 004046 1481 15484
S2T112 004260 1566 16334
S2T13 004443 1650 172044
S2T114 004653 1718 17864
S2T15 005072 1806 18754
S2116 005307 1895 19634
S2117 005525 1983 20514
s212 002033 862 9424
$2T20 005741 2070 21384
S2T21 006264 2166 22434
$2722 006520 2268 23374
32123 006733 2356 24234
S2T24 007262 2452 25304
$2725 007463 2555 26134
32126 007644 2629 26884
S2T27 010024 2705 27634
S2T13 002315 958 10384
S2730 010206 2780 28394
S2T731 010366 2857 29144
S2732 010545 2929 29874
S27133 010726 3003 30624
S2134 011106 3079 31364
S2135 011264 3153 32094
S2T36 011445 3226 32844
S2137 011626 3300 33594
S2T4 002577 1054 11344
S2T40 012006 3374 34334
S2T41 012164 3448 35064
S2T42 012341 3522 35794
S2T43 012517 3595 36524
S2T44 013006 3677 37444
$275 002773 1150 12044
5276 003202 1219 12874
s217 003414 1305 13724
TABLE  00066¢ €724
TBIT = 000020 4834 4394 4396
TBITVE= 000014 LO7H 714e 715«
TBUF 000666 674N rqor  2173% 2459+ 3683+ 4208+ 4421«
TCSR 000664 6734 P44 2155 2177« 2183 2441 2463x 2470 3666 3687« 3694 419N 4212+
4219 4404 w423
TDONE 015070 2172 2458 3682 4207 44034
TEMP 000710 6834 717« 725 4403 4406+
TEMP1 000712 684 769% 850 865+ 946 961« 1042 1057« 1138
TEMP2 000714 6854 770+ 851 866+ 947 962+ 1043 1058+« 1139
TIMTRP 014712 509 L3420
TKVEC = 000060 4748
TPSW 000672 6764 751« 2171« 2256 2457 2543 3681+ 3751 4206% 4273
TPVEC = 000064 4754
TRAPVE= 000034 4734 705+ 706+
TRTVEC= 000014 468H
s 001304 7614
TSTI0 003424 1368 13894
TST11 003640 1457 164764
1ST12 004052 15644 15614
TST13 004264 1629 16454
TST14 004444 1701 17134
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TSTIS 004662 1781 18014

1ST16 005100 1869 18904

1ST17 005316 1958 19784

1ST2 001566 8574

1ST120 005532 2046 20654

1ST1 005746 2133 21524

1ST22 006310 2154 2160 22634
1ST23 006526 2331 23514

15724 006742 2,18 24384

1ST2S 007306 2440 2446 25504
15126 007466 2608 26248

1127 007650 2682 27004

1S3 002050 9534

1ST30 010030 2757 2175A

1ST31 070212 2833 28524

1ST32 010370 2910  2924#

TST33 010550 2982 29984

1ST3% 010732 3056 30744

1ST35 011112 3132 31484

1ST36 011270 3205 32214

1ST37 011450 3379 32954

1ST4 002332 10494

TST40 011630 3353 33694

1ST41 012010 327 34430

1ST42 012166 3500 35174

TST43 012344 3574 35904

1ST4h 012522 3647 36634

TST4S 013024 3665 3671 37594
[ST46 013176 3813 38324

1ST47 013352 3887 39054

1STS 002614 11450

1SS0 013526 3960 39784

1ST51 013702 4033 40514

TST52 014056 4106 41244

TST53 014222 4179 41884

'ST6 002774 1201 12144

1ST7 003206 1281 13004

TVECT 000670 6758 749%  2170% 2256+  2456%  2543%  3680% 3751+ 4205+ 4273w
TYPE = 104401 760 429 4514 4551 4555 4823 4737  4Buuw
TYPOC = 104402 4556  4845A

TYPON = 104404 4BL7H

TYPOS = 104403 4846H

TZER0 014702 507 4334#

11 001374 778, 825

TICONT 001402 77 7854

12 001656 8748 921

T2CONT 001684 867  _881a

T21CON 006004 2156 2158 21614
T24CON 007000 2442 o444 Q447N
13 002140 9708 1017

T3CONT 002146 963 9774

14 002422 10664 1113

T4CONT 002430 1059 10734

T44CON 012560 3667 3669 36724
X = 000000 4864

0
XPSW 015044 773 869 965 1061 1153 1222 1308 1397 1434 1569 1653 1721 1809
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$SAPTHD

SASTAT= wennen |J

SATY(
$A1Y1
SATY3
SATYS
$AUTOB
SEASE
$B8DADR
$B8DDAT
$CHARC
$CKSWR=
$CLR.T
$CMTAG
$CM3 =
$CPUOP
SCRLF
SOEVCT
SDOAGN
SENDAD

$L
SLPADR
$LPERR

000400

016542
016516
016524
016534
000534

22-JAN-82

22-JAN-82 08:50 PAGE 101

08:49

45610
6546+

L5457
710+

647h

690+
4761+
463
4676

L0

073
155
13

923«
4642

45214

4559
4676

4517
4466+
4466

1019+
4668+

4579

s
o

~N~N
[A ST
» »

2271

1115+
L6734

4624

4476
4478

1 8
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359 2460 23
376 3450 35

4676

4557 4603 4767 479N

45642+ 4579
4579

4579

4478
4569

2707
3684

2782
3766

2859
3839

SEQ 0099

2931
3912
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SMADRT 000620 6334

SMADR? 000624 6374

SMADRS 000630 6404

SMADRG 000634 643n

SMAIL 000566 553 557 606» 4470 4557 4603

SMAMST1 000616 6274

SMAMS? 000622 6354

SMAMSS 000626 6384

SMAMSSL 000632 6414

SMBADR 000402 5534

SMFLG 016760 4759 4765 4800+ 4804w

SMSGAD 00060 6134 4775+ 4778

SMSGLG 000604 6144 4780~

sMSGTY 000566 6074 691x 4773 4781+ 4793 4797+

sMTYP1 000617 6284

sMTYP2 000623 6364

SMTYP3 000627 6394

SMTYP4 000633 642N

SNULL 000554 5934 2173 2459 3683 4421 4630

4208 4
11424 12118 1297%¢ 1
18874 19754 20624 1494 22604 234BF 24354 2
32924 33664 34404 3

6

64 14734 15584 16428 17104 17984
8 26218 2697k 27724  2BA9R 29214
G 35874 36604 37564 38294 39024

$OCNT 016512 4709« 4738«  4751A

SOMODE 016514 4704 4708+ 4713 4716% 4727« L7534

SOVER 015332 £1443 4461 4467 44754

$PASS 000574 6104 733« 2159 2445 3670 6195 4286% 4287+ 4324

SPASTM 5554

SPOWER 015536 4515 45240

SPWURAD 015512 L5174

SPURDN 015346 707 44834 4572

SPURMG 015506 45154

SPURUP 015420 4493 44908

$QUES 000562 5984 4579 4676

$SRDCHR= tevune | 4850

SRDDEC= tenenn | 4850

SRDLIN= teneex | 4850

SRDOCT= atnann | 4850

SRTNAD 014654 43234

$SRTRN 014650 714 716+ 722 4299 4318#

$SR2A = masnar |J 4850

$SAVRE= texane |J 4850

$SAVR6 015534 4492« 4500 4501x 4502« 45234

$SCOPE 015150 701 IYANY

$SETUP= 000037 4928 4285 4442 4519 45642 4567 4574

$STUP = 177777 Lo2#

$SVLAD 015276 4451 4463 L4694

$SVPC = 000400 5304 535

$SWR = 171400 ‘814 597 598 762 858 954 1050 1146 1215 1M 1390 1477 1562
1646 1714 1802 1891 1979 §066 2153 2264 5352 459 2551 2625 2701
2776 2853 2925 2999 3075 149 3222 3296 370 YA 3518 3591 3664
3760 3833 3906 3979 4052 4125 4189 4279 4286 4297 4310 4324 4434
4435 4436 4437 64442 4454 4456 4457 4462 4463 4464 4469 4472 4475
4478 4518 4533 45364 4535 4536 4537 4545 4549 4564 4567 4579

$SWREG 000610 6184 736

$SWRMK= 000300 4828 4437 4438 4458 4459
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-MAIN.

M 00
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STESTN 000572
000544

000546
= 000054
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SETPRI w L77H

SETTRA  4B36#  4B4S 4846 4847

SETUP 14 3364 “774

SKIP 1 G770

SKPINT 346 2153 2439 3664

SLASH » L77H

SPACE Lrre

STARS » 3264 L774 528 538 540 547 562 601 604 758 740 854 856 950
952 1046 1048 1142 1144 1211 1213 1297 1299 1386 1388 1473 1475 1558 1560
1642 1644 1710 1712 1798 1800 1887 1889 1975 1977 2062 2064 2149 2151 2260
2262 2348 2350 2435 2437 2547 2549 2621 2623 2697 2699 2772 2774 2849 2851
2921 2923 2995 2997 307 3073 3145 3147 3218 3220 3292 3294 3366 3368 3440
3442 3514 3516 3587 3589 3660 3662 3756 3758 3829 3831 3902 3904 3975 3977

SWRSU 404$' 42;9‘ 6121 4123 4185 4187 L2r? 4430 4481 4497 4530 4582 4679 4757 4815

TCVTAN 3564 3782 3856 3929 4002 4075 4148 4229

TRMTRP  4B364

TSTANS 3534 1269 1356 1445 1532 1617 1769 1857 1946 2034 2121 2225 2319 2406 2512

TSTCC 352¢ 1160 1228 1315 1404 1491 1576 1660 1728 1816 1905 1993 2080 2182 2278
2365 2469 2565 2639 2714 2790 2867 2939 3013 3089 3162 3236 3310 3384 3457
3531 3604 3693 3773 3847 3920 3993 4066 4139 4218

TSTGR 369¢ 1169 1237 1324 1413 1500 1585 1669 1737 1825 1914 2002 2089 2193 2287
2574 2480 2574 2648 2723 2799 2876 2948 3022 3098 3171 3245 3319 3393 3466
3540 3613 3704

TSTREG 3634 785 881 977 1073

TTY 3464 2169 2455 3679 4204

TYPBIN 1L G774

TYPDEC 1 G774

TYPNAM 1L L774

TYPNUM 14 G774

TYPOCS " L7748

TYPOCT w L77h 4552

TYPTXT » “77n

$SCMRE 5604

SSCMTM 5604

$SESCA 1 “77H

SSNEWT 14 L77n 758 854 950 1046 1142 121 1297 1386 1473 1558 1642 1710 1798
1887 1975 2062 2149 2260 2348 2435 2547 2621 2697 2772 2849 2921 2995 3071
3145 3218 3292 3366 3440 3514 3587 3660 3756 3829 3902 3975 4048 6121 4185

$SSET 48364 4845 4846 4847

$$SKIP 14 4774

.EQUAT 14 3364 367
-HEADE 14

KT11 14

.SETUP 10 3364 492
. SWRH]I 14

-SACT1 14 3364 526
.SAPTB 14 6024

SAPTH 14 3364 536
+SAPTY 14 3364 4755
-SASTA 14

-SCATC 1 3364 495
.SCMTA 1 3364 560
.$0820 10

.$0820 1

.$01V 1
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.SEOP 3364 4275
.SERRO 3364 4528
.SERRT
JSMULT
. SPOME
- SRAND
.SRDDE
. SRDOC
. SREAD
.SR2AZ
.SSAVE
.$582D
.$5820
.$SCOP
.$SI2E
.$SUPR
.$TRAP
$TYP8
.STYPD
.STYPE

336 4479

3364 4428
3364 4813

3364 45
3364 46

—b b ed b d e b o e md b b e e o e i b b e b e ek
t$T3$T3$T2:T:T TSR 2222 2 2 2 2 X 3

. ABS. 017104 000

ERRORS DETECTED: 0

CVKAJB.BIN,CVKAJB.LST/CRF/SOL/NL : TOC=SYSMAC. SML , CVKAJB.P11
RUN-TIME: 19 21 1 SECONDS

RUN-TIME RATIO: 115/42=2.7

CORE USED: 39K (78 PAGES)




